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NIESMUS

...Aeeps you ahead

TEST FORM NUMBER Maximum Marks : 200
INSTRUCTIONS TO CANDIDATE Total Questions : 200

Time Allowed : 120Min.

Read the following instructions carefully before you begin to attempt the questions.

(1) This booklet contains 200 questions in all comprising the following five parts.

e Part-(I) : Reasoning (40 Questions)
e  Part-(Il) : Quantitative Aptitude (40 Questions)
e  Part-(lll) : General Awareness (40 Questions)
e Part-(IV) : Computer knowledge (40 Questions)
e Part-(V) : English knowledge (or) Hindi knowledge (40 Questions)

(2)  All the questions are compulsory.

(3) Before you start to attempt the questions you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each question carries negative marking also as 1/4 mark will be deducted for each wrong answer.

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.

(13) No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Reasoning

Directions (1-5): Study the following information and answer

Fb:-

the questions.

Twelve friends are sitting in a cafe in two parallel rows
of chairs containing six people each, in such a way that
there is equal distance between adjacent persons.
Inrow 1: A, B, C, D, E and F are seated and all of them
are facing south.

Inrow2: P, Q, R, S, T and U are seated and all of them
are facing north. Each of them likes different colours
such as, White, Black, Blue, Red, Green, Yellow,
Orange, Maroon, Pink, Saffron, Brown and Violet but
not necessarily in the same order. Each of them like
different Cricketers: Dhoni, Kohli, Rohit, Dhawan,
Bhuwaneshwar, Hardik Pandya, Ben Stokes, Hales,
David Warner, Ross Taylor, Joe Root and Faf du
Plessis. In the given seating arrangement, each
member seated in a row faces another member of the
other row. All the information is not necessary to be in
the same order.

There are two persons sitting on the right side of S, who
sit second to the right of the person, whose favorite
cricketer is Ross Taylor. E, whose favorite cricketer is
Hardik Pandya sits third to the left of the person who
likes Black colour and both of them does not sitting at
extreme ends of the row. S, who likes Green, faces the
immediate neighbor of C, who likes Blue. D, who likes
Red, does not sit at the extreme end of the row.The
person who likes David Warner does not sit in row 2
and is an immediate neighbor of the person who likes
Maroon colour. A, whose favorite cricketer is Dhawan,
is not an immediate neighbor of E. T does not like Kohli.
The person, whose favorite cricketer is Dhoni, faces the
person, who sits second to the right of the person,
whose favorite cricketer is Bhuwaneshwar. The person,
whose favorite cricketer is Hales does not sit in row 2
and faces the person who likes Joe Root. Q faces the
person who likes Ben Stokes. R sits between the
persons who like Green and Violet colour. F faces the
person who likes Brown colour and Faf du Plessis
cricketer. The person, who likes colour Saffron, sits
second to the left of the person who likes Yellow colour
and second to the right of the person who likes Orange
T and R face the persons whose favorite cricketer is
Hardik Pandya and Bhuwaneshwar respectively. P
does not like Brown and faces the person, who likes
White.

Which of the following combination is true in respect of
the given information?

(1) Q — Violet — Bhuwaneshwar

(2) F — Pink - Hardik Pandya

(3) D — Red — Rohit

(4) S — Green - Faf du Plessis

(5) None of these

What is the favorite colour of the person, who faces the
person, whose favorite cricketer is Rohit?

(1) White (2) Maroon

(3) Pink (4) Brown

(5) None of these

Which of the following information is true in respect of
the given information?

(1) P likes Saffron

(2) S likes Yellow and sits on the immediate left of R

(3) B likes Red

(4) D is the immediate neighbor of C and E

(5) None of these
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Directions (9-13): Answer

Who sits third to the left of U?

1R (2Q

) s 4)cC

(B)F

Who among the following likes Orange?
1R T

)P 4) A

(5) None of these

Six fruits, Cherries, Grapes, Kiwi, Guava, Apple and
Banana are placed on the different shelves of a table.
There is no vacant shelf. Two fruits are placed between
Apple and grapes, which is placed just below of Guava.
One fruit is placed between Grapes and Cherries. Kiwi
is placed just above Banana, which is not placed below
Apple. Which among the following fruits is placed on
the topmost shelf?
(1) Kiwi

(3) Cherries

(5) None of these

(2) Guava
(4) Cannot be determined

Direction (7-8): The question consists of two statements

numbered | and Il given below it. You have to decide
whether the data provided in the statements are
sufficient to answer the question.

Seven persons, A, B, C, D, E and F like six different
colors among red, pink, yellow, black, brown and
orange. Who among the following likes red color?

I. C neither likes yellow nor pink. D likes Black.

II. E neither likes red nor brown. B likes yellow.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement I
alone are not sufficient to answer the question

(2) The data in statement Il alone are sufficient to
answer the question, while the data in statement | alone
are not sufficient to answer the question

(3) The data either in statement | alone or in statement
Il alone are sufficient to answer the question

(4) The data given in both statements | and Il together
are not sufficient to answer the question

(5) The data in both statements | and Il together are
necessary to answer the question.

Seven persons, P, Q, R, S, T, U and V are sitting at
some distance with each other. How far is S sitting from
u?

I. Q is sitting 6m west to P. R is sitting in the middle of
Q and T, who is 4m to the west of U. V is 7m to the
west of R. S is 5m to the south of V. Q is 10m to the
north of T.

Il. Q is sitting 10m to the north east of V, who is sitting
7m west to R, who is sitting North West of U.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient to answer the question

(2) The data in statement Il alone are sufficient to
answer the question, while the data in statement | alone
are not sufficient to answer the question

(3) The data either in statement | alone or in statement
Il alone are sufficient to answer the question

(4) The data given in both statements | and Il together
are not sufficient to answer the question

(5) The data in both statements | and Il together are
necessary to answer the question.

the questions based on the
information given below:

In a certain language,
“check the results again tomorrow” is coded as “ab hb
gb vb jb”
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“results passes today” is coded as “kb jb tb”
“the time passes out” is coded as “sb kb ob vb”
“check here again” is coded as “ab yb hb”

9. Which of the following words is coded as “hb” in the
given language?
(1) results (2) again
(3) check (4) the

(5) Cannot be determined

10.  Which of the following could be coded as ‘ob gb’?
(1) time tomorrow (2) out tomorrow
(3) Either (1) or (2) (4) passes out
(5) here out

11.  What is the coded of the phrase ‘again’?
(1) vb (2) hb
(3) Either (2) or (1) (4) ab
(5) Cannot be determined

12. What is the code of the word ‘today’?

(1) hb (2) None of these
(3) ob (4)jb
(5) tb
13.  Which of the following is the code for “the” in the given
language?
(1) sb (2) ob
(3) vb (4)jb

(5) either (2) or (3)

14. When letters of the word MANAGEMENT are arranged
in reverse alphabetical order from left to right then how
many vowels are there between T and the last letter
from the left end in the word formed?

)4 23
3)5 42
(5) None of the above

Directions (15-17): Answer the questions based on  the
information given below.

P % Q — P is north of Q.

P # Q — P is south of Q.

P@ Q-Piseastof Q.

P $ Q- P iswestof Q.

P * QR — P is midpoint of vertical straight line QR.

P € QR — P is midpoint of horizontal straight line QR.

A certain number of people are sitting in a park at some
distance.

Ais4m$ B. Cis 2m# B. D is 3m@ C. D*EF. E is 4% F.
GE€IF.His3m# G. Gis4m@ F.

15. What is the shortest distance between H and F?
(1) 15m (2) 5m
(3) 10m (4) 12m
(5) None of these

16.  What is the direction of C with respect to I?
(1) North-west (2) North
(3) South (4) South-West
(5) None of the above

17. What is the position of D with respect to B?
(1) South (2) South-East
(3) North-West (4) East
(5) None of these

Direction (18-21): Study the following information carefully
and answer the questions given beside:

Fb:-

18.

19.

20.

21.

22.

23.

24.
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There is AB axis in such a way that A is in north and B
is in south direction. There is CD axis in such a way
that C is in west direction and D is in east direction. AB
axis and CD axis intersect at a point X in such a way
that AX is 16 m, XB is 23 m, XC is 27 m and XD is 21
m.

Shruti starts from point D and walks 26 m in south
direction and then it takes a right turn and walks 36 m.
Umang starts from point B and walks 3 m in east
direction and then takes a left turn walks 25 m. Vijay
starts from point C and walks 18 m in north direction
and then it takes a right turn and travel 42 m.

What is the direction of final position of Vijay with
respect to initial position of Shruti?

(1) Northwest (2) North

(3) Southeast (4) West

(5) Northeast

What is the shortest distance between the final
positions of Umang and Vijay?

(1)18m (2) 20m
g; 5:55 m (4) 16N3 m
m

What is the direction of initial position of Vijay with
respect to final position of Umang?

(1) East (2) Southeast

(3) West (4) Northeast

(5) Southwest

Shruti from her final point turns 135° anti clock-wise
direction and then again 45° anti clock-wise direction
and again 225° clock wise direction. Then finally she
faces which direction?

(1) South-West (2) North-East

(3) North-West (4) South-East

(5) None of these

Directions (22-26): Answer the questions based on the

information given below.

Nine persons, P through X live on different floors of a
nine storey building, where the bottommost floor is 1
and the floor above it is 2 and so on. Each of them likes
different colors, Red, Black, Grey, Green, Brown,
Yellow, Blue, Pink and Orange.

R lives just above U, who lives on an even numbered
floor. Two persons live between R and T, who likes
Red. One person lives between the persons, who like
Red and Yellow. Q lives immediately above the person,
who likes Yellow. One person lives between Q and P,
who likes Brown. X likes Black and lives below R. Two
persons live between X and the person, who likes Grey.
Neither R nor U likes Grey. W lives just above V. At
least 3 persons live between S and X. Person who likes
Blue lives just above of the person, who likes Green.

likes Pink.
DHQ @w
(3)U (4) Cannot be determined
(5) None of these

How many persons live below S?
(1) 6 27
3)4 4)5
(5) None of these

Who among the following likes Green?
1R s
)P @u

(5) None of these
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25.

26.

Who lives on the topmost floor?
P 2w
)R 4)Q
(5) None of these

How many persons live below the person, who likes

Orange?
(14 (22
(33 @1

(5) Cannot be determined

Directions (27-28): Answer the questions based on the

27.

28.

information given below.

A % B means A is the wife of B;

A @ B means A is the son of B;

A $ B means A is the brother of B;
A & B means A is the daughter of B;
A * B means A is the sister of B.

If U is the granddaughter of R then which of the
following is false?
(1) URT%S@R@Q%P
(3) URC@R%S@Q%P
(5) None of these.

(2) R&T%S@Q%P@U
(4) Q&T$U&S&CYHR@D

If G@F*E*D@B@C%A is true then how is E related to
Cc?

(1) Sister

(3) Granddaughter
(5) None of these

(2) Niece
(4) Daughter

Directions (29-33): Answer the questions based on the

20.

30.

31.

32.

Fb:-

information given below.

Eight members, P through W of a family are sitting at
the corners and in the middle of the sides of a square.
Number of persons facing away from the centre are
more than those who facing the centre. There is no
single parent in the family. Number of males is more
than number of females.

R’s sister's mother in law’s father’s only brother is P. R
is sitting 3" to the right of Q and both of them are facing
the same direction. U, who is sitting opposite to the
mother of Q, is sitting 2" to the right of R. Q doesn't
belong to the 2" generation. V is sitting 3 to the right
of U. One person is sitting between V and W. U is the
only daughter in law of S. P is not sitting adjacent to Q.
T is not sitting adjacent to V. Q’s grandfather is sitting
adjacent to P and facing away from the centre. Gender
of W and R is different. Both W and S are facing the
opposite direction to that of P’s brother. R is not sitting
in the middle of the edge.

Find the odd one out?

DR (Vv

3 4P

®)Q

How is T related to V?

(1) Mother (2) Father-in-law
(3) Sister (4) Father

(5) None of these

Who is sitting adjacent to V?
@ s

(3) Either (1) or (2)

(5) Cannot be determined

@) R
(4) Both (1) and (2)

How many persons are sitting between S and U, when
counted from the left of S?

(1)3 (2) 4
(31 (4)5
(®)2

33.

34.

35.

36.

37.

38.
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What is the position of P with respect to R?
(1) 2" to the left (2) 3 to the right
(3) 4™ to the left (4) 3" to the left
(5) Cannot be determined

The question consists of two statements numbered |
and 1l given below it. You have to decide whether the
data provided in the statements are sufficient to answer
the question.

Six persons A through F are living on different floors of
a six storey building, where the bottommost floor is 1
and the floor above is 2 and so on. Who among the
following person is living on the bottommost floor?

I. Two persons are living between B and F, who is living
immediately above A.

Il. D is living 2 floors above E, who lives immediately
above C, who doesn't live on the bottommost floor.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement II
alone are not sufficient to answer the question

(2) The data in statement Il alone are sufficient to
answer the question, while the data in statement | alone
are not sufficient to answer the question

(3) The data either in statement | alone or in statement
Il alone are sufficient to answer the question

(4) The data given in both statements | and Il together
are not sufficient to answer the question

(5) The data in both statements | and Il together are
necessary to answer the question.

Directions (35-39): Answer the questions based on the

information given below.

Input: Santa Stimuli- So Astrological Sagittarian Sense
Step I: So Santa Stimuli Astrological Sagittarian Sense
Step Il: So Sagittarian Santa Stimuli Astrological Sense

Step lll: 'So Sagittarian Astrological Santa Stimuli
Sense
Step IV: So Sagittarian Astrological Stimuli Santa
Sense

Step V: So Sagittarian Astrological Stimuli Sense Santa
Step VI: 04 05 11 10 14 18

And step V is the last step of the above input. As per
the rules followed in the above steps, answer the
guestions for the given input.

Input: Basic Batch Citation Recipient Envelope Morning

How many numbers are there between the lowest and
highest number in the last step?

(1) Two (2) One

(3) Three (4) Four

(5) None of these

What is the fourth word to the left of second element
from the right end in the third step?

(1) Morning (2) Batch

(3) Recipient (4) Citation

(5) None of these

What is the sum of the first and last number from the
left end in the last step?
(1) 03

(3) 02

(5) None of these

(2) 01
(4) 12

What is the position of the word which comes first in the
English Alphabetical order in step IV?

(1) Third from left (2) Second from left

(3) Second from right (4) Third from right

(5) None of these
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39.

40.

Directions: (41-45):

41.

42.

Fb:-

Which of the following is to the immediate left of ‘Basic’
in the penultimate step?
(1) Morning

(3) Citation

(5) None of these

(2) Recipient
(4) Envelope

The question consists of two statements numbered |
and Il given below it. You have to decide whether the
data provided in the statements are sufficient to answer
the question.

Six persons, A through F are have different number of
boxes, who has the largest number of boxes?

I. E has more boxes than F, who has more boxes than
C.

Il. F has more boxes than only C. E has more boxes
than A but less than B, who doesn’t have the largest
number of boxes.

(1) The data in statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient to answer the question

(2) The data in statement Il alone are sufficient to
answer the question, while the data in statement | alone
are not sufficient to answer the question

(3) The data either in statement | alone or in statement
Il alone are sufficient to answer the question

(4) The data given in both statements | and Il together
are not sufficient to answer the question

(5) The data in both statements | and Il together are
necessary to answer the question.

Quantitative Aptitude

Answer the question based on the
information given below.

Different SIM cards were sold by six different service
providers on Sunday. The pie chart given below shows
the percentage distribution of the number of SIM cards
sold by these six service providers on  Sunday.
Numbers of SIM cards sold by BSNL and Jio on
Sunday are in the ratio of 3:4, respectively. Number of
SIM cards sold by Airtel on Sunday is 150 less than
twice the number of SIM cards sold by DoCoMo on
Sunday.

Number of SIM cards sold

m DoCoMo

3y+1% Vodafone

What is the ratio of the number of SIM cards sold by
Airtel on Sunday to the number of SIM cards sold by
Vodafone on Sunday?
1) 47

3) 3.5

(5) None of these

() 2:3
(4) 5:7

What is the average number of SIM cards sold by
BSNL, Idea and DoCoMo on Sunday?

(1) 1680 (2) 1800

(3) 1720 (4) 1920

(5) None of these

43. In the question, two Quantity | and Il are given. You
have to solve both the Quantity to establish the correct
relation between Quantity | and Quantity Il and choose
the correct option.

Quantity I: Number of SIM cards sold by BSNL on
Sunday is 10% less than the number of SIM cards sold
by it on Saturday. Find the number of SIM cards sold by
BSNL on Saturday.

Quantity Il: Number of SIM cards sold by Jio on
Monday is 17% less than the number of SIM cards sold
by it on Sunday. Find the number of SIM cards sold by
Jio on Monday.

(1) Quantity-l < Quantity-Il  (2) Quantity-l > Quantity-I
(3) Quantity-l < Quantity-II

(4) Quantity-1 = Quantity-Il or No relation

(5) Quantity-1 = Quantity-II

44, On Sunday, out of the number of SIM cards sold by
Idea, 48% are postpaid SIM cards and rest are prepaid
SIM cards, while the number of prepaid and postpaid
SIM cards sold by DoCoMo are in the ratio of 3:2,
respectively. Find the difference between the numbers
of prepaid SIM cards sold by Idea and that by DoCoMo
on Sunday.

(1) 60 (2) 80
(3)90 (4) 110
(5) None of these

45.  Number of SIM cards sold by BSNL and Jio together on
Sunday is what percent less/more than the number of
SIM cards sold by Airtel and Idea together on Sunday?
(1) 56% (2) 62%

(3) 72% (4) 68%
(5) None of these

Directions (46-50): Answer the questions based on the

information given below.
The table given below shows the statistics of the
number of criminal cases filed in Supreme Court. There
are only two types of criminal cases i.e. minor and
major criminal cases.
Note: Number of criminal cases solved in January
= 4000
Month Percentage increase in | Percentage of criminal | Number of
the number of criminal | cases solved out of the | minor criminal
cases solved with | total criminal cases filed | cases filed
respect to previous | in the respective month
month
February 25% 6.25% 45000
March 25% 10% 37500
April 50% 25% 24000
May 100% 20% 63500
June 20% 15% 94000

46. If the ratio of minor to major criminal cases solved in
March is 18:7. What is the number of minor cases
solved in March?

(1) 6300 (2) 5400
(3) 5100 (4) 4500
(5) None of these

47.  What is the percentage increase in the number of
criminal cases filed in February to June?
(1) 60% (2) 70%

(3) 75% (4) 80%
(5) 87.5%

48. If 7.5% of the minor criminal cases are solved in
February, then what is the number of unsolved minor
criminal cases in February?

(1) 40725 (2) 42500
(3) 41625 (4) 44200
(5) None of these
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49.

50.

In which month, major criminal cases filed in Supreme
Court is the second highest?

(1) February (2) March

(3) April (4) May

(5) June

Number of major criminal cases filed in April is %
of the number of major criminal cases filed in March.

(1) 48% (2) 52%

(3) 54% (4) 56%

(5) 60%

Directions (51-52): In each of these questions, one term in the

51.

52.

given number series is wrong. Find out the wrong term.

36, 64, 180, 650, 3010
(1) 180

(3) 3010

(5) None of these

(2) 650
(4) 64

54, 782, 1293, 1633, 1850, 1974

(1) 1850 (2) 782
(3) 1633 (4) 1293
(5) None of these

Direction (53-54): The following humbers form a series. Find

53.

54.

the odd one out.

830, 686, 586, 522, 496, 470

(1) 496 (2) 470
(3) 686 (4) 586
(5) 522

78, 93, 110, 130, 154, 189

1) 93 (2) 110
(3) 130 (4) 154
(5) 189

Direction (55-56): In each of the following questions, a

55.

56.

question is followed by three statements I, 1l and Ill.
Read all the statements to find the answer to given
question and then answer accordingly that which
statement/s can give the answer alone/together.

Find the age of Nilima after six years.

I. Average age of Suman, Nilima and Kisan before four
years was 24 years and average of the present ages of
Suman and Nilima is 25 years.

1. Ratio of the present age of Nilima and Kisan is 15:17
respectively.

Ill. Ratio of the present ages of Suman and Nilima is
3:2 respectively.

Q) AllL ITand 1 (2) Only I and either Il or 1lI
(3) Only 1l (4) Any two of the three

(5) Even |, Il and Ill together are not sufficient

Find the number of balls in the bag.

I. The bag contains 3 red, 4 green, some white and 3
yellow balls.

1. Probability of drawing one green ball from the bag is
1/3.

11l. Probability of drawing one white ball from the bag is
1/6.

@) AllLL Tand 1 (2) Any two of the three

(3) Only 11l (4) Only | and either Il or Ill
(5) Even |, Il and Ill together are not sufficient

Direction (57-61): In the question, two quantities | and Il are

Fb:-

given. You have to solve both the quantities to establish
the correct relation between Quantity-1 and Quantity-I|
and choose the correct option.

57.

58.

59.

60.

61.

62.

63.
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Quantity I: Find the value of ‘X', if 2x? + 11x + 15 = 0.
Quantity Il: Find the value of 'y, if 10y? + 33y + 20 = 0.
(1) Quantity-l > Quantity-II

(2) Quantity-l < Quantity-II

(3) Quantity-l < Quantity-II

(4) Quantity-l1 = Quantity-Il or No relation

(5) Quantity-1 = Quantity-II

Quantity I: Find the value of ‘X', if x2 —4x — 221 = 0.
Quantity II: Find the value of 'y, if y> — 34y + 289 = 0.
(1) Quantity-l > Quantity-II

(2) Quantity-1 < Quantity-I1

(3) Quantity-l < Quantity-II

(4) Quantity-l1 = Quantity-Il or No relation

(5) Quantity-1 = Quantity-II

Quantity I: Find the value of ‘X', if x2 + 15x + 54 = 0.
Quantity II: Find the value of ‘y’, if y2 + 22y + 117 = 0.
(1) Quantity-l > Quantity-II

(2) Quantity-1 < Quantity-I1

(3) Quantity-l < Quantity-II

(4) Quantity-1 = Quantity-1l or No relation

(5) Quantity-I = Quantity-II

Quantity I Ram deposited Rs. 9600 in a scheme,
which provides simple interest, but the interest rate
increases by 1% each year. If the interest rate while
depositing the amount was 7%, then find the total
amount withdrawn by him after 6 years.

Quantity II: Rs. 15000

(1) Quantity-1 > Quantity-II

(2) Quantity-l < Quantity-II

(3) Quantity-I < Quantity-II

(4) Quantity-1 = Quantity-Il or No relation

(5) Quantity-1 = Quantity-II

Quantity I: 45%

Quantity 1l: A shopkeeper had gained 32% profit when
he gave two consecutive discounts of 20% and 25% on
marked price. He would have gained Rs. 451 less if he
had given a single discount. Find the single discount
percentage given if the selling price of the article sold
with a single discount is 1100% of the difference
between the two selling prices.

(1) Quantity-1 > Quantity-I1

(2) Quantity-1 < Quantity-I1

(3) Quantity-I < Quantity-II

(4) Quantity-l1 = Quantity-Il or No relation

(5) Quantity-1 = Quantity-II

A, B and C can do a work alone in 30 days, 36 days
and 48 days respectively. All of them started working
together. After days, A and B both left the work,
and remaining work is done by C. If they were paid a
total of Rs. 3600 for the completion of work such that A
received amount which is less than or equal to Rs. 960.
The values given in which of the following options will
fill the blank to make the above statement true:

.7 1.9 1. 8
(1) Only | (2) Only 1l

(3) Only 11 (4) Only I and Il
(5) All'l, 'and I

There are two groups i.e. A and B. Group A has ‘X’ men
and 5 women while group B has 7 men and ‘y’ women.
The number of ways of selecting 2 men and a woman
from group A and group B is 30 and 105 respectively.
What is the value of xy?

(1) 20 (2) 12
(3)24 (4) 25
(5) None of these

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB OA MAINS_ 2024 TEST ID - ROM - 87429623

64.

65.

66.

67.

68.

69.

70.

Fb:-

Age of Rashi after six years will be twice her age before
twelve years. Rashi is six years older than Saurav.
Ratio of the present ages of Aman and Seema is 6:5
respectively. After four years, ratio of their ages will be
7:6 respectively. Sita is five years older than Aman.
Find the difference between the present ages of Saurav
and Sita.

(1) 7 years

(3) 5 years

(5) None of these

(2) 3 years
(4) 8 years

How many four letter words having at least one vowel
can be formed by using the letters of the word
“JAILORS™? (No letter appears twice in the word

formed)
(1) 34 (2) 136
(3) 408 (4) 816

(5) None of these

The monthly income of Babita and Kavita are in the
ratio 4:5, respectively. The savings of Kavita is Rs.
17480, Babita invested 40% of his monthly income in
bank which offers compound interest of 20%. If Babita
received interest of Rs. 5632 from the bank after 2
years, find the expenditure of Kavita.

(1) Rs. 22520 (2) Rs. 21480

(3) Rs. 24420 (4) Rs. 26820

(5) None of these

Three friends, Sunita, Noopur and Simran entered into
a business investing Rs. 12000, Rs. 15000 and Rs.
14000, respectively. After 3 months from start, Sunita
added Rs. 3000 and after 4 months from start Noopur
added Rs. 5000 more while Simran withdrew Rs. 4000
after 5 months from start. If total profit received by
Sunita, Noopur and Simran together after 9 months is
Rs 9900, then find profit of Noopur.

(1) Rs. 3800 (2) Rs. 4200
Esg Rs. 3600 (4) Rs. 4400
5) Rs. 4000

The ratio of the number of boys to girls in a college in
2015 was 4:3. If the number of boys increased by 25%
and while the number of girls reduces to half in the next
year, then the number of students of college in 2016
reduces by 400 with respect to previous year. Find the
number of boys in the college in 2015.

(1) 3200 (2) 2800

(3) 3600 (4) 1600

(5) None of these

The average age of 42 students of a class X is 25
years, while the average age of 35 students of class Y
is 20 years. If the sum of the ages of class teacher of
both classes is 67 years, then find the average age of
both the class including the class teacher.

(1) 22 years (2) 22.5 years

(3) 23 years (4) 23.5 years

(5) 24 years

Train A started from station P towards station Q. At the
same time, train B started from station R towards
station Q. All the three stations are in a straight line
such that station Q is between station P and station R.
Station Q is equidistant from station P and station R.
Distance between station P and station Q is 440 Km. If
the speed of train A and train B is 28 Km/h and 32
Km/h, find the distance between both the trains after
five hours.

(1) 750 Km

(3) 420 Km

(5) None of these

(2) 600 Km
(4) 580 Km
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Tina bought two articles at same price. She sold one at
a profit of 20% and other at a loss of 10%. From that
amount she bought one refrigerator and marked its
price 25% more than cost price and allowed a discount
of 10% on the Marked price. If the cost price of each
article was Rs.4800, find the overall percent profit
earned by Tina
(1) 14.24%

(3) 16.24%

(5) None of these

(2) 18.125%
(4) 15.125%

The average monthly income of A and B is Rs. 32000.
A spends 50% of his monthly income while B spends
80% of his monthly income. If the total savings of A and
B together is Rs. 21200, then find the monthly income
of A.

(1) Rs. 26000

(3) Rs. 30000

(5) None of these

(2) Rs. 28000
(4) Rs. 32000

The ratio of the present ages of A to B is 5:7, while the
ratio of the present ages of A to= C is 7:10. If the
difference between the age of B and C is 1 year, then
find the age of A.
(1) 35 years

(3) 30 years

(5) None of these

(2) 28 years
(4) 42 years

Rahul has two types of watermelon. One is the fresh
watermelon contains 80% water and another is dry
watermelon contains 25% water. If he adds some
quantity of water to the 20 kg dry watermelon and sells
80% of it at cost price and rest got rotten, then find the
total profit percentage such that after adding water the
ratio of water to pulp in dry watermelon become same
as that in fresh watermelon.

(1) 150% (2) 175%
ES; 200% (4) 125%
5) 250%

Directions (75-79): Answer the questions based on the

information given below.

There are three types of cigarette i.e. light, mild, and
advance, sold by five shopkeepers. Selling price of
each light cigarette, mild cigarette and advance
cigarette is Rs. 13, Rs. 16, and Rs. 18, respectively.
The table below represents the number of light
cigarettes, mild cigarettes, and advance cigarettes sold
by each of the five shopkeepers.

Total number of cigarettes sold by a shopkeeper

= Number of (light + mild + advance) cigarettes sold by
a shopkeeper.

Number of light Number of mild Number of advance
cigarettes sold cigarettes sold cigarettes sold
Vivek 138 257 86
Kundan 149 298 64
Deepak 121 261 93
Mahesh 208 345 177
Vicky 159 244 128

Find the difference between the revenue generated by

selling all cigarettes by Vivek, and the revenue
generated by selling all cigarettes by Deepak.

(1) Rs. 31 (2) Rs. 58

(3) Rs. 24 (4) Rs. 47

(5) Rs. 63

Find the ratio of revenue generated by selling mild
cigarette to revenue generated by selling advance
cigarette by Mahesh.

(1) 701:201 (2) 120:83
E3§ 326533 (4) 804:431
5 531
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Total revenue generated by selling light cigarette by
Vicky is what approximate percentage of the total
revenue generated by selling mild cigarette by Kundan?
(1) 43.35% (2) 38.29%

(3) 48.21% (4) 57.12%

(5) 33.17%

Number of mild cigarette and advance cigarette sold by
another shopkeeper Bhuvan, respectively is 25% more
than the respective number of mild cigarette and
advance cigarette sold by Vicky. If number of light
cigarettes sold by Bhuvan is 142, then find the total
number of cigarettes sold by Bhuvan.

(1) 619 (2) 628
) 605 ot

Find the difference between the revenue generated by
selling light cigarettes, and the revenue generated by
selling advance cigarettes by all the given five
shopkeepers together.

(1) Rs. 746 (2) Rs. 506
Esg Rs. 211 (4) Rs. 456
5) Rs. 126

In each of the following questions, a question is
followed by three statements |, Il and Ill. Read all the
statements to find the answer to given question and
then answer accordingly that which statement/s can
give the answer alone/together.

Ajay, Sima and Rima entered into a partnership. Find
the share of Sima in the profit.

I. Ajay, sima and Rima invested in the ratio 5:3:7
respectively. After one year, Sima doubled her
investment amount.

1. After two years, Ajay doubled his investment.

Ill. At the end of three years, they earned a total profit
of Rs.2, 24000.

@) Alll, and 1Nl (2) Any two of the three

(3) Only 11l (4) Only | and either Il or Ill
(5) Even |, Il and Ill together are not sufficient

General Awareness

Which of the following is India’s oldest existing
insurance company?

(1) Life Insurance Corporation of India

(2) New India Assurance Company Ltd.

(3) United India Insurance Company Ltd.

(4) National Insurance Company Ltd.

(5) General Insurance Company Ltd.

‘Murlen National Park’ is located in which Indian state?

(1) Sikkim (2) Jammu & Kashmir

(3) Goa (4) Mizoram

(5) Tripura

Insurance Sector regulator IRDAI is a member
body.

(1) 10 (2)5

3) 12 4)8

(5)6

Government has set a target to connect 44 Crore
people through ‘Poshan Abhiyaan’. Poshan Abhiyaan is
a flagship programme of which ministry?

(1) Ministry of Agriculture and Farmers Welfare

(2) Ministry of Health and Family Welfare

(3) Ministry of Rural Development

(4) Ministry of Women and Child Development

(5) Ministry of Environment, Forest and Climate Change
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What is the brand and logo for marketing of the urban
Self-Help Group (SHG) products launched by Ministry
of Housing & Urban Affairs?
(1) SwaVihag

(3) SonChiraiya

(5) HirChidi

(2) Shankut
(4) Hemdwijz

A short-term instrument introduced by Reserve Bank of
India to meet the temporary mismatches in the cash
flow of the Government of India, is known as

(1) Promissory-notes

(2) Cash Management Bills (CMBSs)

(3) Treasury bills

(4) Prepaid Payment Instruments

(5) Commercial Paper

The International Court of Justice is headquartered at
which place?
(1) Geneva

(3) California
(5) New York

(2) Hague
(4) Vienna

India’s first Drone Forensic Lab and Research Centre
has come up in which state?
(1) Karnataka

(3) Maharashtra

(5) Goa

(2) Telangana
(4) Kerala

Bharti AXA Life Insurance has tied up with payment
bank to offer Bharti AXA Life POS (Point of Sale) Saral
Jeevan Bima Yojana recently?

(1) Airtel Payments Bank

(2) Indian Post Payments Bank

(3) Fino Payments Bank

(4) Jio Payments Bank

(5) Paytm Payments Bank

Which of the following has been named as the ‘World’s
Best Bank’ as per English-language monthly magazine
‘Euromoney’?

(1) Citibank

(3) HSBC Bank
(5) Deutsche Bank

(2) standard Chartered
(4) DBS Bank

A data privacy and governance service startup
‘BlueTalon’ is acquired by which of the following?

(1) Twitter (2) Apple

(3) Microsoft (4) Facebook

(5) Adobe

Which Indian film has been listed in BBC’s list of 100
best foreign language films of the 21st century?

(1) Abhimaan (2) Pathar Ke Phool

(3) Guide (4) Pather Panchali

(5) Sholay

Term “ARC” has been in news regarding NPA issue in
India. What “R” denotes in ARC?

(1) Resolution (2) Rate
(3) Ratio (4) Reconstruction
(5) Risk

‘Sentinelese Tribe’ is found at which place in India?
(1) Dadra & Nagar Haveli

(2) Gujarat (3) Kerala

(4) Andaman & Nicobar Island

(5) Daman & Diu

Statue of Unity and ‘Soho House’ has been featured in
second annual list of the “World’'s Greatest Places”
published by the Time magazine. ‘Soho House’ is
located in which state?

(1) Bihar (2) Maharashtra
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(3) Madhya Pradesh
(5) Uttar Pradesh

(4) Gujarat

World Blood Donor Day has been observed on which
day of June 20237

(1) 14 June (2) 12 June

(3) 15 June (4) 13 June

(5) 11 June

Summer Paralympics Games 2024 will be hosted by
which city?

(1) Beijing, China (2) Tokyo, Japan

(3) Delhi, India (4) Paris, France

(5) Seoul, South Korea

What is the name of India’s first cattle genomic chip for
the conservation of pure varieties of indigenous cattle
breeds?

(1) GoDhenu
(3) Hindumata
(5) GoBhadra

(2) IndiGau
(4) Surabhi

What is the minimum validity period of a Prepaid
Payment Instruments (PPI)?

(1) 1 month (2) 6 months
(3) 1 year (4) 5 year
(5) 10 year

Komalika Bari is associated with which sport?
(1) Badminton (2) Boxing

(3) Archery (4) Swimming
(5) Gymnastic

What does ‘E’ in acronym ‘NEFT’ stand for?
(1) Economic (2) Electronic
(3) Employee (4) Enterprise

(5) Equity

There are layers of capital structuring of
Regional Rural Banks

(1) One (2) Two

(3) Three (4) Four

(5) None of these

In SWOT, “O” stands for
(2) Official

(3) Overseas

(5) None of these

(2) Opportunities
(4) Organisation

Committee related to Multi Agency
Approach in Agricultural Finance
(1) D R Mehta Committee  (2) Bhave Committee
(3) CE Kamath Committee (4) Cook committee
(5) None of these

When an account has insufficient funds the cheque is
not payable and is returned by the bank with a reason
“Exceeds arrangement” or “funds insufficient” is called

(1) Clearing of cheque
(3) Transfer of cheque
(5) None of these

(2) Bouncing of a cheque
(4) Reply of cheque

Max Bupa has collaborated with which of the following
bank to distribute health insurance products?

(2) ICICI Bank (2) HDFC Bank

(3) sBI (4) YES Bank

(5) United Bank of India

Who has won the RSL Christopher Bland Prize 2023?
(1) Malcolm Barrett (2) Sakina Jaffrey

(3) Ignatius Sancho (4) Paterson Joseph

(5) Robert Carlyle

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

1109.

9 | Page

AlF stands for

(1) Alternative Investment Funds
(2) Additional Investment Funds
(3) Annual Investment Funds

(4) Available Investment Funds
(5) None of these

generally gives credit facilities to small
farmers, salaried employees, and small scale industries
(1) Central Banks (2) Commercial Banks
(3) Co Operative Banks (4) Developments Banks
(5) None of these

Every year, August 12 is observed as -
(1) National Sports Day

(2) Quit India Day

(3) International Youth Day

(4) World’s Indigenous Peoples

(5) International Literacy Day

Which state government has announced Rajiv Gandhi
Award for excellence in the IT sector?

(1) Karnataka (2) Rajasthan

(3) Maharashtra (4) Punjab

(5) Kerala

Andy Murray has recently won Surbiton Trophy by
beating whom?

(1) Lucas Pouille
(3) Jurij Rodionov
(5) Sebastian Ofner

(2) Filip Misolic
(4) Dennis Novak

Which bank has launched an Interactive voice response
(IVR)-based UPI solution named "UPI 123PAY"?

(1) Punjab National Bank  (2) Canara Bank

(3) State Bank of India (4) HDFC Bank

(5) Central Bank of India

The Education Ministry will host the final Education
Working Group (EdWG) Meeting under India's G20
presidency in which city in June 20237

(1) Nagpur (2) Pune

(3) Roorkee (4) Chennai

(5) Bangalore

Which country has granted a patent relating to a “food
container based on fractal geometry” to an artificial
intelligence (Al) system called DABUS?

(1) South Africa (2) Nigeria
(3) America (4) Russia
(5) Ethiopia

What is the rank of Reliance Industries Limited in
Forbes Global 2000 Top Companies list?

(1) 15 (2) 25
(3) 35 (4) 45
(5) 55

Who has named as the first Vice President of Iran?
(1) Mohammad Reza (2) Mohammad Mokhber
(3) Farhad Rahbar (4) Ebrahim Raisi

(5) Mehrdad Bazrpash

UNICEF India has collaborated with which technology
company to make a safer online world for children?

(1) Google (2) Twitter

(3) Tesla (4) Sony

(5) Facebook

Who has been appointed by the Reserve Bank of India
for the awareness campaign about banking frauds?

(1) Neeraj Chopra (2) Sushil Chandra

(3) Vinesh Phogat (4) PV Sindhu
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(5) Meera Bai Chanu

Which state has launched the ‘Rural Backyard Piggery
Scheme’ for the welfare of the farmers?

(1) Nagaland (2) Uttar Pradesh

(3) Maharashtra (4) Meghalaya

(5) Sikkim

Science Novel by John Bruner titled ‘Shockwave Rider’

first time coined the term ?
(1) Bug (2) Vice
(3) Lice (4) Worm
(5) Trojan

Microsoft Office is?

(1) Shareware

(3) Open-source software
(4) A vertical market application
(5) An application suite

(2) Public domain software

Who is the founder of ‘WWW'?

(1) Ajay V. Bhatt (2) Tim Berners-Lee
(3) Ericsson (4) DARPA

(5) None of these

is a sequence of instructions designed to
direct the computer to perform certain functions.
(1) Data (2) Program
(3) Software (4) Subroutines
(5) None of these

Which of the following is not an Operating system?

(1) Windows Vista (2) Ubuntu
(3) ARM (4) BeOS
(5) Unix

Which process should be used to recall a document
saved previously?
(1) Copy

(3) Retrieve

(5) Execute

(2) Save
(4) Enter

What does “Zipping" a file mean?
(1) Encrypting the message

(2) Compressing the message
(3) Transferring the message

(4) Decoding the message

(5) All of the above

defines rules regarding the values allowed
in columns and is the standard mechanism for
enforcing database integrity.
(1) Column

(3) Index

(5) None of these

(2) Constraint
(4) Trigger

A peer-to-peer LAN
architecture for?
(1) The Internet (2) Home network
(3) Network requiring a server with shared resources

(4) wide area network (5) None of these

is an appropriate network

ASCIl is a/an .

(1) Numbering system for representing numbers with
decimals.

(2) Character representation standard common in older
mainframe computers.

(3) Encoding standard used to represent letters and
characters.

(4) Symbolic programming language that directly
represents machine instructions.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

10 | Page

(5) None of these

What is the maximum allowed field size for Boolean
(Yes/No) fields?
@1

(3) 50

(5) None of these

)8
(4) 255

Which element is used to make computer chips?

(1) Copper (2) Steel
(3) Silicon (4) Iron
(5) Aluminum

What is the term used to denote the repetition of data in
DBMS?

(1) Repeating

(3) Reappear

(5) None of these

(2) Restrict
(4) Redundancy

_____is the most important/powerful computer in a
typical network.

(1) Network client
(3) Network station
(5) Network server

(2) Desktop
(4) Network switch

The Atrtificial satellite which revolves around the earth
and provide transmit information from earth is basically
called

(1) Geo satellites

(2) Geostationary satellites

(3) Low Earth Orbits

(4) Sun-Synchronous orbits

(5) None of these

ULSI microprocessor is used in which among the
following generation of computers?

(1) Second generation (2) Third generation

(3) Fourth generation (4) Fifth generation

(5) None of these

A monitor's is the distance between the holes
in the mask behind the screen. This helps determine
how sharp the dots appear.
(1) Refresh rate

(3) Resolution

(5) None of the above

(2) Dot pitch
(4) Colour depth

Which among following is not an input device?
(1) Mouse (2) Scanner

(3) Keyboard (4) Printer

(5) All are input devices

Which of following is not an Application Software?
(1) Photoshop (2) SAGE

(3) Dreamweaver (4) WinRAR

(5) None of these

Print server uses which is a buffer that holds
data before it is send to the printer.

(1) Queue (2) Spool

(3) Node (4) Matrix

(5) None of these

The portion of LAN management software
restricts access, records user activities and audit data
etc.

(1) Configuration Management

(2) Security Management

(3) Performance Management

(4) Action Management

(5) Data Management
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Which of the following are the sub protocols of E-Cash

system?
(1) Withdrawal (2) Payment
(3) Deposit (4) None of the above

(5) All of the above

What is the maximum number, that each of the four
parts of an IP Address can have?

(1) 345 (2) 255
127 s

Which of the following extension is used to save image
in the computer?

(1) .cmd (2) xIs

(3) .vlc (4) .jpeg

(5) None of these

‘Chrome’ is a software

(1) Operating System (2) Application
(3) System (4) Utility

(5) None of these

The RAM is located in which part of the computer

system?
(1) Mother Board (2) Expansion Board
(3) Monitor (4) UPS

(5) External Drive

Getting data from a cell located in a different worksheet
in MS Excel is known as?
(1) Accessing

(3) Updating

(5) Logic Gates

(2) Referencing
(4) Functioning

Which among the following key combination is used for
deleting the selected item permanently without moving
the item to the Recycle Bin?
(1) Shift + Delete

(3) Ctrl + Delete

(5) Alt + Ctrl + Delete

(2) Delete
(4) Alt + Delete

Which among the following is a large-sized, powerful
multi-user computer that can support concurrent
programs?

(1) Mainframe Computers
(3) Workstations

(5) Personal Computers

(2) Mini-Computers
(4) Computer Networks

In Computer terminology ‘CAD’ is stands for?
(1) Computer And Design

(2) Computer Algorithm in Design

(3) Compact Adding Device

(4) Computer Aided Design (5) None of these

System files are a set of critical computer file without
which a computer system may not operate correctly.
These files are created and maintained by?

(1) User of the operating system

(2) Administrator (3) Operating System

(4) Database Manager (5) Any of the above

In an ER model, is described in the database
by objects.

(1) Entity

(3) Relationship
(5) None of these

(2) Attribute
(4) Notation

Excel files are also called by the name of
(1) Workbook (2) Worksheet
(3) Spreadsheet (4) Spread book
(5) None of these
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How was multiplication process occurring in ALU?
(1) Repeated Addition (2) Repeated Squaring
(3) Repeated Subtraction  (4) Repeated Division
(5) Repeated Cubing

What is the name of the first invented digital computer?
(1) EDVAC (2) ENIAC

(3) Super Computer (4) Calculator

(5) None of these

Which of the following is the Universal gate?

(1) NOT (2) AND
(3) OR (4) NOR
(5) EXOR

To find a saved document in the computer's memory
and bring it up on the screen to view

(1) Reverse (2) Return

(3) Retrieve (4) Return

(5) None of these

BIOS stand for?

(1) Basic Input Output System

(2) Binary Input Output System

(3) Basic Input of System

(4) Binary Integrated Original System
(5) None of these

In Microsoft Word while writing a document, you can
use the feature to find an appropriate word or an
alternative word?
(1) Dictionary

(3) Encyclopedia
(5) None of these

(2) Translate
(4) Thesaurus

FOXPRO is a?
(1) Application Software (2) Anti Virus
(3) Programming Language (4) Both (1) and (4)

(5) DMBS
English

Direction (161-165): In the question given below, a sentence

is given, divided into parts. One of the parts may
contain an error. Identify the part that contains the error,
and mark it as the answer. Ignore errors of punctuation.
In case the sentence is correct as it is, mark option (5) ,
that is, ‘No error’.

Note — The words in bold are grammatically and
contextually correct.

Leading attachment researchers have argue that a
consistent lack of maternal sensitivity in infancy
and early childhood results in a belief that the world
is unsupportive.

(1) Leading attachment researchers

(2) have argue that a consistent lack of

(3) maternal sensitivity in infancy and

(4) results in a belief that the world is

(5) No error

This technology becomes commercially feasible when
electricity is produce at relatively low costs by
renewable sources such as solar and wind.

(1) This technology becomes commercially

(2) feasible when electricity

(3) is produce at relatively low costs

(4) by renewable sources such as

(5) No error

People also have diverse views onthe role
of multinational corporations in agriculture and GM-
related research, and concerns about the potentially
pressure these firms may put on farmers.
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164.

165.

(1) People also have diverse views on

(2) multinational corporations in agriculture and
(3) GM-related research, and concerns about

(4) the potentially pressure these firms may put on
(5) No error

The contrasting decisions in South Australia and
Tasmania offers an opportunity for Australians to
deepen their understanding of, and engagement with,
issues relating to genetic modification.

(1) The contrasting decisions in South Australia

(2) offers an opportunity for Australians to

(3) deepen their understanding of, and

(4) engagement with, issues relating to

(5) No error

Beyond facing the problem of having over-enrolled
and outdated classrooms, poorly paid faculty are
taking on additional paid work to make a reasonable
living for their families.

(1) the problem of having over-enrolled and

(2) poorly paid faculty are taking on

(3) additional paid work to make a

(4) reasonable living for their families.

(5) No error

Direction (166-168): Which of the following phrases (1), (2),

166.

167.

168.

and (3) given below each sentence should replace the
phrase printed in bold letters to make the sentence
grammatically correct? Choose the best option among
the five given alternatives that reflect the correct use of
phrase in the context of the grammatically correct
sentence. If the sentence is correct as it is, mark i.e.,
‘No Improvement’; as the answer.

Air  conditioning represents an increasing  big
proportion of electricity consumption in the building
sector, both residential and tertiary.

1. An increasingly large proportion

2. A growing part of
3. Isin large part
(1) No Improvement
(3) Only 1 and 3

(B) All1, 2and 3

(2) Only 1 and 2
(4) Only 2 and 3

Improvements in access to pre-university education
have provided a large talent pool, and widening internet
access have resulted in collaboration becoming
more realistic.

1. Has made collaboration

2. Has brought about collaboration

3. Has achieved collaboration

(1) No Improvement (2) Only 1

(3) Only 3 (4) Only 1 and 3

(5) Only 2 and 3

Several countries are using incentivesto coping
with the demographic and economic challenges of an
aging population.

1. to cope with 2. to deal with
3. to carry on
(1) No Improvement (2) Only 1

(3) Only 3
(5) Only 2 and 3

(4) Only 1 and 2

Directions (169-173): A set of seven statements is given out

Fb:-

of which the 1st and the 4th statements are fixed (A and
D), and the rest are jumbled in any random order.
Rearrange the remaining statements in the right order
and answer the questions.

A. Through most of history until today, even the
cleverest innovations have taken decades to make

169.

170.

171.

172.

173.
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an impact on our lives, and have continued to make
an impact for decades at a stretch.

B. Take the telephone, for example, in the early part of
the 20th century.

C. Air travel, which only took off after World War I,
reached an adoption rate of 80% in around 40 years.

D. With the advent of the assembly line in car
manufacturing, the use of automobiles became
more affordable and prevalent, and around 50 years
after its introduction, more than 80% of US
households owned a car.

E. Due to its obvious benefits, the use of telephones
gradually spread, and around 60 years after its
introduction, more than 80% of US households had a
telephone.

F. However, the lifespan of these innovations is also
declining.

G. On the other hand, some of the more recent
innovations: e-commerce, smartphones and ride-
sharing, to name a few, have not taken many years to
make a deep impact on our lives.

Which of the following statements will follow A after

rearrangement?

(1B (2cC

(A E (4)G

(®) F

Which of the following statements will follow C after
rearrangement?

1B (2cC

(A E 4G

(®)F

If A and D are the first and the fourth sentence
respectively after rearrangement, which is the sixth
sentence (after rearrangement)?

(1B (?¢C
(3 E (4)G
®)F

Which of the following statements will follow D after
rearrangement?

1) B @ c
(3) E 4)G
(5) F

If A and D are the first and the fourth sentence
respectively after rearrangement, which is the last
sentence (after rearrangement)?

1) B @) cC
Q) E (4)G
(B)F

Directions (174-180): Read the following passage carefully

and answer the questions.

They were too clunky to download. The topics were
sometimes a little obscure. And they didn’t really make
any money. Podcasts, the short-form audio files that
entered the mainstream with the original Apple iPod,
have been around for more than a decade. But while
Apple has dropped the classic version of its iconic
device, the podcast is resurgent.

An average of 1.5 million listeners a month download
99% Invisible, a programme produced on a shoestring
on the theme of design. Sports are also a popular topic,
while a new series from This American Life producer
Alex Blumberg — about starting a podcast business —
has become one of the 10 most-downloaded
programmes in the US. And podcasts are finally
profitable. “It's sort of a renaissance. Podcasts are in
vogue,” said Todd Cochrane, chief executive of
RawVoice, a podcast data research firm. Maybe it's the
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174.

Fb:-

intimacy of hearing soothing voices through
headphones — or maybe it's just how much time people
need to Kkill listening to something. Americans spend
more than three hours a day commuting, working out
and doing household chores that can be accompanied
by audio entertainment, according to Census data
studied by Matt Lieber, a former public radio producer
who co-founded a podcast company with Blumberg.
Smartphones and Bluetooth-enabled cars have made it
easy for listeners to load up their favourite programmes.
Instead of downloading them from iTunes on to a
computer and syncing with an iPod, listeners can grab
shows straight on to their smartphones. Last year Apple
said that subscriptions of podcasts through iTunes had
reached 1 billion. The analytics company RawVoice,
which tracks 20,000 shows, said the humber of unique
monthly podcast listeners has tripled to 75 million from
25 million five years ago. And the connection that
people can feel toward their favourite podcasts is
exactly the sort of relationship that many media
companies are trying to build with users. At a time when
people can easily skip TV ads, messages from
sponsors on podcasts have a way of sinking in,
especially when they’re read by the hosts of the show
themselves, analysts say. As a result, this second wave
of podcasts — unlike the first go-around — is promising
to make more money. “Five years ago, podcasting was
very much a hobbyist's activity and many people
weren't making them to make money,” said Tom
Webster, a vice-president of strategy at polling firm
Edison Research. “But audience sizes have grown
consistently and each listener is listening to more
shows as part of their weekly habit. That's brought
major producers to embrace podcasting.”

When Roman Mars began his quirky public radio show
on the topic of design, he never expected it to amount
to much. The show 99% Invisible was small in every
way. Each episode ran for just 4 minutes 30 seconds,
short enough to wedge between segments of big shows
such as NPR’s Morning Edition. It was esoteric, with
back stories on the way the periodic table and parking
meters were designed. Mars had a tiny budget of
$5,000 and wrote, narrated and produced the show
from the bedroom of his Oakland, California, home. The
show was well received when it started airing four years
ago on San Francisco’s KALW. But off the airwaves —
as a podcast — the show was a blockbuster. It is now
consistently in the 20 most-downloaded US podcasts
on iTunes.

Mars quit his public radio job to work full-time on 99%
Invisible, funded entirely by the show's fans and a
handful of sponsors. The show is still broadcast on a
few public radio stations, but that “distribution means
less and less over time”, Mars said in a recent phone
interview from Dublin, where he was putting on a live
show for European fans. He said: “They have a great
reach and I'm a huge fan of NPR, but right now, if I'm
able to reach my audience directly through podcasts,
the writing is on the wall.”

How does the predicament of working Americans affect
the popularity of podcasts?

(1) The loneliness of their lives is somewhat negated by
the personal and intimate nature of podcasts.

(2) The monotony of a long commute to work has
contributed to a growth in demand for podcasts.

(3) The stress of a hectic life owing to household chores
has hiked up the demand for light entertainment
through podcasts.

(4) The fact that podcasts can be downloaded and
listened to later as well, unlike other radio shows.

175.

176.

177.

178.

179.

180.
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(5) Podcasts help avoid the time-consuming process of
downloading programmes from iTunes onto a desktop
and syncing their iPods to it.

Which of the following is closest
to ESOTERIC as used in the passage?
(1) Obtuse (2) Chronic
(3) Vain (4) Arcane
(5) Fabricated

in  meaning

How are podcasts more viable for advertisers than are
television shows?

(1) Ads during television shows are often skipped by
consumers but those during podcasts, voiced by the
narrators themselves is more appealing to listeners and
the message of advertisers is assuredly sent across.

(2) Ads during television shows are longer and use
more impersonal people as compared to those during
podcasts which are usually shorter and more personal
because they are voiced by the host, which increases
their appeal for listeners.

(3) Ads during television shows are financially less
viable for advertisers than are ads during podcasts for
the former charges more, given their greater reach.

(4) Since listening to podcasts is a hobbyist activity as
opposed to viewers of television shows, advertisements
during podcasts appeal immediately to listeners.

(5) None of the above

How has the popularity of podcasts increased because
of other technology?

(1) The outdated technology of iPods has increased the
popularity of podcasts.

(2) The growing obscurity of NPR and their decreasing
reach contributed to the hype around podcasts.

(3) Bluetooth-enabled cars allow for consumers to listen
to their shows without first downloading them from
iTunes to a computer and syncing it with their iPod.

(4) All of the above

(5) Smartphones have made it easier for consumers to
enjoy their favourite shows better because they can
now skip directly to those parts of the podcast which
they like best.

What does the concluding phrase of the passage
suggest to you?

(1) That podcasts have gained so much popularity that
they are here to stay.

(2) That the fate of NPR vis-a-vis podcasts has been
written in black and white.

(3) That even though Mars' podcast show has gained
tremendous popularity, he will always remain a fan of
NPR.

(4) That the present fate of podcasts might not be
permanent, since NPR will always have a wider reach.
(5) That there is imminent danger for NPR with the rise
of podcasts.

What is the main focus of the passage?

(1) A comparison between podcasts when they were
first introduced, and podcasts now.

(2) How and why podcasts have gained popularity.

(3) The creation of one of the most well received
podcasts show called 99% Invisible.

(4) How listeners are helping producers rapidly make
money from podcasts.

(5) Both (1) and (2)

Do you think the name of Mars' show was appropriate?
(1) Yes, because when it started its duration was so
little, it could be considered 99% invisible.

(2) Yes, because Mars was the sole person responsible
for everything from writing to producing it and there was
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no formal studio either, so 99% Invisible seemed
appropriate.

(3) Both of the above.

(4) No, because when it started, podcasts were already
gaining popularity and were no longer invisible.

(5) No, because it is one of the top 20 shows and gives
NPR a run for its money.

Direction (181-183): In the question below, a word is given

181.

182.

183.

followed by 4 pairs of words. From the options, select
the one that provides the combination of pairs in which
the first word is a synonym and the second is an
antonym.

Boon
1. Blessing: Curse
3. Lush: Predicament

2. Privilege: Bane
4. Luminous: Plight

(1) 1land2 (2) 2and 3
(3)2and 4 (4)1and 4
(5)3and 4
lllustrious

1. Profuse: Scarce

3. Acclaimed: Obscure
(1)1and 2

(3)2and 4

(5)3and 4

Generic
1. Exact: Erratic
3. General: Particular

2. Eminent: Unknown
4. Prodigal: Thrifty
(2)2and 3

(4)1and 4

2. Precise: Erroneous
4. Common: Specific

(1 1land2 (2)2and 3
g; é ang j (4)1land 4
an

Directions (184-193): In the following passage there are

Fb:-

blanks, each of which has been numbered. These
numbers are printed below the passage and against
each five words are suggested, one of which fits the
blank appropriately.

Find out the appropriate word in each case. Customers
could, Henry Ford once quipped, have a car in any
colour they wanted so long as it was black. In the end
consumer choice got the better of him; cars how come
in all manner of ___ (184) . Black, nevertheless,
remains popular. Some 17% of new cars sold around
the world are black, second only to white, at 37%.
White is (185) in hot countries
because, along with silver, it is good at reflecting light—
including the infra-red wavelengths that carry most of
the sun’s heat. Black, grey and other dark colours, in

contrast, absorb light (186) warming
cars painted in those hues. Despite
Ford’s (187) , hone of this has, until

recently, presented carmakers with much of a problem.
That is changing because, besides absorbing sunlight,
dark shades also tend to absorb much of the signal
transmitted from the increasing number of sensors
being fitted (188) vehicles. Radar sensors
are used to operate safety systems such as automatic
braking. They transmit radio waves and measure the
time it takes for those waves to bounce back, and any
changes in their frequency. From this it is possible to
determine the range, position and velocity of objects
around a vehicle. If some or all of the signal is absorbed
instead of being reflected, though, radar sensors can
miss things. The same is true of lidar, which is similar to
radar except that it (189) infra-red laser
light instead of radio waves. At present lidar is big and
bulky (the blob-shaped roof racks on self-driving cars
are lidar sets) but (190) versions are
being developed. Though self-driving cars have

184.

185.

186.

187.

188.

189.

190.

191.

192.

193.
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suffered (291) recently (in March a
pedestrian was killed in Arizona by an Uber test vehicle
fitted with lidar and a Tesla running on radar-assisted
Autopilot crashed and killed its driver in California), both
radar and lidar are likely to be used more widely as cars
become more automated. To improve the reliability of
sensors it would help if all vehicles were painted in
colours that are good at reflecting a wide range of
wavelengths. But that is not going to happen, for the
same reason Ford had (292) to
introduce shades other than black—namely that colour
is an essential part of vehicle design and marketing. But
PPG, a firm in Pittsburgh that is one of the world’s
biggest suppliers of paints and coatings, believes it has
an answer. Its researchers are (193)

with paint at a molecular level so that whatever colour a
coat of it appears to be to the human eye, it will still be
highly reflective to the signals from a car’s sensors.

(1) Reflections
(3) Complexions
(5) None of these

(1) Disfigured
(3) Enticed
(5) None of these

(1) Thereon
(3) Thereupon
(5) None of these

(1) Marvels
(3) Equivocations

(2) Migrations
(4) Abstentions

(2) Favoured
(4) Moved

(2) Thereby
(4) Therein

(2) Tunnels
(4) Malfunctions

(5) None of these

(1) About
(3) From
(5) None of these

(2) To
(4) For

(1) Enters
(3) Confines
(5) None of these

(2) Conjoins
(4) Employs

(1) Miniature (2) Structure

(3) Building (4) Body

(5) None of these

(1) Moulds (2) Rounds
(3) Kicks (4) Setbacks
(5) None of these

(1) Transversally (2) Leading
(3) Eventually (4) Formally

(5) None of these

(1) Tampering
(3) Flickering
(5) None of these

(2) Snickering
(4) Ballooning

Directions (194-200): Read the following passage carefully

and answer the questions.

Late on a gray November afternoon Marvin Atqittuq, a
newly elected patrol commander in the Arctic
community of Gjoa Haven, stood on the frozen sea
outside town and called his troops in for a meeting. A
frigid wind flicked snow in from the south, and it was
about 20 below zero, cold but not that cold for the
Arctic. The company of some 20 Inuit men and a few
women gathered around with rifles slung over their
shoulders, dressed in hand-sewn jackets of caribou
hide or pants made of polar bear fur or wearing the
usual store-bought stuff, which was far less warm but
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194.

195.

Fb:-

good enough for now. Atgittuq (pronounced At-kee-
TUK) pulled on a pair of sealskin gloves and outlined
the plan for the day. The group was part of the
Canadian Rangers, a reserve component of Canada’s
armed forces, and Atgittuq would now lead them on his
first mission as their commander: a weeklong patrol by
snowmobile down the treeless coast of King William
Island. There would be GPS training, military-style
target practice, search-and-rescue scenarios, and
plenty of hunting and ice fishing.

| stood at the edge of the circle, rubbing ice from my
eyelashes. It was too cold to take notes, so | watched
faces and read the frosthite scars, little badges of honor
that told of lives spent outdoors on one of the planet’s
most unyielding landscapes. The group soon broke up
and began smoking last cigarettes before the long ride
into darkness. Atgittugwalked over to ask whether | was
warm enough. He was tall, broad shouldered, laughed
easily. He’d been a ranger for many years before the
others had voted him their new commander. In a
friendly way, he warned me not to fall asleep on the
journey ahead. It happened, he said. Sometimes
people tumbled off their snowmobiles and went
missing. He reminded me that there was currently no
cell service on the island or anywhere else in the
territory of Nunavut—three times the size of Texas. “If
anything happens and you get separated, just sit tight
till someone comes back for you,” he said. “And try not
to meet any polar bears.”

The rangers are called “Canada’s eyes and ears in the
north,” and their units have been patrolling the country’s
outermost regions since the 1940s. Most rangers in the
far north are indigenous volunteers, and over the years
they’'ve acted as scouts, participated in war games, and
helped regular troops learn to build igloos, navigate the
tundra, and generally stay alive in the cold. Their role,
like the far north itself, isn’t well-known, and the rangers
have always managed to keep going on shoestring
budgets and hand-me-down equipment, including
government-issued bolt-action rifles made in the 1940s
and stamped with the British crown. Around the time of
my visit, though, the Canadian government had been
reappraising the rangers. Rumblings about an
international scramble to stake new claims in the
warming  Arctic and on its vast trove
of untapped resources had prompted politicians in
Ottawa to promise the rangers better gear and funds to
recruit more volunteers. Meanwhile U.S. military
officials also were interested in the program, with an
eye toward creating something similar in Alaska.

What tells us that Atqittuk was a good leader of his
troops?

(1) The fact that he refrained from displaying a sense of
humour and stamped his authority as commander
before his troop members.

(2) The fact that he had had years of experience as a
ranger.

(3) The fact that he was elected as the commander of
the troop by the members themselves tells us he was a
good leader.

(4) The fact that he warned his troop member against
possible situations of dangers.

(5) The fact that led by example, showing how to battle
the frigid temperatures.

How has the author presented the rangers?

(1) Through the lens of history, as protectors of the
region.

(2) Through the lens of warfare, as warriors fighting
enemies and training troops.

(3) Though the lens of culture, as the natives of the
region who carry forward the heritage.

196.

197.

198.

199.

200.

(4) Through the lens of politics, as perpetrators of
government negligence and corruption.
(5) Both (1) and (3)

How does the atmosphere in the passage relate to the
mood of the passage?

(1) They parallel each other, since the weather is gray
and wintery and the mood is set on the grim tasks of
hunting, scouting and military-style practice.

(2) They parallel each other, since the weather is gray
and very chilly and the mood is one of fatal dangers
and survival risks.

(3) They negate each other to an extent since even
though the weather is gray and freezing, the
commander cracks jokes about the lurking dangers.

(4) They completely contradict each other since the
author’s personal comments add a livelier tone to the
passage.

(5) Both (1) and (2)

Which of the following farthest in
from UNTAPPED as used in the passage?
(1) Exploited (2) Concealed
(3) Endangered (4) Marooned
(5) Imprudent

meaning

How did the author take ‘notes’ despite the freezing
weather?

(1) By reading the facial expressions and body
language of his fellow troops and commander.

(2) By recalling the experiences recounted by more
experienced members of the troop.

(3) By reading the faces and stories behind the scars of
many of his fellow troops.

(4) By observing the ways in which the troop members
survived the cold.

(5) By observing the equipment and training methods of
the troop.

What corroborates the comment that the Canadian
Rangers are as obscure as the far north itself?

(1) The fact that they are part of the reserve Canadian
armed forces, not part of the main one.

(2) The fact that they are hardly known, they use
outdated equipment and are not looked after
adequately as evidenced by the meagre budget they
survive on.

(3) The fact that the riches of the region are still
undiscovered.

(4) All of the above.

(5) The fact that their native culture is being made to
disappear fast.

How do the Canadian Rangers pass on their survival
skills?

(1) They demonstrate to the regular troops various
methods of hunting, ice fishing and scouting.

(2) They teach regular troops how to survive the
freezing cold, building igloos and navigate through the
treeless lands among other things.

(3) They show regular troops how to survive the frigid
temperatures by wearing special kind of hide such as
polar bear fur and sealskin.

(4) They show regular troops how to use weaponry that
helps them retain the title of ‘Canada eyes and ears in
the north’.

(5) All of the above
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(1) T (2) W
(3) fasey (4)5d
(5) THESH

F ot I8} SR BT T B

m@ﬁw () TR
(3) fawrgrar (4) <4redr
(5) 3Tgd

& ford Tt SR BT ITT B |

(1) I () &7
(3) 3 (4) HeH
(5) AF®

& fort I} SR BT T B

(1) SR (2) IR
(3) RER (4) TF=IT
(5) gAY

=T (216-220): R RT T ydS I WS & UgaR, I F ugAH

Fifoel Ffe, afs HIS grft, 98 Fad T s | g grftl 39
mmﬁww%lu%aﬂégﬁﬁ%ﬁmw
) |

BE 6 & WK faRly & o9 g5 (1) / fayfaenea &t srier)
aRyE &1 6 (2) /F BN gl R $S (3) / HHer el ug
TR T (4) / TS A T (5)
(M1
3)3
(5)5

@2
(4) 4

ot ot faer (1) 7 &1 Ii® (2) / S8R ¥ U0 T AHGUS] (3)
/8 TS IR THA (4) / DTS 3fC TR (5)

M1 (2) 2

(3)3 (4) 4

(5)5

3Muer § 9ER gU (1) /7 9 oRar! & fore we 91a & (2) 7 iR
TTHHHI (3) / BT AT {5 S| 4) / S8 I - (5)

M1 )2

(3)3 (4) 4
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219.

220.

(5)5

UTYT F IRABROT DT 1637 (1) 7 T1 SAFEA SIA-I1d B HINT (2)
/B G ST T8} § IRA Tad (3) / AT BT Ufdwd g1 (4)
/ 1S e &N (5)
(11
(3)3
(5)5

TR F Ja-TGHAT HA arel TS 3R (1) /B o9 W
TRl B SRR USd! § (2) / ot Tt el e da € (3) / T8
3 srepeft, e oreTa T8 S §1 (4) /7 P1s 3fe TR (5)

(11 (2) 2

(3)3 (4) 4

(5)5

2) 2
44

= (221-225): TR fou T UAS Uy H IR Wsal HI ITifehd fHar m

221.

222.

223.

224.

225.

%lﬁl%m,@),(3)3(4)m%mw%|s?wwmw
TH B AT A I G § AT a1ad & T H 3BT
Wm:@%lWWWWﬁ&WW%IUﬁ
Y@ifhd eg B gl Y € 3R a1 b e F It vanT of
TRTETA B 1 30T IR (5) T+t et 8 Al

TIA1 9 991G Sfia & Jag! GETeN o ¥ 8, W Sfiad &
Tl g U HIMTEHR S foQ fausdr &1 RaH sawus 8

S 31wt wE §l

(1) T (2)1@'5'@

(3) TETHR (4) fauerar

(5) Wit et &

HIqd ATTEdT e 3fd @ S @@ & g adt g,
s‘mﬁmﬁha‘cﬁ | it et €1

(1) 9radn (2) feaan

(3) 3a@ (4) Tfdfq

(5) I T 2

el & ol 89 W Va1 mHRet 89 & © b &9 &
fysmue ATRIR W w® & O R foyseus Res &
o gerfed & B | i @ #1

(1) 3= (2) 3yt
@) WR (4) THIfRd
(5) Tl w3

e # Jfed Y@ Sl Ao & o IR-aR §9u9 B
3R drerar 31 |t |al §1

(1) SitaTamET (2) 9

(3) IR-IR (4) Arerdr

(5) T TR 51

TATAUAIH P TRFHET Td § 99 Ie A D

PR BHTS B! TSl 5| T T B

(1) 99Ut (2) TUEH
@) T (4) HAE
5) IR E

fdwr (226-230): F1° UGS I | Te Rad WM fear T g1 Ude &

226.

227.

Fb:-

U U= wsa(1), 2), @), @) 3R (5) JHT T T I1d BIRT &
D 1 Weg a1 BT 3ol 59 3 forg feaa wuF & sma |

3T Hiawr & fore ug aga sifard & fb ag o3t -----———--
- W 3T T O SR 30 3T 7, 39 3R Hia-fodr & 9y
1t 391 gt T =R Tl

(1) JaraR (2) feRma=an

(3) (4) dTaRIT

(5) gNaR

QPG - (R—— fRIed &1 TP Hew@yul ST § A AgHUT
1 U Ayl o g

(1) AeH (2) s

B) T (4) Tfa

(5) s1

228.

229.

230.

231.

232.

233.

234.
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0H-9E Pl oo o1 Tew o v ¥ Wit 3w
T HF @A § S I el| U1 220 I8 SI9/RdIG a9 JufRd
FRIE B

(1) R (2) R

(3) B3R @) Ty

(5) Foera

Hiftraef &1 & et @ B UFW Y B TR
31T T TR Ud Pied a1l &1 Uelies a9 718 g

(1) "fgyy (2) 3@

@) fog@ () e~

(5) STfed

FRTE 3 e Td TR ArSd! Horge & S BT BT -
- §T R TS B SR B gl e i 31

(1) S (2) fowg

(3) Tt @) 3

(5) TF=

=T (231-240): FEfifEd T &1 wFYdS g FHIfGT 7 STF

R Rw T i & IR AW U F7 IR Sd JHI 3MUH)
TETdT & ol $3 Wea) Y YWifdhd e T 31

ey TR IPET SR SRS SMMERM &1 d ¥ & &
fom fay URA T TR B RGN ST 3R TW YR & g
P B R B S 6 A & g > fow fay wRed
TR T TH FAUTT B 1 T 1920 3R 30 & oid H I It AEd
3, fbq 79T &I W& Y WRA F S T @ @1 e
Wﬁsﬁ?&mqﬁﬁﬁﬁﬁﬁ@ﬁw&wamm
Td Fd [ T W I8 0@ fayfaged & Fu § uRfE g
T 3R IYHT AT T g fay URelt 81 T S s WOR R Y
Tpid BT Nyd g1 IR F fafdra o= F faenedf g8t »ref wd
TP P sy # WRER e FY Wed TR IR R F
3% 78 92 fagH o It omd € ok T8 gar YR Tepfa,
i I el BT ST IR B

B T THT T W U TR U oft TelRfa fan) & v
T I §gd 1 faa1| SferdiaTen 91 & gIeie ¥ df 3
ggg@@%ﬁ%ﬁ&mﬁmﬁmmﬁmm

|

Tdig dggE! UfaHl & o A1 d Had Bid, IUFHHR,AICHDHR
U4 HE o g1 T8l U, fbg U s Wiy, RAPR, dwawr),
TABR, ALY, gad] Td U $1 Har § off ydior 4| Rpd &
HT U4 A H1d $ JWUd e I 3¢ agd IRom et ot
IR T 3R T F YHI0T ST BT AN HR T A-dal Bl
A ged # U fhar| Hifsa A &Y 3T S HIN USH B,
JYDT AT BT I Bal A TUAR [Har 3R IqF 3 B
Tifid &1 Yps! YRISH & SEM@

% YRR Bt RITTT & Ui TdTrs1Y SR BT IS=T T UT?
(1) Y 3R TR & IRpfa® 31997 3G

(2) ST HTT T faRiY v & fog

(3) YR AP, T I BT & LTI & 1w

(4) 9Tt & gARTfT % forg

(5) XS SR SrRih oawl &l 7 0 &F & fag

TS &3 Rigr Ry yRd & fbgeT e B 3 €2
(1) URTT TP A BT Ia=Rd 9

(2) YR TEaHar a Iiid &1

(3) URATT Txpfa, Tifta 9 war &t

(4) YRR ferdsa, Gfkide @ e Hal o

(5) SWRiga it

5Ty TR BT (Ut Terai 1 URun Sel 3 it
(1) S W T IPpd & 1A I

(2) 70 1A & 3faed 9 A9 Tiled

(3) U F1d & JWIG Afied T TXpd & HI §

(4) WG Fified 9 3T sfagr 3

(5) ST9 A FHY T

g1y SR A U TR BT IuIY farg fow efer <z
(1) i St 3 3rgEAnT Sfieie & gHfA I

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB OA MAINS_ 2024 TEST ID - ROM - 87429623
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Reasoning

Ans.(1-5)
(Dhawan) (Ben Stokes) (Bhuwaneshwar)  (Hales) (Hardik Pandya)  (David Warner)
A B C D E F
(White) (Black) (Blue) (Red) (Marron) (Pink)
L A 3 L

Row 1:

Row 2:

(Dhoni) (Ross Taylor) (Kahli) (loe Root) (Rohit) (Faf t;u Plesis)
P Q R 5 T u
(Orange) (Violet) (Saffron) (Green) (Yellow) {Brown)

Ans.1(5)

Ans.2(2)

Ans.3(4)

Ans.4(1)

Ans.5(3)

Ans.6(4) Two fruits are placed between Apple and
grapes, which is placed just below of Guava.
One fruit is placed between Grapes and
Cherries.

Kiwi is placed just above Banana, which is not
placed below Apple.
The following are the possible final cases:
Shelves | Case 1 Case 2
gth Kiwi Cherries
5t Banana Guava
4th Apple Grapes
3 Cherries | Kiwi
2nd Guava Banana
1st Grapes Apple
Either Kiwi or Cherries are placed on the
topmost shelf.

Ans.7(4) From statement | alone, no information is given
related to the person who likes red color. We
cannot determine the person who likes red color.
So, statement | alone is not sufficient.

From statement Il alone, sufficient information is
not given to determine the person who likes red
color.

So, statement Il alone is not sufficient.

By combining statement | and statement I,

We cannot determine the person who likes red
color by combining the both statements.

Ans.8(1) From statement | alone, Distance of U from S
can be determined.

So, Statement | alone is sufficient.
The final arrangement is as follows:
Q 6m =}
5m
v m R
5m am
. L 4m U
So, Sis 11m to the east of U.
From statement Il alone, insufficient information
is given.
Statement Il alone is not sufficient.
Ans.(9-13) The final table is shown below:
word | Check |the |results | again | tomorrow | passes |today |time |out |here
code hblab |vb |jb ab/hb | gb kb th sblob | obisb |yb

Ans.9(5) “check” is coded as “hb” or “ab”

Ans.10(3) ‘ob gb’ is the code for either ‘time tomorrow’ or
‘out tomorrow’.

Ans.11(5)  The phrase ‘again’ is coded “ab” or “hb”.

Ans.12(5)  The word ‘today’ is coded as ‘tb’.

Ans.13(3)  The code for “the” is “vb”

Ans.14(2) Given word,

Fb:-

Ans.(15-17)

Ans.15(2)

Ans.16(1)
Ans.17(2)
Ans.(18-21)

Ans.18(1)
Ans.19(2)
Ans.20(5)
Ans.21(3)

Ans.(22-26)

Ans.22(4)
Ans.23(2)
Ans.24(4)
Ans.25(4)
Ans.26(5)

Ans.27(1)

1| Page

MANAGEMENT

After arranging in reverse alphabetical order, we
get, TNNMMGEEAA

There are 3 vowels between T and the last word
from the left end i.e. A.

After decoding the given statement:

A is sitting 4m west to B, who is sitting 2m north
to C, who is sitting 3m west to D, who is sitting in
the middle of E and F. E is sitting 4m north to F,
who is sitting 8m west to I. H is sitting 3m south
to G, who is sitting in the middle of F and I.

The final arrangement is as follows:

B E
T E—
2m 2m
3m
c D
2m
4m G__4m
1
F
3m|

H
The shortest distance between F and H can be
calculated by the Pythagoras theorem;
FH? = GH? + FG2 =25
FH =5m

C is in North-West of .
D is in south-east of B.

42m Vijay(F.P)
A
18m
16m
Umang (F-P) gpryti(r.p)
c 27m | D
Vijay(1.P) x| | &m
23m| 25m
26m
Umang B
(p)  3m
36m
Shruti (F.P)

Anti Clock-wise (135° + 459)

=180% Clock-Wise - 2259

So finally Clock Wise 45° and position is North
West

The final arrangement is as follows:

Floors | Persons

9 Q(Pink/Orange)
S(Yellow)
P(Brown)
T(Red)
W(Orange/Pink)
V(Grey)
R(Blue)
U(Green)

1 X(Black)

Person, who likes Pink, is either Q or W.

Seven persons live below S.

U likes Green.

Q lives on the topmost floor.

Person who likes orange is either Q or W. So,
we cannot determine the position of the person,
who likes orange.

Option b is false for the given condition and can
be decoded as, R is the daughter of T, who is
wife of S, who is son of Q, who is wife of P, who
is son of U

The final arrangement is as follows:

|||l ojo] |
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Ans.28(1)

Ans.(29-33)

Ans.29(3)

Ans.30(2)
Ans.31(4)
Ans.32(1)
Ans.33(2)
Ans.34(5)

Ans.35(1)

Fb:-

9]

P(+) married {o au

married to

T6) _|_ S(+)
R()

So, U is not the granddaughter of R.

The above expression can be decoded as, G is
the son of F, who is the sister of E, who is the
sister of D, who is the son of B, who is the son of
C, who is the wife of A..

The final arrangement is as follows:

married to

A(+) _I_ C(—)

B(+)

sister of
D(+) sister of E() FO)

So, E is the granddaughter of C.

The final arrangement is as follows:
R({outward) W(in}.\rard) U(inward)

]

=P (outward)

V(outward) =

1
; 1
S(lnward)/ Q(outward) (outward)

All of them are facing away from the centre,
except U.

T is father-in-law of V.

Both S and R are sitting adjacent to V.

3 persons are sitting between S and U.

P is sitting 3™ to the right of R.

From statement | alone, insufficient information
is given.

So, statement | alone is not sufficient.

From statement Il alone, insufficient information
is given.

So, statement Il alone is sufficient.

By combining statements | and Il, we get, two
persons are living between B and F, who is
living immediately above A. And D is living 2
floors above E, who lives immediately above C,
who doesn’t live on the bottommost floor. B must
be living immediately below of D but F cannot
live above B. So, A must be the person, who
lives on the bottommost floor.

The final arrangement is as follows:

6.D
5.B
4.E
3.C
2.F
1.A
By observing the output, we get. The words are
arranged in the reverse English Alphabetical
order as per the last alphabet of the word
starting from the left end. In the last step, the

Ans.36(3)

Ans.37(1)

Ans.38(3)

2 | Page

numbers represent the difference between the
positions of first and last alphabets of the word
in English Alphabetical order.

This pattern is followed till all the words are
rearranged.

Given input: Basic Batch Citation Recipient
Envelope Morning

Step I: Recipient Basic Batch Citation Envelope
Morning

Step II: Recipient Citation Basic Batch Envelope
Morning

Step lll: Recipient Citation Batch Basic Envelope
Morning

Step IV: Recipient Citation Batch Morning Basic
Envelope

Step V: Recipient Citation Batch Morning
Envelope Basic

Step VI: 02 11 06 06 00 01

There are two numbers between ‘11’ and ‘00’.
By observing the output, we get. The words are
arranged in the reverse English Alphabetical
order as per the last alphabet of the word
starting from the left end. In the last step, the
numbers represent the difference between the
positions of first and last alphabets of the word
in English Alphabetical order.

This pattern is followed till all the words are
rearranged.

Given input: Basic Batch Citation Recipient
Envelope Morning

Step |: Recipient Basic Batch Citation Envelope
Morning

Step II: Recipient Citation Basic Batch Envelope
Morning

Step lll: Recipient Citation Batch Basic Envelope
Morning

Step IV: Recipient Citation Batch Morning Basic
Envelope

Step V: Recipient Citation Batch Morning
Envelope Basic

Step VI: 02 11 06 06 00 01

The fourth word to the left of second element
from the right end in the third step is “Recipient”.
By observing the output, we get. The words are
arranged in the reverse English Alphabetical
order as per the last alphabet of the word
starting from the left end. In the last step, the
numbers represent the difference between the
positions of first and last alphabets of the word
in English Alphabetical order.

This pattern is followed till all the words are
rearranged.

Given input: Basic Batch Citation Recipient
Envelope Morning

Step I: Recipient Basic Batch Citation Envelope
Morning

Step Il: Recipient Citation Basic Batch Envelope
Morning

Step lll: Recipient Citation Batch Basic Envelope
Morning

Step IV: Recipient Citation Batch Morning Basic
Envelope

Step V: Recipient Citation Batch Morning
Envelope Basic

Step VI: 02 11 06 06 00 01

Sum =02 + 01 =03

By observing the output, we get. The words are
arranged in the reverse English Alphabetical
order as per the last alphabet of the word
starting from the left end. In the last step, the
numbers represent the difference between the
positions of first and last alphabets of the word
in English Alphabetical order.
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Ans.39(4)

Ans.40(2)

Ans.(41-45)

Fb:-

This pattern is followed till all the words are
rearranged.

Given input: Basic Batch Citation Recipient
Envelope Morning

Step I: Recipient Basic Batch Citation Envelope
Morning

Step II: Recipient Citation Basic Batch Envelope
Morning

Step Ill: Recipient Citation Batch Basic Envelope
Morning

Step IV: Recipient Citation Batch Morning Basic
Envelope

Step V: Recipient Citation Batch Morning
Envelope Basic

Step VI: 02 11 06 06 00 01

‘Basic’ is second from right in step IV.

By observing the output, we get. The words are
arranged in the reverse English Alphabetical
order as per the last alphabet of the word
starting from the left end. In the last step, the
numbers represent the difference between the
positions of first and last alphabets of the word
in English Alphabetical order.

This pattern is followed till all the words are
rearranged.

Given input: Basic Batch Citation Recipient
Envelope Morning

Step I: Recipient Basic Batch Citation Envelope
Morning

Step II: Recipient Citation Basic Batch Envelope
Morning

Step lll: Recipient Citation Batch Basic Envelope
Morning

Step IV: Recipient Citation Batch Morning Basic
Envelope

Step V: Recipient Citation Batch  Morning
Envelope Basic

Step VI: 02 11 06 06 00 01

In step V, ‘Envelope’ is to the immediate left of
‘Basic’.

From statement | alone, insufficient information
is given.

Statement | alone is not sufficient.

From statement Il alone, F has more boxes than
C only. E has more boxes than A but less than
B, who doesn’t have the largest number of
boxes

So, statement |l alone is sufficient.

The final arrangement is as follows:
D>B>E>A>F>C

Quantitative Aptitude

According to question: 2x -2 +2x-5+3y +1 +
x 3y +y =100

5x + 7y —6 =100

5x + 7y =106 ------- @

Also, (2x — 2)/3y = 3/4

8x—-8=9y

8X —9y =8 -----m-- (i)

Solving (i) and (ii) we get, x =10, and y = 8

So, the percentage of SIM cards sold by BSNL,
Airtel, Vodafone, Idea, Jio and DoCoMo on
Sunday is 18%, 15%, 25%, 10%, 24% and 8%,
respectively.

Let the total number of SIM cards sold by all the
six companies together on Sunday be‘z'.

So, according to question: 0.15z

=2 x0.08z — 150

0.01x = 150, x = 15000

So, the total number of SIM cards sold by all the
six companies together on Sunday = 15000

Ans.41(3)
Ans.42(2)

Ans.43(2)

Ans.44(1)

Ans.45(4)

Ans.(46-50)

Ans.46(4)
Ans.47(5)
Ans.48(3)
Ans.49(1)
Ans.50(3)

Ans.51(2)

Ans.52(3)

3 | Page

Company Number of SIM cards sold
on Sunday
BSNL 0.18 x 15000 = 2700
Airtel 0.15 x 15000 = 2250
VVodafone 0.25 x 15000 = 3750
Idea 0.10 x 15000 = 1500
Jio 0.24 x 15000 = 3600
DoCoMo 0.08 x 15000 = 1200

Desired ratio = 2250: 3750 = 3: 5

Desired average = (2700 + 1500 + 1200)/3

= 5400/3 = 1800

Quantity I:

Number of SIM cards sold by BSNL on Saturday
= 2700/0.90 = 3000

Quantity II:

Number of SIM cards sold by Jio on Monday

= 3600 x 0.83 = 2988

So, Quantity | > Quantity Il

Number of prepaid SIM cards sold by Idea on
Sunday = 0.52 x 1500 = 780

Number of prepaid SIM cards sold by DoCoMo
on Sunday = 3/5 x 1200 = 720

So, the desired difference = 780 — 720 = 60
Desired percentage = {(18 + 24 — 15 — 10)/(15 +
10)} x 100 = 1700/25 = 68%

So, number of criminal cases solved in January
= 4000

Number of criminal cases solved in February

= 125% of 4000 = 5000

Number of criminal cases solved in March

= 125% of 5000 = 6250

Number of criminal cases solved in April

= 150% of 6250 = 9375

Number of criminal cases solved in May

= 200% of 9375 = 18750

Number of criminal cases solved in June

= 120% of 18750 = 22500

Number of criminal cases filed in February
=5000/0.0625 = 80000

Number of criminal cases filed in March
=6250/0.1 = 62500

Number of criminal cases filed in April
=9375/0.25 = 37500

Number of criminal cases filed in May
=18750/0.2 = 93750

Number of criminal cases filed in June

= 22500/0.15 = 150000

Number of major criminal cases filed in February
= 80000 — 45000 = 35000

Number of major criminal cases filed in March

= 62500 — 37500 = 25000

Number of major criminal cases filed in April

= 37500 — 24000 = 13500

Number of major criminal cases filed in May

= 93750 — 63500 = 30250

Number of major criminal cases filed in June

= 150000 — 94000 = 56000

Number of minor criminal cases solved in March
= 18/25 x 6250 = 4500

Required percentage increase

= {(150000 — 80000)/ 80000} x 100 = 87.5%
Number of unsolved minor criminal cases in
February = 92.5% of 45000 = 41625

So, major criminal cases filed in Supreme Court
is the second highest in February i.e. 35000

So, required percentage

= 13500/25000 x 100 = 54%

36x1.5+10=64

64 x 2.5+ 20 =180

180 x 3.5 + 30 = 660

660 x 4.5 + 40 = 3010

54 + (9% —-1) =54 + 728 =782

782 + (83 —1) = 782 + 511 = 1293
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Ans.53(1)

Ans.54(5)

Ans.55(2)

Ans.56(4)

Ans.57(3)

Fb:-

1293 + (73— 1) = 1293 + 342 = 1635
1635 + (6% — 1) = 1635 + 215 = 1850
1850 + (5% — 1) = 1850 + 124 = 1974
830 — 122 =686

686 — 10%= 586

586 — 82 =522

522 — 62 =486

486 — 42 =470

So, 486 should come in place of 496.
78 + 15 =93

93 +17 =110

110 +20=130

130 + 24 =154

154 +29 =183

So, 183 should come in place of 189.
From | and II:

Suman + Nilima + Kisan
=3x24+3x4=84--()

Suman + Nilima =2 x 25 = 50 ------- (ii)
From (i) and (ii)

50 + Kisan = 84

=> Kisan = 84 — 50

=> Kisan = 34 years

Nilima = 15/17 x 34 = 30 years

Age of Nilima after six years = 30 + 6 = 36 years
From I and llI:

Suman + Nilima + Kisan
=3x24+3x4=84--()

Suman + Nilima = 2 x 25 = 50 ------- (ii)
Let, the present ages of Suman and Nilima be
3x years and 2x years respectively.
From (ii)

3x+2x =50

=>5x =50

=>x =50/5

=>x=10

Present age of Nilima = 2x = 2 x 10 = 20 years
Age of Nilima after six years

=20+ 6 = 26 years.

Hence, Only | and either Il or Ill are sufficient.
From I and I

Red =3
Green=4
Yellow =3

Let, white = n

Total numberofballs=3+4+3+n=10+n
4/(10 + n) =1/3

=>12=10+n

=>n=12-10

=>n=2

Total number of balls =10 + 2 =12
From I and lll:

Red =3

Green=4

Yellow =3

Let, white = n

n/(10 + n) = 1/6

=>6n=10+n

=>6n-n=10

=>5n=10

=>n=10/5

=>n=2

Total number of balls =10 + 2 =12
Hence, Only | and either Il or IlI
Quantity I:

2x2+ 11x+15=0
2x2+5x+6x+15=0
X(2x+5)+3(2x+5)=0
x+3)(2x+5)=0

X =-3,-5/2

Quantity II:

10y?+ 33y +20=0

10y?+ 25y + 8y +20=0

Ans.58(3)

Ans.59(5)

Ans.60(1)

Ans.61(4)

Ans.62(4)
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5y(2y +5)+4(2y +5) =0

by +4)(2y+5)=0

y = -4/5, -5/2

So, Quantity-I < Quantity-II

Quantity I:

X°—4x—-221=0

X2+ 13x —17x—221=0
X(X+13)-17(x+13) =0

(x+13)(x—17)=0

x =-13, 17

Quantity II:

y?>— 34y +289=0

y>— 17y - 17y +289=0
yy-17)-17(y-17)=0

(y-17(y-17)=0

y=17,17

So, Quantity-l < Quantity-II

Quantity I:

X2+ 15x +54 =0

X2+ 6X +9x +54 =0

X(Xx +6) +9(x+6)=0

x+6)x+9)=0

X =-6,-9

Quantity II:

y2+22y+117=0

y2+ 13y +9y +117=0

y(y +13)+9(y +13) =0

(y+13)(y+9)=0

y =-13,-9

So, Quantity-1 > Quantity-II

Quantity I:

Total amount withdrawn by him after 6 years
=9600 + {9600 x (7+8 +9 + 10 + 11 + 12)}/100
9600 + 96 x 57

9600 + 5472

= Rs.15072

Quantity II:

=Rs. 15000

So, Quantity-1 > Quantity-I|

Quantity I: = 45%

Quantity II:

Let the cost price of the article be Rs. X'.
Selling price of the article at two discounts

= Rs.1.32x

Marked price of the article

=1.32/(0.8 x 0.75) = Rs. 2.2x

Selling price of the article at single discount
=11 x 451 = Rs. 4961

Selling price of the article at two discounts

= Rs. 1.32x = 4961 + 451 = Rs. 5412

x =5412/1.32 = 4100

So, marked price of the article

=Rs. 2.2x = Rs. 9020

Required single discount percentage
={(9020 — 4961)/9020} x 100 = 45%

So, Quantity-I = Quantity-II.

Total work = 720 units

Number of units of work done by A in one day
=720/30 =24

Number of units of work done by B in one day
=720/36 = 20

Number of units of work done by C in one day
=720/48 = 15

For one unit, amount paid

=3600/720 = Rs. 5

Since, amount paid to A is less than or equal to
Rs. 960.

So, maximum no. of units of work done by A
=960/5 =192

So, maximum time taken by A to do 192 units
=192/24 = 8 days

So, A can work for less than or equal to 8 days.
Therefore, | and Ill satisfy the above statement.
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Ans.63(1)

Ans.64(3)

Ans.65(4)

Ans.66(1)

Ans.67(5)

Fb:-

No. of ways of selecting 2 men and a woman
from group A =*C2x5C1 = 30

No. of ways of selecting 2 men and a woman
from group B = "C2xYC1 = 105

According to question,

XCox 5C1 =30

5x(x — 1) = 60

5x2 —5x—-60=0

X2—-x-12=0

X2—4x+3x—-12=0

X(x—4)+3(x-4)=0

x-4)x+3)=0

So,x=4

And,

7Cox YC1 = 105

21y =105

y=5

So,xy=4x5=20

Let the present age of Rashi = k years
According to the question

(k-12)x2=(k + 6)

=>2k-24=k+6

=>2k-k=6+24

=>k =30

Present age of Rashi = 30 years

Present age of Saurav = 30 — 6 = 24 years

Let the present ages of Aman and Seema be 6x
and 5x years respectively

According to the question

(6x +4)/(5x +4) =716

=> 36x + 24 = 35x + 28

=>36x —35x =28-24

=x=4

Present age of Aman = 6x = 6 x 4 = 24 years
Present age of Sita = 24 + 5 = 29 years
Required difference = 29 — 24 = 5 years

Word JAILORS contains 3 vowels and 4
consonants

Case I: 1 vowel and 3 consonants are there in
the word

So the number of ways in which 4 letters can be
chosen =3Cy x4C3=3x4=12

Case Il: 2 vowels and 2 consonants are there in
the word

So the number of ways in which 4 letters can be
chosen =3C2 x4C2=3x6=18

Case lll: 3 vowels and 1 consonant are there in
the word

So the number of ways in which 4 letters can be
chosen=3C3x“*C1=1x4=4

So the total number of ways in which 4 letters of
the word can be chosen =12 + 18 + 16 = 34

So the number of ways in which these 4 letter
words can be arranged with in the word
=41=24

So the total number of words formed

=34 x24 =816

Let, amount deposited by Babita in bank be Rs x
So, 5632 = x x (1 + 20/100)%2 - 1

0.44x = 5632

x = 12800

So, monthly income of Babita = 12800/0.4

= Rs. 32000

Monthly income of Kavita = 5/4 x 32000

= Rs. 40000

Expenditure of Kavita

= 40000 — 17480 = Rs 22520

Total investment of Sunita

= 12000 x 3 + 15000 x 6 = Rs. 126000

Total investment of Noopur

= 15000 x 4 + 20000 x 5 = Rs. 160000

Total investment of Simran

= 14000 x 5 + 10000 x 4 = Rs. 110000

Ans.68(1)

Ans.69(3)

Ans.70(4)

Ans.71(2)

Ans.72(2)

Ans.73(1)

Ans.74(3)
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So, ratio of profit of Sunita, Noopur and Simran
= 126000:160000:110000 = 63:80:55

So, Profit of Noopur = {80/(63+80+55)}x 9900
=80/198 x 9900 = Rs. 4000

Let the number of boys and girls in the college in
2015 be 4x and 3x, respectively.

So, number of boys in 2016 = 5x

And, number of girls in 2016 = 1.5x

According to question,

7x — 6.5x = 400

0.5x =400

x =800

So, the number of boys in college in 2015

=4x = 3200

Required average = (42 x 25 + 35 x 20 + 67)/(42
+ 35 + 2) = (1050 + 700 + 67)/79

=1817/79 = 23 years

Distance between station P and station R
=440 x 2 =880 Km

Distance travelled by train A in 5 hours
=28x5=140 Km

Distance travelled by train B in 5 hours
=32x5=160Km

Required distance = 880 — 140 — 160

=880 - 300

=580 Km

Cost price of the two article for Tina

=4800 x 2 =rs.9600

Selling price of two article

= 4800 x 120/100 + 4800 x 90/100

= 5760 + 4320

= Rs.10080 = cost price of the refrigerator
Marked price of the refrigerator

= 10080 x 125/100 = Rs.12600

Selling price of the refrigerator

= 12600 x 90/100 = Rs.11340

% profit = (11340 — 9600)/9600 x 100

= 1740/9600 x 100

=18.125%

Let the monthly income of A be Rs. X'.

Monthly income of B = Rs. (64000 — x)
According to question,

0.5x + 0.2 x (64000 — x) = 21200

0.5x + 12800 — 0.2x = 21200

0.3x = 8400

x = Rs. 28000

Ratio of age of A: B: C = 35:49:50

Let, age of A, B and C be ‘35x’ years, ‘49x’
years and ‘50x’ years, respectively.

S0, 50x —49x = 1

x=1

So, age of A = 35 years

Fresh watermelon contains 80% water and 20%
pulp.

So, ratio of water to pulp in fresh watermelon
=41

Dry watermelon contains 25% water and 75%
water.

So, ratio of water to pulp in dry watermelon = 1:3
Out of 20 kg dry watermelon,

Quantity of water in it = 1/4 x 20 =5 kg

Quantity of pulp init=20 -5 = 15 kg

Now, since after adding water to the dry
watermelon, the ratio of the water to pulp
become 4:1.

Since, the quantity of pulp remains the same i.e.
15 kg after adding water to the dry watermelon.
Quantity of water in the dry watermelon after
adding water to it = 4/1 x15 = 60 kg

Quantity of water initially in the dry watermelon
=5 kg

Quantity of water added in the dry watermelon
=60-5=55kg
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Now, let the cost price of 1 kg dry watermelon be Ans.84(4) Smriti Irani, Women, and Child Development
Rs. x. (WCD) Minister stated that the government has
Now, after adding water total weight of dry set a target to connect 44 crore people through
watermelon = 20 + 55 = 75 kg Poshan Abhiyaan to tackle malnutrition, at a
Cost price of 20 kg dry watermelon = Rs. 20x function in New Delhi.
Selling price of (80% of 75) kg dry watermelon Poshan Abhiyaan is a flagship programme
= Rs. 60x of, Women, and Child Development ministryto
So, profit percentage improve nutritional outcomes for children,
= (60x — 20x)/20x x 100 = 200% adolescents, pregnant, women and lactating
Ans.(75-79) mothers.
Revenue_gener"?ted Revenue.generatgd Revenu_e generated Ans.85(3) Ministry of Housing & Urban Affairs has
by selling light| by ~selling mild| by seling advance launched "SonChiraiya”, a brand and logo for
clgarette clgarette clgarette 1
? ? ? marketing of the urban Self-Help Group (SHG)
Vivek 138 < 13=Rs. 1794 | 257 x 16 = Rs. 4112 | 86 = 18 = Rs. 1548 products. To make urban SHG products popular
Kundan 149 x 13 =Rs. 1937 | 298 x 16 =Rs. 4768 | 64 x 18 =Rs. 1152 the ministry has signed MoUs with e-Commerce
Deepak 127 % 13=Rs. 1573 | 261 = 16 = Rs. 4176 | 93 x 16 = Rs. 1674 Po(rjtalls_ "kef Amazon and Flipkart, with an
— — — underlying of women empowerment.
Mahesh 20813 =Rs. 2704 | 34516 =Rs. 5520 | 177 18 = Rs. 3186 Ans.86(2) In 2010, Government of India, in consultation
Vicky 159 x 13 =Rs. 2067 | 244 x 16 =Rs. 3904 | 128 x 18 = Rs. 2304 Wlth RBI |ntroduced a new Short_term
: . instrument, known as Cash Management
Ans.75(1) Revenue generated by selling all cigarette by Ins ’ X
: _ _ Bills (CMBSs), to meet the temporary mismatches
Vivek = 1794 + 4112 + 1548 = Rs. 7454
. : in the cash flow of the Government of India.
Revenllie generated by seling all cigarette by The CMBs have the generic character of T-bills
D = 1573 + 4176 + 1674 = Rs. 742 X o
R::Eﬁed dif5fe?ence :674546_ 74235: Rs 331 but are issued for maturities less than 91 days.
Ans.76(5)  Required ratio = 5520: 3186 = 920: 531 ' Ans.87(2)  The International Court of Justice, also known
Ans.77(1) Required percentage ' ' as World Court, is the principal judicial organ of
’ = (2067/4768) x 100 ~ 43.35% the United Nations (UN). The ICJ's primary
Ans.78(4)  Number of mild cigarette and advance cigarette ijuiQSE?els su?)i’?]itt;?i b;s/e;ifteslneiﬁzinztiegﬂ dvizgfii
= X + =
;%ldnzym%?:voafncig;rgt?e s(cnzlg4by Elsﬁﬁi/an%s opinions on legal issues referred to it by the UN.
- 4’65 +142 = 607 Through its opinions and rulings, it serves as a
Ans.79(3) Revenue generated by selling light cigarettes by ?nouggugf ,'\Inéteggﬁgﬁggl law. It is headquartered
all the given five shopkeepers together AP C
= (138+149+121+2os:j+15§) x 13 |T Rs. 10375 & ¥ 'éf,'ﬁesr ﬂrrlzts DE%r%?e F?:ioenﬁic Iizgrt)algndTE: S?rigi
Revenue generate y selling advance . : L
. . . Minister ~ of = Kerala, Pinarayi Vijayan was
C|gar(:]ttes (gg g” ;he glven2 fI)VG Zhopkeegpsegs inaugurating the S’tate poli¥:e djegartment’s
together =(86+64+93+177+128) x 18 = Rs. 4 o ; .
Required difference = 10075 — 9864 = Rs. 211 P[())rl?cr;e Fog/r;)sg(r:Dlz)?Tt])gratoréygért(l;ct)am};eralailSStatZ
Ans.80(1) From I . .
Ajay, sima and Rima invested in the ratio 5:3:7 tictiinolioglclal Pre|5_earlgh arrlfl de\t/elopment centre
respectively. After one year, Sima doubled her Zboft K‘erzli_o'ce epartment.
?r\i)e;trn'e ™ Governor: Arif Mohammad Khan
After two years, Ajay doubled his investment. gﬁiziariii-r:ir;ltgr\'/agiﬁgigsi)\u/irjaar;an
From IlI: :
Ans.89(1) Airtel Payments Bank has partnered with Bharti
:)\rtoi‘iieofeFrz]g 2021‘4t0h0rge years, they eamed a total AXA Life Insurance to offer Bharti AXA Life POS
From 1. Il aind e (Point of Sale) Saral Jeevan Bima Yojana. It is a
o : : - : re life term insuran lan R lakh
Let, the investment of Ajay, Slr_na and Rima be \?\Il:]iih eisteaimedsu:t Cteiwep aunggr-ticrisurseds :nd
Rs._5k, Rs.3k a_nd Rs.7k r_espectlvely uninsured segments in India
ﬁjzt;o.(gi;h;ieRli%i]e profit Ans.90(4) On August 21,2019, English-language monthly
— (5k.x >+ iOk) L (3k + 6k x 2) : (7K X 3) magazine ‘Euromoney’ has named DBS bank as
=20k - 15k - 21k ' the ‘World’s Best Bank’. DBS as of now is the
=20:15:21 only bank in the world to concurrently hold three
Shar-e oi‘ Sima in the profit global best bank awards. Previously it won
= 15/(20 + 15 + 21) x 224000 Global Finance’s “Best Bank in the World” in
= 15/56 x 224000 = Rs.60000 August 2018 and The Banker's “Bank of the
X - Year — Global” in November 2018.
Hence, All 1, Il and IIl together are sufficient, Ans.91(3)  Microsoft acquired ‘BlueTalon’, a data privacy
General Awareness and governance service. BlueTalon works with
leading Fortune 100 companies. It helps
Ans.81(4)  National Insurance Company Limited (NICL) enterprises to set policies for how their
was founded in 1906 and headquartered at employees can access their data.
Kolkata. It is oldest existing insurance company Ans.92(4)  The film “Pather Panchali” has been listed in
in India. BBC'’s list of 100 best foreign language films. It
Ans.82(4) Murlen National Park is located in Mizoram. is the only film from India to feature in the list. It
Aizwal is the capital of Mizoram. was directed by Satyajit Ray and released in
Ans.83(1)  Section 4 of the IRDAI Act 1999 specifies the 1955. Pather Panchali is at number 15 in the list.
authority's composition. It is a ten-member body The list is topped by Akira Kurosawa’s film
consisting of a chairman, five full-time and four “Seven Samurai”.
part-time members appointed by the government Ans.93(4) Asset Reconstruction Companies or ARCs
of India. purchase bad assets or NPAs from banks at a
Fb:- 6 | Page Web :-
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Ans.94(4)

Ans.95(2)

Ans.96(1)

Ans.97(4)

Ans.98(2)

Ans.99(3)

Ans.100(3)

Ans.101(2)

Ans.102(4)

Fb:-

negotiable price and helps banks to clean up
their balance sheets (by removing the NPAS).
The Sentinelese tribes are the inhabitants of
North Sentinel Island (Andaman & Nicobar) in
India. The Sentinelese tribe is at the verge of
extinction. The 2011 census estimates their
guantities at a mere 50.

In second annual list of the “World’s Greatest
Places” published by the Time magazine, Statue
of Unity in Gujaratand ‘Soho House' in
Mumbai has been featured with a total of 100
places.

World Blood Donor Day is observed annually on
June 14 to express gratitude towards selfless
voluntary blood donors.

Theme -

The slogan or theme of the World Blood Donor
Day 2023 is "Give blood, give plasma, share life,
share often".

History -

The World Health Organization (WHO) officially
established World Blood Donor Day in 2004.
During the 58th World Health Assembly in 2005,
it was designated as an annual global event with
the purpose of increasing awareness regarding
the significance of blood donation.

Arhan  Bagati, Awareness and Impact
Ambassador of Paralympic Committee of India
has launched a mobile application called “Ind
Tokyo” to help para-athletes to look up
accessible places in Tokyo, Japan during their
visit to the city for the 2020 Paralympics Games.
The 2024 Summer Paralympics Games will be
held in Paris, France.

Dr Jitendra Singh has released India’s first cattle
genomic chip "IndiGau" for the conservation of
pure varieties of indigenous cattle breeds like,
Gir, Kankrej, Sahiwal, Ongole etc. The chip has
been developed by scientists of National
Institute of Animal Biotechnology (NAIB),
Hyderabad, an autonomous institution under the
aegis of the Department of Biotechnology.

All Prepaid Payment Instruments (PPIs) shall
have a minimum validity period of one year from
the date of last loading/reloading in the PPI. PPI
issuers are, however, free to issue PPls with a
longer validity. Issuers shall clearly indicate the
expiry period of the PPI to the customer at the
time of issuance of PPlIs.

Jharkhand’'s Komalika Bari won gold at the
World Youth Archery Championships on August
25. The 17-year-old archer clinched India’s
second gold on the final day of the World
Archery Youth Championships in Madrid. She
beat Japan’s higher-ranked Sonoda Waka 7-3 to
bring the winning title to her homeland.

NEFT stands for National Electronic Funds
Transfer. NEFT is a nation-wide payment
system facilitating one-to-one funds transfer.
There is no limit — either minimum or maximum —
on the amount of funds that could be transferred
using NEFT. However, maximum amount per
transaction is limited to Rs. 50,000/- for cash-
based remittances within India and also for
remittances to Nepal under the Indo-Nepal
Remittance Facility Scheme.

There are four layers of capital structuring of
Regional Rural Banks. Regional Rural Banks
have first level from share holders (Central
Government, State Government and Sponsor
Bank) followed by second level of deposits from
public. In case of need RRB can borrow funds

Ans.103(2)

Ans.104(3)

Ans.105(2)

Ans.106(2)

Ans.107(4)

Ans.108(1)
Ans.109(3)

Ans.110(3)

Ans.111(3)
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from sponsor bank also. Lastly, Regional Rural
Banks draw refinance from NABARD.

SWOT - Strength, Weakness, Opportunities and
Threats

O — Opportunities

CE Kamath Committee— Related to:
Agency Approach in Agricultural Finance
When an account has insufficient funds the
cheque is not payable and is returned by the
bank with a reason “Exceeds arrangement” or
“funds insufficient” is called Bouncing of a
cheque.

Max Bupa, Health Insurance Company, has
collaborated with HDFC  Bank, and launched
‘Any Time Health’ (ATH) machines to distribute
health insurance products. The machine is an
automated, web-based model that permits
customers to avail health assessment and buy
health policy without any kind of conventional
manual efforts.

Actor-author Paterson Joseph has won the RSL
Christopher Bland Prize 2023 for his debut novel
"The Secret Diaries of Charles Ignatius Sancho".
This is the 5th year of this award.

RSL Christopher Bland Prize is an annual award
which honours a debut writer for their work of
fiction or non-fiction, published at the age of 50
or over.

About the book -

The book is a historical fiction about Charles
Ignatius Sancho, who was the first Black man to
vote in England.

AIF - Alternative Investment Funds

Cooperative.  Banks generally gives credit
facilities to small farmers, salaried employees,
and small scale industries

Every year, International Youth Day was
observed on August 12 to recognize and bring
attention to the problems faced by youth. The
International Youth Day was commemorated by
the United Nations on August 12 in 1999. The
theme of International Youth Day 2021 is
“Transforming Food System: Youth Innovation
for Human and Planetary Health”.

Other Important days of 2021 -

15-August-2021: Sanskrit Day

29-August-2021: National Sports Day
2-September-2021: Coconut Day
14-September-2021: Hindi Diwas
9-October-2021: World Post Office Day
20-November-2021: Africa Industrialization Day
Maharashtra government announced that it has
decided to introduce Rajiv Gandhi Award for
firms that are excelling in the Information
Technology (IT) sector in the state. The Rajiv
Gandhi Award for excellence in the IT sector will
be conferred upon institutions and companies
for their outstanding performance in the IT sector
on August 20, on the occasion of the birth
anniversary of the late Rajiv Gandhi. Rajiv
Gandhi had served as the sixth Prime Minister of
India between 1984 and 1989.

Some former PM of India -

Dr. Manmohan Singh - May 22, 2004 - May 26,
2014

Shri Atal Bihari Vajpayee - March 19, 1998 -
May 22, 2004

Shri Inder Kumar Guijral - April 21, 1997 - March
19, 1998

Shri H. D. Deve Gowda - June 1, 1996 - April
21, 1997

Multi
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Ans.112(3)

Ans.113(1)

Ans.114(2)

Ans.115 (1)

Ans.116 (4)

Ans.117 (2)

Ans.118 (5)

Fb:-

Tennis player Andy Murray clinched his second
ATP Challenger Tour title of the season,
Surbiton Trophy in June 2023.

He becomes the oldest grass-court champion at
an ATP Challenger Tour event.

He beat Austrian Jurij Rodionov 6-3, 6-2 in the
final.

It was his first singles title on grass since
winning Wimbledon in 2016.

Punjab National Bank has launched an IVR-
based UPI solution - UPI 123PAY, making it the
1st public sector bank to do so.

The UPI 123PAY solution will allow users to
perform UPI transactions from any phone.

The solution is available in multiple languages
and can be accessed by dialing 9188-123-123.
IDFC First Bank, City Union Bank, and NSDL
Payments Bank have also gone live on IVR
payments.

The Education Ministry will host the 4th and final
Education Working Group (EdWG) Meeting
under India's G20 presidency in Pune from the
19th to the 21st June.

The theme of the Meeting is “Ensuring
Foundation Literacy and Numeracy, especially in
the context of blended learning”.

The Meeting will culminate with the Education
Ministerial meeting on the 22nd of June.

South Africa grants a patent relating to a “food
container based on fractal geometry” to an
artificial intelligence (Al) system called DABUS.
DABUS (which stands for “device for the
autonomous bootstrapping of unified sentience”)
is an Al system created by Stephen Thaler, a
pioneer in the field of Al and programming. The
system simulates human brainstorming and
creates new inventions.

About South Africa -

Capitals: Cape Town, Pretoria, Bloemfontein
Currency: South African rand

President: Cyril Ramaphosa

Forbes’ latest Global 2000 list has ranked
Billionaire Mukesh Ambani’s Reliance Industries
Limited as the highest-ranking Indian company,
climbing from the 53rd to the 45th spot this year.
The top spot on the list is held by JPMorgan,
followed by Saudi oil giant Aramco, and three
giant-sized state-owned Chinese banks.

The State Bank of India has climbed up to the
77th position from its previous rank of 105th in
the 2022 ranking.

However, Tata Consultancy Services (TCS) saw
a slip in rank from 384 last year to 387 this year.
Notably, 55 Indian firms made it to the list.

Iran’s new President Ebrahim Raisi named the
chairman of a powerful state-owned foundation
sanctioned by the United States as his first vice-
president. Mohammad Mokhber has for years
headed the foundation known as Setad or the
Execution of Imam Khomeini’'s order. Mokhber
was appointed to the position by the supreme
leader Ayatollah Ali Khamenei in 2007.

About Iran -

Capital: Tehran

President: Ebrahim Raisi

Currency: Iranian rial

Supreme leader: Ali Khamenei

Official language: Persian

UNICEF India and Facebook have launched a
one-year joint initiative on ending violence
against children with a special focus on online
safety.

Ans.119 (1)
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Ans.127(2)

Ans.128(2)

8 | Page

The partnership seeks to create a safe
environment for children online and offline.

It aims to improve children’s resilience and
capacity to access the digital world safely,

increase awareness on violence against
children.

About UNICEF -

Headquarters: New York, United States of
America

Executive Director: Henrietta H Fore

Founded: 11 December 1946

The Reserve Bank of India (RBI) has started a
public awareness campaign to warn people
against digital banking frauds. For the new
campaign, RBI has roped in Olympic Gold
medalist Neeraj Chopra. Internet Banking Fraud
is a fraud or theft committed using online
technology to illegally remove money from a
bank account and/or transfer money to an
account in a different bank.

Meghalaya state government has launched
"Rural Backyard Piggery Scheme" for welfare of
farmers under National Livestock Mission at
Byrnihat in Ri-Bhoi district.

Meghalaya Chief Minister Conrad K Sangma
has stated the state’s “Progress” scheme aims
to ensure that the farmers earn a sustainable
livelihood through different livestock farming
activities.

Under Rural Backyard Piggery Scheme — phase
1, the government has earmarked Rs 15.18
crore under which_four high-yielding improved
varieties will be distributed to 6000 families.
Under this mission, zero interest loan is provided
for setting up fattening and pig breeding. So far
250 piggery cooperative societies have availed
loans amounting to Rs 43.67 crore.

Under this scheme 4 piglets, 3 female and 1
male piglet will be distributed to farmers to
promote pig breeding to provide regular income
to farmers.

This scheme is envisaged to benefit 6000 poor
and marginal farmers and also increase pork
production in the state.

The Shockwave Rider is a science fiction novel
by John Brunner, originally published in 1975. It
is notable for its hero's use of computer hacking
skills to escape pursuit in a dystopian future, and
for the coining of the word "worm" to describe a
program that propagates itself through a
computer network.

Microsoft Office is a set of interrelated desktop
applications, servers and services, collectively
referred to as an office Application suite.

English Scientist Tim Berners-Lee invented the
World Wide Web in 1989

Software is a sequence of instructions designed
to direct the computer to perform certain
functions.

Windows Vista, Ubuntu, BeOS and Unix are the
Operating system. ARM is the processor.
Retrieve is defined as to find and bring or to
bring back or restore. An example of retrieve is
to recover lost files on a computer.

Zipping is the act of packaging a set of files into
a single file or archive that is called a zip file.
Constraints are the rules that we can apply on
the type of data in a table. That is, we can
specify the limit on the type of data that can be
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stored in a particular column in a table using
constraints.

In its simplest form, a peer-to-peer (P2P)
network is created when two or more PCs are
connected and share resources without going
through a separate server computer.

ASCIl abbreviated from American Standard
Code for Information Interchange, is a character-
encoding scheme. Originally based on the
English alphabet, it encodes 128 specified
characters into 7-bit binary integers as shown by
the ASCII chart on the right.

Field Size sets the maximum space available for
any one value. In computer science, the
Boolean data type is a data type that has one of
two possible values (usually denoted true and
false).

Computer chips are made of silicon, which is a
semiconductor, and in order to make the most
efficient use of it, chip manufacturers use sand
that contains as much silicon as possible.
Repetition of data in the DBMS was called as
Data Redundancy.

Network server is the most important/Powerful
computer in a typical network.

The majority of communications satellites are in
fact geostationary satellites. Geostationary
satellites like geosynchronous satellites take 24
hours to complete a rotation. However,
geostationary satellites are positioned directly
over the equator and their path follows the
equatorial plane of the Earth.

ULSI (Ultra Large Scale Integration) as CPU
components and Al (Artificial Intelligence) are
main features of the fifth generation. ULSI has
more than million components integrated in
single chip. The capability of thinking and self-
decision making is equipped with computer. Fifth
generation language (After 1990) is an advance
high level or very high level language is used in
this generation.

Dot pitch, or "pixel pitch," is a measurement that
defines the sharpness of a display. It measures
the distance between the dots used to display
the image on the screen. This distance is very
small and is typically measured in fractions of
millimeters. Smaller the dot pitch, sharper the
picture.

Printer is a peripheral device which is used to
show processed data.

WInRAR is a Utility Software. WIinRAR is a
Windows data compression tool that focuses on
the RAR and ZIP data compression formats for
all Windows users.

Printers have a limited amount of memory, often
times much smaller than the size of a document
that we want to print. Printer spooling allows us
to send large documents, or multiple documents,
to a printer and not have to wait for it to finish
printing before continuing on to your next task.
Security Management is one of the critical
portions in network security that ensures safety
of network, data and systems.

E-cash is a payment system designed and
implemented for making purchases over open
networks such as the Internet. All are sub
protocols of it.

All IP addresses are made up of four parts
(quadrants) separated by dots, like this:
XXX XXX XXX XXX Where each XXX can be
any number between 0 and 255. Each of these
numbers are stored in 8 bits (binary digits), and
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the number of possibilities you can have is 2
raised to the power of 8, which is 256 (0-255).
The images in the computer are saved with the
extension .jpeg

Chrome is the Application software. That are
used to perform specific task

The Motherboard is the main circuit board for the
computer, containing both soldered, non-
removable components along with sockets or
slots for components that can be removed.
The motherboard holds the CPU, RAM and
ROM chips, etc.

A cell reference refers to a cell or a range of
cells on a worksheet and can be used in a
formula so that Microsoft Office Excel can find
the values or data that you want that formula to
calculate.

To permanently delete a file; Select the item you
want to delete. Press and hold the Shift key,
then press the Delete key on your keyboard.
Because you cannot undo this, you will be asked
to confirm that you want to delete the file or
folder.

Mainframe computers are generally known for
their large size, amount of storage, processing
power and high level of reliability. They are
primarily used by large organizations for
mission-critical applications requiring  high
volumes of data processing.

Computer-aided design (CAD) is the use of
computer systems to assist in the creation,
modification, analysis, or optimization of a
design. CAD software is used to increase the
productivity of the designer, improve the quality
of design, improve communications through
documentation, and to create a database for
manufacturing.

System files are created and maintained by the
operating system and are necessary for the
system to perform its many functions. System
files are used by many commands and
subroutines to perform operations. These files
can only be changed by a user with root
authority.

An entity relationship model, also called an
entity-relationship (ER) diagram, is a graphical
representation of entities and their relationships
to each other. An entity can be a real-world
object that can be easily identifiable. For
example, in a school database, students,
teachers, classes, and courses offered can be
considered as entities.

A workbook is another word for Excel file. When
we start Excel, we click Blank workbook to
create an Excel workbook from scratch.
Multiplication is the repeated Addition.

ENIAC was the first digital computer and it was
invented by J.Presper Eckert and John Mauchly
at the University of Pennsylvania and began
construction in 1943.

NAND and NOR gates are the universal gates,
Since it is the combination of all three major
gates AND, OR and NOT.

A term used to describe the process of
searching for, locating, and returning data. For
example, a user may retrieve a document on
a computer to be viewed or modified.

BIOS (basic input/output system) is the program
a personal computer's microprocessor uses to
get the computer system started after you turn it
on. It also manages data flow between the
computer's operating system and attached
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devices such as the hard disk, video adapter,
keyboard, mouse and printer.

A thesaurus is a software tool included with
some word processors that provides synonyms
for selected words on command. Users using
Microsoft Word can open a Thesaurus by
highlighting the word they want to look up and
pressing the shortcut key Shift+F7.

FoxPro is a text-based procedurally oriented
programming language and DBMS, originally
published by Fox Software and later by
Microsoft, for MS-DOS, Windows, Macintosh,
and UNIX.

In B, replace the base form verb ARGUE with
ARGUED as the present perfect tense
construction HAVE + VERB will take the past
participle form of the verb.

In C, replace the base form verb PRODUCE with
PRODUCED as the passive voice construction
IS + VERB will take the past participle form of
the verb.

In D, replace the adverb POTENTIALLY with the
adjective POTENTIAL as it is being used to
modify the noun PRESSURE.

In B, replace the singular verb OFFERS with the
plural OFFER as the subject DECISIONS is
plural.

The sentence is grammatically and meaningfully
correct, which makes (5) the right answer.

The sentence talks about how air conditioning
represents a huge portion of electricity
consumption. Both 1 and 2 can replace the
highlighted phrase and convey the requisite
meaning.

3 is incorrect as IN LARGE PART means to a
great extent, which would not render meaning in
the context.

We need a phrase here that begins with a verb
in the singular form. The sentence tells us how
widening internet access has made collaboration
realistic. Only 1 can replace the phrase and
convey the requisite meaning.

2 and 3 are incorrect as neither of them can be
followed by the adjective clause MORE
REALISTIC. The highlighted phrase is incorrect
as it uses the plural verb HAVE in place of the
singular HAS when the subject is referring to a
single activity.

The sentence seeks to convey that several
countries have used incentives to manage the
demographic and economic challenges of an
aging population. We need a verb in the base
form to fit in the infinitive construction
TO+VERB. We need to replace COPING with
COPE. Thus, 1 is correct. TO DEAL WITH
something means to take action in order to
achieve something or in order to solve a
problem. It can fit contextually. TO CARRY ON
means to continue an activity or task. It cannot fit
contextually.

Ans.(169-173) ABEDCGEF is the correct sequence. A begins

Fb:-

the passage by establishing the subject-
innovations throughout history and their impact
on our lives. B follows A. It cites the example of
telephone. E follows B. It talks about how the
adoption of telephone increased gradually over
the span of 60 years. D is the fourth statement-
It talks about the introduction of assembly line in
car manufacturing and how the increase in
affordability led to an increase in the ownership
of cars. C follows D. It talks about air travel,

Ans.169(1)
Ans.170(4)
Ans.171(4)
Ans.172(2)
Ans.173(5)
Ans.174(2)

Ans.175(4)

Ans.176(1)

Ans.177(3)

10 | Page

which became popular after the second world
war. G follows C. It talks about innovations in
recent times and how they do not take much
time to have an impact. F ends the passage. It
begins with the conjunction HOWEVER, which is
used to link contrasting statements. F talks
about the decreasing lifespan of the recent
innovations.

Americans spend hours on commuting to and
from work every day. Hence, the boredom of
such long commutes can be negated with
entertainment from podcasts. Refer to the
passage — "..maybe it's just how much time
people need to Kkill listening to something.
Americans spend more than three hours a day
commuting, working out and doing household
chores that can be accompanied by audio
entertainment..."

A is incorrect because the passage does not
claim that loneliness has boosted the preference
for podcasts.

C is incorrect because the question does not ask
about those who lead a hectic life because of
household chores.

D is incorrect because the passage does not
mention this.

E is incorrect because this is not unique to
working Americans but may apply to any
listener.

ESOTERIC means something that is understood
by a small or specific group of people with a
certain interest. In the passage, ESOTERIC
has been used to refer to Mars' podcasts which
had a theme of design and was thus, considered
to be a show appealing to a small group of
people. ARCANE also means something that is
understood by few. Hence, D is the correct
answer.

Obtuse - annoyingly slow to understand,
Chronic — persistent, Vain — extremely proud,
Fabricated — untrue.

A, B, C and E are unrelated words.

(2) is the correct answer because paragraph 3 of
the passage tells us that while television ads can
be easily and are more readily skipped,
advertisements during podcasts tend to have a
greater impact, probably because they are
voiced by the host of the show. Refer to the
passage — "At a time when people can easily
skip TV ads, messages from sponsors on
podcasts have a way of sinking in, especially
when they're read by the hosts of the show
themselves, analysts say."

B is incorrect because even though the
familiarity of the host who voices the ads on
podcasts affects the impact upon the reader, the
passage does not claim that ads during
podcasts are necessarily shorter than those
during television shows.

C is incorrect because the passage does not
make any such claims.

D is incorrect because podcasting is no longer a
hobbyist activity, it was so five years ago.

(3) is the correct answer because paragraph 3 of
the passage tells us that with smartphones and
Bluetooth-enabled cars, consumers no longer
need to go through the trouble of downloading
shows from iTunes on a computer and sync that
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to their iPods, thereby increasing the popularity
of podcasts. Refer to the passage -
“Smartphones and Bluetooth-enabled cars have
made it easy for listeners to load up their
favorite programmes. Instead of downloading
them from iTunes on to a computer and syncing
with an iPod, listeners can grab shows straight
on to their smartphones.”

A is incorrect because the passage makes no
such claim.

B is incorrect because even though the passage
tells us that the NPR is losing popularity as
compared to podcasts, it does not claim it is
becoming obscure and that has caused the hype
around podcasts.

E is incorrect because no such details have
been mentioned in the passage.

WRITING IS ON THE WALL means that there is
some imminent danger or that something
unpleasant will occur soon. This has been said
with regard to NPR, because the final paragraph
of the passage quotes Mars on how he is a fan
of the NPR but now that he can reach his
listeners much more directly through podcasts,
the fate of NPR is faced with approaching
danger. Refer to the passage — "He said: “They
have a great reach and I'm a huge fan of NPR,
but right now, if I'm able to reach my audience
directly through podcasts, the writing is on the
wall"."

A is incorrect because the phrase would not be
applicable if only the constantly rising popularity
of podcasts was being referred to.

B is incorrect because though it talks about the
fate of the NPR with regard to that of podcasts,
the statement has not explained why exactly the
phrase has been used.

C is incorrect because this has been stated as a
fact but it has nothing to do with the phrase
used.

D is incorrect because the opposite has been
stated in the passage.

(2) is the correct answer because the passage
begins with how podcasts initially failed to gain
popularity but builds up to how they have now
become extremely popular. Various reasons
have been stated throughout the passage and
how podcasts have become popular with
listeners, producers, advertisers, etc.

A is incorrect because while there has been a
comparison between podcasts when they were
started and podcasts now, it is not the central
issue in the passage.

C is incorrect because this takes up a minor part
of the passage and has been stated more as an
example than the main topic of discussion.

D is incorrect because the role of listeners with
regard to producers making money from
podcasts has not been elaborated upon in the
passage.

Both A and B state correct statements. The
passage tells us that the duration of 99%
invisible was under 5 minutes, short enough to
be aired between NPR shows, so Mars' show
was almost invisible. The passage also states
that Mars could not use any studio for it or had
no employees or helping hands, he aired it from
his own bedroom and wrote, narrated and
produced it himself. This rendered it virtual
invisibility.

D is incorrect because it is untrue, when the
show was started podcasts had not become as
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popular and were in fact, considered clunky and
nonprofitable.

E is incorrect because the show has not been
named 99% Invisible after it gained a spot on
the list of top 20 podcasts. It had been named
so when podcasts were almost invisible, so the
name is appropriate.
BOON means a thing

that is helpful or

beneficial. BLESSING and PRIVILEGE are
synonyms, while CURSE and BANE are
antonyms.

LUSH means (of vegetation, especially grass)
growing luxuriantly. PREDICAMENT means a
difficult, unpleasant, or embarrassing situation.
LUMINOUS means giving off light; bright or
shining. PLIGHT means a dangerous, difficult,
or otherwise unfortunate situation.
ILLUSTRIOUS means well known, respected,
and admired for past achievements. EMINENT
and ACCLAIMED are synonyms, while
UNKNOWN and OBSCURE are antonyms.
PROFUSE means (especially of something
offered or discharged) very plentiful; abundant.
SCARCE means (especially of food, money, or
some other resource) insufficient for the
demand.

PRODIGAL means spending money or using
resources freely and recklessly; wastefully
extravagant. THRIFTY means using money and
other resources carefully and not wastefully.
GENERIC means characteristic of or relating to
a class or group of things; not specific.
GENERAL and COMMON are synonyms, while
PARTICULAR and SPECIFIC are antonyms.
EXACT means not approximated in any way.
ERRATIC means not even or regular in pattern
or movement.

PRECISE means marked by exactness and
accuracy of expression or detail. ERRONEOUS
means wrong; incorrect.

Complexion- General aspect of something
Favoured — Made it favourite

Thereby is correct usage here.

Equivocation — Use of ambiguous language to
hide truth

To is correct usage here.

Employs —working above someone

Miniature — small models

Setback — defeat

Eventually — At last

Tampering — Spoiling something

Because the passage tells us that he cared
about the safety of his troop, which is evidenced
by the fact that he warned the author about the
kind of dangers he might encounter and what to
do in such situations. Hence, D is the correct
answer.

A is incorrect because the commander did
establish his authority in the way he called his
troops, but he also displayed friendliness and
some sense of humour to ease the
apprehension of his troop member.

B is incorrect because experience as a ranger
does not necessarily mean he is a good leader.
C is incorrect because the reasons behind his
election have not been provided and we have
not been told about the method of election
either.

E is incorrect because the passage does not
make any such claims.

Because both A and D represent true
statements. Paragraph 3 of the passage tells us
that since the 1940s, these rangers have served
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as protectors and scouts of the region. Also, the
fact that their tradition of scouting, hunting and
serving as native protectors has been carried
down through generations and still continues to
be carried forward since the rangers are training
more troops. Thus, the passage tells us both
about the history of and the political climate in
which the rangers have survived.

B is incorrect because the passage talks about
how the rangers train troops, partake in pre-war
games and how they protect the land but does
not mention warfare.

D is incorrect because it states the opposite, the
rangers have been victims not perpetrators of
government negligence and corruption since we
are told that they and their efforts are still largely
unknown, they use decades-old equipment and
that they have been made questionable
promises to.

Because even though the weather is freezing
and gray, the mood is lightened by the
commander’s friendly nature and jokes about
the possible dangers.

A is incorrect because the passage does not
only talk about these grim tasks but also about
other aspects such as the commander’s actions,
personality, the role of the rangers as guardians,
etc., which are not entirely consistent with the
gray and frigid weather.

B is incorrect because even though the passage
talks about rangers who live in amid constant
danger, there is some humour to lighten the
mood which is inconsistent with the gray and
frigid weather.

D is incorrect because there is no instance of a
lively personal comment from the author
herself/himself.

UNTAPPED means yet to be explored. In the
passage, UNTAPPED has been used to
describe the large parts of the Arctic which are
yet to be traversed and inspected by agents of
the government which is why they are
reappraising the rangers. EXPLOITED means
explored and taken advantage of, in this case of
the resources which the Arctic has to offer. It is
opposite in meaning to UNTAPPED.

Concealed — hidden, Endangered — threatened,
Marooned — deserted, Imprudent — foolish.

D is similar in meaning, B, C and E are unrelated
words.

Because paragraph 2 of the passage tells us
that it was too cold for the author to physically
note down all that the commander was saying,
but mentally the author took notes by reading
into the scars he could see on the faces of his
fellow troop members, scars which told stories of
survival. Refer to the passage — “It was too cold
to take notes, so | watched faces and read the
frosthite scars, little badges of honor that told of
lives spent outdoors on one of the planet’'s most
unyielding landscapes.”

A is incorrect because the author does not
depend on facial expression or body language to
take notes.

B is incorrect because nothing of the sort is
mentioned.

D is incorrect because the author observes how
the members of the troop protect themselves
from the cold, but does not take notes from this
observation.

E is incorrect because while the author tells us
about the equipment and training methods of the
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rangers, he himself does not take notes from
these.

Because paragraph 3 of the passage tells us
that just like most people do not know much
about the far north, most people do not know
much about these rangers either. Moreover, the
neglect they face using age-old rifles and
surviving on the bare minimum shows that they
are still obscure. Refer to the passage — “Their
role, like the far north itself, isn’t well-known, and
the rangers have always managed to keep going
on shoestring budgets and hand-me-down
equipment, including government-issued bolt-
action rifles made in the 1940s and stamped
with the British crown.”

A is incorrect because this does not necessarily
make the rangers obscure, a backup team might
also be in prominence.

C is incorrect because this explains why the far
north is still obscure, not why the rangers are
obscure.

D is incorrect because only B is the correct
answer.

E is the correct answer because the passage
does not make any such claims.

Because paragraph 3 of the passage tells us
about the several roles that the Canadian
rangers play, including how they train the regular
troops in survival skills — they teach them
navigation, how to build igloos and how to battle
the cold in general. Refer to the passage -
“Most rangers in the far north are indigenous
volunteers, and over the years they've acted as
scouts, participated in war games, and helped
regular troops learn to build igloos, navigate the
tundra, and generally stay alive in the cold.”

A is incorrect because hunting, ice fishing and
scouting have been mentioned as the activities
of the rangers, not what they teach regular
troops as survival skills.

C is incorrect because the author mentions how
the troops keep warm by wearing certain kinds
of clothes, but this has not been mentioned as
something taught by them as survival tactics.

D is incorrect because usage of the outdated
weaponry has not been mentioned as something
taught by them as survival tactics, but only as
something they use the guard the region.

HINDI
Ans.202(5) Ans.203(1) Ans.204(2)
Ans.206(4) Ans.207(5) Ans.208(1)
Ans.210(1) Ans.211(3) Ans.212(2)
Ans.214(1) Ans.215(3) Ans.216(4)
Ans.218(5) Ans.219(2) Ans.220(5)
ANns.222(2) Ans.223(2) Ans.224(4)
Ans.226(4) Ans.227(2) Ans.228(1)
Ans.230(2) Ans.231(5) Ans.232(3)
Ans.234(5) Ans.235(3) Ans.236(5)
Ans.238(1) Ans.239(2) Ans.240(3)
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TE AWM /ISl R /URIET BT A ITR—GRAD] IR ALY R HIAT BT | TTDHI ITR—gRADHT H FeiRa o=
R YAT BRIER 4T BRAT BRI | S a2l &l g8 oRE W UTa [T ST anfgy, fTae! 1 &R R JATd! IAR—gRIahT
BT YAib el AT ST AR 3MUP! ‘A’ 3 3T ST |

(6) TR daa RS AT =P /= A YT gRT STR— IRAPT TRIRTS e HRT F T Aol DI G TRE H @D DR
fagman ST =2y |

(7) OMR SR gRA®ST &I o A9 g1 Sfian SR | It foedl Reafdr % Suaier SMar, smaes ud # &1 11 SiHarT
W 37T YR Y, Al JAMAGD BT AT R B AT STRATT |

(8) fes o orgwfd e @ arg & BT WIe FHel BIS WhT ¢ |

9) Wgﬁ@%ﬁﬁﬁmmmﬁﬁﬁwwﬂwﬁw FIIATE /A & I SRR 9= ST
Fobdl T |

(10) forat et 81 | A Siedl iR AEeT | UeHl &7 IR < | HY FaTd Bfod 8 Fad & 3R AR M 8 Ahd
g | B o1 oo R Surer 99y T8l {9y |

(11) AEEa B AR IRREE HIR IYSI, Wl Fef /HHN H R de 9 UfERd 2| dig W1 dgd 30 AdIsd & A
frdl arRe FaR SUSBRY BT §¢ FRa Wl MU U el @ AHdT | FTRH $T Seatae dR R AMded & [dwg Sfud
HIRIATE! BT SR 3R IHHT e A PR fowar S waar ¢ |

(12) STR—uF W DIS IH G A8l fbar ST A1y |

(13) ®1E W SHICaR el QT B | Ugel UNIe dhel el Bl dHhdl ¢ |
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Reasoning

= (1-5) R < TS TR B e U SR fRfoad st &1 W

Fb:-

2l

IRE SR Th Hb A 93 & S HRiTH 3 < gumieR dfgar
Bl & o & yde uifeks o8 i 8d €, 59 aXe A b o
| 3 oite J 8 &icll 81 Ufekd 1: A, B, C, D, E SIRF 3§
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%ﬁ?ﬁqﬁﬁﬂﬁeﬂ?www@%

*14315%
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%%g
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%%g
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Z
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' e ﬁwuﬁﬁ%mwﬁm
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3TIYeh T el g

arff SR & AT 93 §, S I e & 218 3R GER RIM W
g R uddiar fbdbex 9 TR 21 E e widiar
fepepex gIfice TSyl § 39 e & a1 3R IR RIF TR 967 2
Sl I 1T UG el § SR ST Ufekt o 3ifeH SR W et o

@3%%%

i

8, 39 Al &1 I AT &, SN 39 e & aT8 SR g RIH
R a1 &, e widial fhdbex YanaR 2| a8 afad, i
qgdier fbdbex e g Ufad 2 H et 2 3R Ol =< Bl W
P dTdl Al BT YT BT 8| Q I Al T AT HRl &
S o9 WY B G AT g1 R I AN P S S3aT & S &
3R I T TS HRA &1 F I AT BT JAT BT & ST
7 3R B g @RI fhdher o TRie FRaT 8| I8 Afa, Gﬁw
T1 H) U IRAT 7, I Afdd b 918 3R GIRT RIF | So1 8
S et 7 Y URig Rl § SR 39 MG & & SR G RIF
R 93dT & S R e dar g1 T 3R R 3 Afqal b1 AT
B & P v et fhdbex A gifde U 3R YaaR 81 P
T UG g} BT § 3R 3 AT BT AT Il 5, Sl Wb
e el g

N THGR & Yey § Rafifad 3 @ S 91 9 93 87

(1) Q - ST - YaaR (2) F - Taelt - g1 g
(3) D - @ - Afgd (4)S - & - Bw g @R
(5) STH Y PI ol

39 AT BT GHEIST I T §, ST I SAfdd BT FHAT Bl 8,
forgeT ggdlar fbder Afed B2

(1) ghg (2) AT
(3) et . @)
(5) T A PIS 8T

S IFBRT & J&Y F g § QB A TR 99 82
(1) P B! HIR IS BT 3

(2) S U1 TE BT § 3R R & Tl a1 3R dod gl
(3) B I o1l U¥iE g

(4) D C 3R EF dopTcd TS

(5) 8 I PIS 751

U % o1 SR IR M R SH 93182
(MR Q
®3)s 4)cC

(5)F

afifad § 3 &H AR ueig B 82
(MR @T

B3)P (4) A

(5) T8 A PIS 75!

6.

10.

11.
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BE Bd, I, IR, frdl, smve, W9 SR a1 &I T <9 &
ST SfET AR o 3T T §] His o Wret AR e g
<l el 1 A 3R SR S il W1 1 % 3R SR Dl $0E &
3l 2 @1 T ) T B Bl SR SR R & St a1 T g
fordt B e b Sp HW @ &Pgsﬁ?amaﬁﬁaiﬁqﬁ
T T B e A ¥ o e &t <fidan siamnt & war mar g2
(1) fopdit (2) %G

@3) = (4) Fyfia =81 foban o wpen
(5) STH AP TaI

33T (7-8): TWUH T Q HU | 3R 11 U T §) 31Ul 75 79 Hr & 6

FHYT H & T THSHRI IR 37 F fore v 8 an 78|

I R A, B, C, D, E 3R F &) B afte &7 udie & S f @,
e, e, Fra, 437 SR AR ) e A R 5 arer 1 o 87
1. C 1 =11 &) diar 1 € Jareh TRig 8] D I BIe UNE g

I1. £ ST 1T € 71t T € 43T TN BB Y el g g

(1) % BT | H & Tl SR Uy BT ST 31 & o e B,
Safe b &y 11 7 <) 1 JHeRt IIR 3 & foru vaf T8 @)
(2) b Y= 11 § & Tl BRI Uy BT IR 31 & o Tl |,
Safp Rith U | § €1 7T PRI IR 37 & g v 81 7
(3) T % Sy | a1 R &y 1 7 <t el SR e &
fere vt 3
(4)aﬁ=h$u=r|sﬁ?nﬁa‘1ﬂ'a‘ﬂ’ﬁfaﬂ$rﬁwéﬁ$m
ot e ]

(5) T FY | ofR 11 7 & T HgH THPRT I a7 & g
HTT® |

A AP, QR S, T, UMV TG GRIAFS I RIS [ S U
A fpai R doT 87

LQPFH 6mUBHAISTZRQ IR TF HA TSI INTU S
4m URA H ST 8| V R & 7m URH H 93T 3| S V F 5m fémr &
JBTRIQ T F 10m ITWA BT

In. Qv$10mwujﬁéa%3ﬁ?v R 7m UfA & 9377 3R
RU P IR IR HSaT]

(1) 4% o | H & TR SR U BT ST 3 & fow | g,
e Rt U 1| A €1 TS TSR TR 3 & oy vaied el |

(2) Ryt o 11 7 & Tl TR Uy b1 SR 39 & R vl g,
e Rth U | A € TS SHBR) IR 2 & oy waied e 2

(3) T Y Y% Sy | a1 R By 11 7 < R TRl SR e &
forg uafa B

(@) < BY 1 SR 11 H &l TS WG TSR IR & b g
I el 3|

(5) Tl BY 1 3R 11 # &l TS IR THBRI IR & b g
TS g

=T (9-13): U 7T IF&HRY & SR W FaTel & IR 3|

TP I U1

“check the results again tomorrow” HIHIS § "ab hb gb vb jb"
“results passes today” T Ak "kb jb tb”

“the time passes out” Wﬁg% "sb kb ob vb”

“check here again” PHIHIS  "ab yb hb”

few T Y H g § B 59 weg BT IS "hb" B2
(1) results (2) again

(3) check (4) the

(5) Fruffea =2t foam s gpar

9 o @ st H1 'ob gb' 82
(1) time tomorrow

@ Ta M)A Q)

(5) here out

'again’ P HIS T G2

(1) vb

@) ard @) ar

(5) Fraffea =gt fovan s war

(2) out tomorrow
(4) passes out

(2) hb
(4) ab
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12.

13.

14.

TG 'today’ BT HIS T GIIT?

(1) hb 2) I IS TH
(3) ob @ jb

(5) tb

T T HIWT & "the" BT HIS T IIN?

(1) sb (2) ob

() vb @ jb

(5) T4l (2) T (3)
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v A AafRud o ST © o 7 d Wea AT BR ¥ S ofeR
IR T P o fba TR 72
(1) 4
@)5
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=T (15-17): AU T TR} & YR R TaTal & IR Q|

15.

16.
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P$Q-PQPH UEHH g
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PO 0 W TS Ui B A e & v 93
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H 3R F & o9 Bt gdad g fra 82

(1) 15m (2) 5m

(3) 10m (4) 12m
(5) 3T I F13 TRl
ISy d cfrafRma g

(1) ITR-T3H (2) W

(3) afam (4) R&ror-ufym
(5) TR I F1S TRl

B g H D BT I RIM 77

(1) <f&or (2) aféor-gd
(3) SR-URH @) gd

(5) S99 A BIS 781

&= (18-21) = & 12 TR &Y @ ¥ U R Fiifad vt &

18.

19.

Fb:-

IR

AB 31&f 39 ORT W & b A IR =T H § 3IR B afamwr fezn # g1
DY STRE AP culdm R A g iR D yd faxn A g1 AB
3fef 3R CD 31&f U fig X TR 39 e I UfTwig Hd g b AX
16 ex §, XB 23 MR 8, XC 27 Hiex § 3R XD 21 Hiex B

9fd fig D ¥ a1 Y= I § SR cfdor fomm & 26 Hiex
It § 3R R 98 a1 gaft § SR 36 Hiex Tadt g1 34 foig
B & 0l & PRl & AR gd = 4 3 wiiex =adr ¢ SR
I gSal § 3R 25 Hex gaar g1 e g ¢ & g1 L&
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AT 2 3R 42 e T 2
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?

(1) SR Uz (2) W

(3) féror gd (4) TfEH

(5) AR

I 3R fawrm & sifqw fRufadl & o ved Id @ wee?
(1) 18 m (2)20m

(3)25m (4) 16V3 m

(5)23 m

20.

21.

22.

23.

24.

25.

26.

27.

28.
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IHT 1 Sifqr U & Ty # vy &t uRfye fRufq & fexn

pik o
m (2) cf&ror

(3) Uiy (4) @R

(5) af&or ufgm

S oifam g @ 4R 135° ) ¥ R R & gedt 3 ok
iR 45° T} & fIudia fe=m & gedt 3R fhv 2250 udt bt famm
# gt 31 bR SR # 9 o farmm &1 et et &7

(1) aféror ufdm (2) SR
(3) SR UlEH (4) <faor gd
(5) 79 A PIS TRl

=T (22-26):3T T THER & 3MUR TR GaTa! & IR ¢

T safad, P ¥ X U Al a0 &b SHARA & i f a0 R I8 ¢, S8t
T faa 99 1 ], 3P SW &1 dd 2 8 3R 3 aRg| 3
Td% & firet firet 1 o ® N b e, bren, 3, &9, o, e,
frefr, Terret SR AR g

R U & 3l SR IEdT § 3R U T TH J&I1 & dal R @1 3| &
EI R 3R T & o9 8d & 3R T &I a1t U< 8| b At 3
FfIsl & ot Year & e omer ok e weie 3] Q 39 fad &
3o FWR 5a1 8, O ten weig 8| Wb AR Q iR P & g
5 § 3R P Y RN UNE B X BT T UG 7 3R I8 R &b
g B[ e X 3R I e & & I8 & o o o¥ig g T
FRATE U P Y 08 8| WV & 31 SR I8 8] FH T HH 3
fER s 3R X & § T@d B el &) ulig A a1l oAt g1

TRiE B aTe ek b 3l HUR @l g
_ PIEE T g

(1 Q 2w
3)Uu (4) Fraffea =2t fovan s wemar
(5) 79 A PIS el

P afd s AR wa S

(16 )7
(3)4 45
(5) 79 A PIS TRl

A 9 frd s e 87

(DR 2)s
3)P (4)U
(5) S99 A BIS 751
TaH I W S 381 82

mP @)W
3)R 4)Q
(5) 9 A PIS el

39 wfdd & = b i Ted & O TR o 92
(14 2)2
(3)3 @1
(5) FReffa et fovar s gepar

3= (27-28): AT U SIHER & SMYR W aTa! & SR 3

A % B HT HIAT A B P U g;
A@BHTHATT AB BT E;
A $ B BT HIS A B BT HIE &
A & B BT HAAT A B B T &;
A * B % HIAT A B B 98 g

gfe U R B UIdl/AaRR 8, O g 7 ¥ 9 91 TTad 87
(1) URT%S@R@Q%P (2) RAT%S@Q%UP@U

(3) URC@R%S@Q%P (4) QRT$URSAC%R@D
(5) ST AP el
I G@F*E*D@B@C%A B, Il E C ¥ H Trsfid 87
(1) dgd (2) S
@) Oil/Fat (@) T
(5) RIS I
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TH URAR & 313 TG P A W TF, TH I & B 3R Yol &
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& B AT A A1 faisht B e ¥ oifie g uRaR A

¥

T 3.V U ¥ ard ﬁ?ﬁﬂ%w——rwéa%m%
mﬁvsﬁww%aﬁﬁa%w P SHAT g 8| P QP T H
T GT ]| TV & &77d H 76l 961 8] Q F S/ P & oIt
I3 § 3R Fx J TEX BT YA B &) W 3R R &7 o arem
W%Mﬂ‘rwaﬁ?w%mﬁaﬁmﬂ%wﬁﬁﬁuﬂa%m
T AT B 8| R Yol & 7eg | T8 Jo1 g

29. fONH &1 E $Y|

(MR )V
(3)u @P
(5)Q

30. TVIFYIERTR?
(1) |IaT (2) §R
(3) &7 , (4) forar
(5) ST A P1S 8T

31, VI TFHABIBTR?
(Ms (@R
)T (A (2) (4) 3 (1) 3R (2)
(5) e €Y fovar s gepar

32.  SHIUARIMAIBAY, s 3R U & o foba sl 33 &7
(13 (2) 4
3)1 (4)5
(5) 2

33. RIIQHAPHIRIVMS? _
(1)w@r§v (2) a8 iR
@) ILd (4) I8 R
(5) Fruffva =€t forar o gar

34,  TUUYH S HYISR Il foU MU §| U U8 78 HR1 § 5 HuA
T Y 718 BRI IR o & fore yafe § a1 =g

A T F dP B8 Afdd Th I8 dd & ARG H I8d &, SIaf Jag
e 9a 1 3R 39 SW & ad PI 2 3R T R HAT T
e H A BH g Fed 99 W w1 8?

1. Q1 G B 3R F & a1 38 ©, Sl A F 3l SR 6T ¢

I.D EY 2 dd SR BT 8, ol C & 3 SW gl g, Sl Jad
fae 9d R 76T X g

(1) Rith By | § & 7 SR Uy 1 SR 3 & R uafE B,
et Rt B 11 H & 7 SHeR) SR 31 & g gl T8l 3|
(2) % BuT 11 & & TR e R S 39 & ot wai| g, wiefe
4w | I &} T SHERY IR 37 & forg yafa 8t |

(3) T1 Y R Sy 1 a1 b B 1 7 <) T e SR e &
fore yafed g

Qfg:ﬁgm | 3R 11 # & TS e THBRI IW oA & g

Tl
(5) BT HYF | 3R 11 T & TS UgFd TASHR IR A & o
T B

fAEam: (35-39): 719 € 1S STHERT & 3MUR TR U8l & IR Q|
g4c: Santa Stimuli So Astrological Sagittarian Sense
TRUT |: So Santa Stimuli Astrological Sagittarian Sense
TRUT|I: So Sagittarian Santa Stimuli Astrological Sense
TRUT |II: So Sagittarian Astrological Santa Stimuli Sense
TRUT |V: So Sagittarian Astrological Stimuli Santa Sense
TIRUT V: So Sagittarian Astrological Stimuli Sense Santa
TRUTVI: 04051110 14 18
3R TROT V WIS 37YC BT Hfad TR0T §1 SWIad =Ry, H 3y
T e & SER, f4U TTT 7Ye & g w1 SR |
g4c: Basic Batch Citation Recipient Envelope Morning
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35.  3ifqH TR A YA SR I=dd = & o ot T=md 82

ma @
@)= (4) TR
(5) FTH Y P T8I
36. ﬁwﬁmﬁ@vﬁg&%w%aﬁsﬁﬁﬁwwaﬁqw
?
(1) Morning (2) Batch
(3) Recipient (4) Citation
(5) FTH Y P Bl
37. AR H 91T BR T Ugeh 3R 3ifaw T F1 WS fhar 2
(1) 03 () 01
(3) 02 4 12
(5) 379 A PIS el
38. a?glvﬁmamwﬁugﬁ&nﬁaﬁwmwﬁq
qre?
(1) STC R () TR
(3) T I W (4) <8 I AT
(5) 379 A IS el
39. Fofifad & Qo9 91 IuT TR H ‘Basic’ & debTd §18 3R &2
(1) Morning (2) Recipient
(3) Citation (4) Envelope
(5) 379 A PIS el
40. IUUYH A HYA | 3R || 3T T B|SMUD! T8 99 TR © fF
H & T8 TFeR SR 31 & forg vt an |
BE fad, A T F, F U g i Ter & STy gffew aafda &
U ST 1 3iferehad T 82

1. E % U F ¥ 31t STy 8, s ur ¢ & o1fies o g

I F % U Had C I 31 ST 8| E P U A I 31 sl @

WR B Y B, ST U §iay 1 Hfeas e 781 g

(1) Ry By | & & T TSR U BT SR &1 & g waiE@ B,

Safes Rith 4T 11 8 € TS TSR SR &7 & foe vafd 781 g

(2) Rth oy 11 & &) T SRt SR 31 & fore yafi B, wiefe

Ryt U | T &) T TR IR 37 & g v 78 g

3) 1 A R Sy | a1 Ryt e 1 B S R S SR A &

forg uafe g

(@) S BY 1 3R 11 7 TS HGHR TSR IR A b g

i T R

f_y‘s)waﬁg‘fmmshw@aﬁnéﬂgaaawrﬁwéﬁ%ﬁm
|

Quantitative Aptitude

3= (41-45): QU T TS & YR TR Fara! & 3R S
MR @1 B8 Al a1 verar gr1 it R &1 99 7w g
fean war urg =1é JfqaR b1 37 ©§ Ja1 Yardl GRI &9 T R
FTS S T=I HT Yfa=rd fIaRur g=iian g| AdaR B BSNL 3R
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RT3 U Ry 1 & T &1 GRAT Y 150 B g
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48.
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42.

43.
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45.

IR B TERed 3R ASTHH gRT s TN A &1 & T3 BT

ST T Y|

(1) 47 () 2:3
(3) 35 (4) 5:7
(5) 3T QA B3 el

IAJaR B BSNL, 3MMEfear R SiHH gRT 99 T R\ &1 3t
S T 1 Y|

(1) 1680 (2) 1800
(3) 1720 (4) 1920
(5) ST A B el

FofaRea uy & 3 am i &R 1| fau U g SFf 7E B ga
PR AT | SR T 11 P o Tt R B Rfdd a9l fawe
BT g AT g

T 1: FIIR BT BSNL §RT 9 Y R H1S B W AR &
TP GRT 59 U {7 B1S Bt G J 10% HH g TR &I
BSNL ERT 1 TTU Ry T &1 T 1 v

T 11: AR BT {30 gRT o 7T R o718 Bt Wer AqaR &
TP gRT 39 U R\ H1S Bt G q 17% HH 8| IR BT
st gRT 9 U R 1 & T 1 |

(1) HET-| < HEA-11 (2) FEAT-| > HEA-I

(3) HET-| < AEAL-II

(4) THT-| = AE-1l 3R IS Jra el

(5) HHET-1 = A1

IIaR Y, ASFEAT gRT 3 TN Ry H1S 31 I H ¥, 48% WS
R 1€ ok A s R &1E 8, Jafd M gRI 99 MY
s 3R s R B1 B WeAm &7 U HA: 3:2 BRMAAR
I oA SR SIHIH GRI 99 MY Hos Rm H1E o gen &
o BT 3R T Y|

(1) 60 (2) 80
(3) 90 (4) 110
(5) STH I DTS Q!

IR BT BSNL 3R el gR1 92 MU Ry &1 &t $o W
AJaR B TRed iR ImEfear gRT o< U R\ e 3l g1

e ufawra wH/3ife 82

(1) 56% (2) 62%
3) 72% (4) 68%
(5) 3T B3 TRl

ST (46-50): TR & TS BRI & YR TR UL & I S

4 e T e9a & giE B¢ § SRR STRIAG AEe! & I@
% 3PS AWML MU § | Had 3l YR & RIS A 1+ SIS
3R T2 RIS A A ¢ |

e et # g9 T 1T STURIfYS AT &1 TBAT = 4000

e fod A & wqu A o0 | a@ 7% ¥ o 30 | TR R s
frr T it Tl | oI T # @ | Al of W
Ft W § uiaw g SATIRTIYI® ATH BT FHY
B 25% 6.25% 45000
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46. TR A H 59 fHU MU B 3R 9 ARG AW BT U
18: 7 81 A & &1 fobU TU B¢ AHG! 1 T fhant 87
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(5) TTH I IS a1
47. URGH Y O d% | gof MRS Aral o I B ufawd afg
feafg?
(1) 60% (2) 70%
(3) 75% (4) 80%
(5) 87.5%
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TR T S SIS SRS A Bt T fhet g2

(1) 40725 (2) 42500
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(5) STH A FH¥ T

frafafad & 9 fow aeh o Ioiu &1 & oo 98 smRifde T
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(1) 496 (2) 470
(3) 686 (4) 586
(5) 522

78, 93, 110, 130, 154, 189

(1) 93 ) 110
(3) 130 (4) 154
(5) 189

frdw (55-56): FURIRGT A ¥ Uds Uy | TP Uy & 9I¢ dF U |, |l

55.

56.

3R 11 feg T B 1 fou Tuuy o1 IR I A P forg It Hye
H U¢ SR R dEIUR SW < 6 H W HUF 31%ha/THard
JR S b gl

T: GNP TIG JITeTHT &1 IH I B

1. IR I ¥ Ugd A, Hferdn 3R fora & 3fira 3y 24 a9 off
3R A 3R e ) ac A Sy 7 3ird 25 9 ]

11, ferar 3R g &t oo™ I BT ST HH: 15:17 B

1. A 3R T ) acfar Sirg 7 SiuTd HH: 3:2 ]
(31, 0 eR (2) Hact | R AT 1 AT I

(3) Fad Il @IS R

(5) I, 11 3R 111 T Ty ff vafeg T §

S H TS} B IS 1 B

1. 97T H 3 A1, 4 B, $ Thq 3R 3 T W11 1S B

1. T T &2 Tig I Febrer Bt GHTar 1/3 §1

111, ST Y T Jibg g FpTaq T THIEAT 1/6 B

(1) T4, 1SR 2 TTHIA DS W

(3) Had Il @) Fad 1 R
(5) I, 11 3R 111 T Ty ff vafeg T §

1w (57-61): Uy H S ARG | 3R 11 €Y S 1 MUY W1 3R AET-II

5 | Page

F S TEt Joy g B P 1w S AEel & g BT §
3R e fabed AT R
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57.

58.

59.

60.

61.

62.

63.

64.

Fb:-

AT I: X BT HAF A BY, TG 252 + 11x + 15= 08|
AT I1: 'y’ & T J1d B, T 10y2 + 33y + 20 = 08|

(1) 51 1> |- 11 (2) THE1- 1< |E- 11
(3) - 1< TE- 1l

(4) FET- | = HEAT- || T HIs JaY 8T

(5) HEAT- [2HET- 1|

AT 1: 'X’ T HA 0 B, G 3¢ — 4x — 221 = 0 B
AT I1: 'y ' ST HH G B, G y? - 34y + 289 = 0 &

(1) JE- 1> °E- I (2) - 1< °E- 11
(3) HET- 1< HE- 1l

(4) AET- | = HEAT- || T7 BIs JaY 8T

(5) HET- | = °E- 1l

HET ;X BT A F1d B9, TS 5@ + 15% + 54 = 0 3
HEAT 1 'y T HH 1A B3, A y2 + 22y + 117 = 071

(1) 51 |> |- 11 (2) FHE1- 1< |E- 11
(3) HET- 1< HE- 1l

(4) AAT- | = |- || O1 P)s Gay et

(5) HET- 1= TE- 1|

T 1: TH 3 T Wb H Rs. 9600 ST fhT S JIYRUT SO USH
HRA 8, AP e Y =T R 1% ¢ ol 3| afe Ry o Rt
T N X 7% R, A 6 T & q1g 39D gRT e T Fa
RIEEIRETH

AT 1I: Rs. 15000

(1) 51 1> |- 11 (2) 5HE1- 1< |E- 11
(3) 51 1< 9E- 1l

(4) AET- | = HEAT- || O7 PIs JaY T8t

(5) HET- | = 9E- 1l

T I 45%

[HET 1I: Th GHHGR A 32% A1 U fobdn o1 99 397 sffdhd
T W 20% 3R 25% B & TR Fe o AFT Rs 451 FH
T YT fhU 810 Al 98 U ge UgH HRalvGH Bl T8 Thd
Fe I B A THd ge & 1Y 39 T8 avg o s Ied gl

fawha gea & o9 &1 SicR BT 1100% |

(1) 51 |> |- 11 (2) 7E1- | < AT I
(3) 9ET- | < AEAT- 1|

(4) HHT- | = HET- 11 91 TS SaY Tt

(5) 9AT- |2 HET- 1

A, B 3R C HH: 30 fa 36 fam iR 48 fai & we &rf &=
Fhd 1 37 I 3 T I 1 B T ) fa fet
F 91E, A 3R B IF1 3 B SIS 24, 3R A9 FH C gRI a1
ST 21 TfE BT & R & W I $ Rs 3600 BT YIAH
ST 8 3R A T8 R U 6l § O Rs 960 F HH T SRR G
fou 7t faspedl ® ¥ BH 1 fdhey SWiad HYF B! Jgl 571

ﬁ«rqﬁaawaﬁ‘@ﬂ:

L7 .9 n.s
(1) Had | (2) Fad Il

(3) HIF Il (4) Bad | 3R Il
() 4 1, 1 3R

S Tg & A1 A 3R B B[IHE A H 'x T3V 31R 5 AigeTY § wiafdh

e B T 7 I3V 3R 'y’ UM € 1E A 3R THg B ¥ 2 qzul
3R TH Al B g4 & RID! BT WA HURE: 30 3R 105 &
xy BT T fob e 82

(1) 20 () 12

3) 24 (4) 25

(5) STH A BIS TeT

BE I 91G IR B 3Y IRE I ¥ Ugd IUD!T Y B Gl
Bhft| I=ft GRa B gaT W ©% 1 997 g1 3 3R A B
AT W P U HH: 6:5 §1 IR I dle, I IH H
U HH: 7:6 THTN WIdT 3 Bt o H Ui I1d 98 g

TR 3R T Bt IAAM 3G & S 3faR 1 R
(1) 798 (2398

(3) 598 4) 8y

(5) TR I B3 TRl

65.

66.

67.

68.

69.

70.

71.

72.

6 | Page

e "JAILORS” & 31&R} T ITANT HR HH Y HH Teh WR & Iy
fPam TR 3MeR & Xeg BT AT fpar 51 Tean 37 (Fftfa zreg &

fopdt oft 31eR & SreRTT el T B)

(1) 34 (2) 136
(3) 408 (4) 816
(5) TR I HI3 Ta!

ST 3R HiadT B ARID AT HHE: 4: 5 F U J g1 Hiaar
Bt I9d Rs. 17480 3] ST 7 U WS 3T BT 40% Jb A
33w f5ar S 20% &1 Tafs T U Fxdl ¢l afe afadr 2
I §1E §F I Rs. 5632 T BT 3| BT BT 77 1A H?

(1) Rs. 22520 (2) Rs. 21480

(3) Rs. 24420 (4) Rs. 26820

(5) FTH Y P13 TRl

I R, g, TR SfR RITRA = ERT: Rs. 12000, Rs. 15000
3R Rs. 14000 T FAY PR Th HRIGR Y= b7 YT 3
e & dTe, AT 7 Rs. 3000 3R BT T 4 HEH a8 TR A
Rs. 5000 SIg Siefs RERT 3 Y3 § 5 HEM §1E Rs. 4000
g & ford | afe 9 T & a1g G, TR SR RRA &Y g
fAIeTeR Rs 9900, BT MY G3MT B, Y -TUR BT 1Y 1 HY?

(1) Rs. 3800 (2) Rs. 4200
(3) Rs. 3600 (4) Rs. 4400
(5) Rs. 4000

2015ﬁwmﬁmﬁ?a€mﬁmmsﬁm4s
mluﬁ&maﬁmﬁmﬁZS%ﬁq@@ aefemal
@} e Tea o 8 S, @ 2016 & Piae & O B GE
oo af @) gar & 400 ¥ HA g S R1 2015 F Dras &
TSHI BT UEAT I HR?

(1) 3200 (2) 2800
(3) 3600 (4) 1600

(5) ST A FIS 7Y

TP I X P42 BTE $T 3d g 25 a9 8, Safd a7 ¥ & 35

B 1 ST 31T 20 TS 5| T &A1 vl & I R4 B 31 BT
AT 6799 8, 1 a7l RIe |ied QI avl B T Mg 1 b2

(1) 22T (2) 22598

(3) 23T (4) 2358

(5) 24 7%

T AR P A WA Q B SR Tl g1 I 9979 ¢ B WA R
I VI Q F R Fad 21 Wbt I BE e Qe @

TAUHR 9 ¢ fh TIF Q WA P IR TIAR & aﬁ%r HENE

Q WI[ P 3R RIAR Y I G R g WA P ARV QF
a9 g 440 Tt 1 3 27 A SR T B FT 7Y HE=E: 28
faed/eier 3R 32 foredl/dier B, @ g 9 & a1g <l &l & o

EIERIRIGERY

(1) 750 Tt (2) 600 fopeft
(3) 420 foreit (4) 580 fopt
(5) STH A FHY T

T TP & 1A W o axgsh DI TG IT TP DI 20% &
Y TR 3R 3 BT 10% & g1 W 97 fear| 39 I I 39 v
fhoRex WY IR 3HHT HIHT AN eI | 25% e i
BT 3R sifrd oI W 10% Bt e | Al IS g $I arTd
e 4800 B0 AT, A1 ST gIRT Sifofd Fa ufa=rd ary J1d |

(1) 14.24% (2) 18.125%

(3) 16.24% (4) 15.125%

(5) TR I FIS Q!

A 3R B 1 3fId AIRYS 3T Rs. 32000 8| A AU ARy 3

BT 50% WA AT § STa{d B AT ARG 3T BT 80% WY Bl

%ﬁ%A@TB?ﬁ%WRS.ZQOO%FﬁAHﬁWWW
?

(1) Rs. 26000
(3) Rs. 30000

(5) STHI DI T

(2) Rs. 28000
(4) Rs. 32000
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73.

74.

A 3TR B B IHH 3G P SJUTd 5:7 §, TP A 3R C P IaHM
3T HT U 7:10 T1 TG B 3R C BT 3y & g 1 3 &7 3R

2, 1 A BT 3 F1d B2

(1) 35T (2) 28 79
(3) 309 @) 42T
(5) STH A F¥ T

G & U &) RE b RS & | T dTol aReSl H 80% U gielm
? 3R W YW R F 25% UF BT 31 AR T8 20 kg T@
RS B F5 T 8 g e § 3R $9% 80% & HF o R
AT & 3R 1 TS 1T &, o S ar Ufai=rd 1 By 3R, Ut
&I oIt & STe Y@ dReS! B U SR &7 BT SUT 1ol RSl
& U gl ST g
(1) 150%
(3) 200%
(5) 250%

(2) 175%
(4) 125%

=T (75-79): foU U TFHRY & YR R TaTal & IR Q|

Uig gHMER dH UHR & e d9a § srifd gewr, g &R
MRS gebl RiRe , firg RRe ok oifim fRe &1 fasa
T S Rs 13, Rs 16 IR Rs 18 2|fean 7T qifeiee v §
YAF gHMGR gRT 39 ¢ gehl e, g RrRe ok o
e @1 g guiar g

T& gHMGR gRI 9 U RFRE & $t W& = 39 GHMER gRI

é%nq (8eh +ﬁ§+\31 ﬁtl) IR B G
Toe areit oot e @t | 1rg Remel st wen [fag- aralt o Ry ot
Gic: | feait el
fadm 138 257 86
sl 149 208 64
Ecd 121 261 93
R 208 345 177
Taaat 159 244 128

75.

76.

77.

78.

79.

Fb:-

Tt RARe s ¥ f3de iR <us gRT Sifvfd foe e wora &
EEEIE R IR

(1) Rs. 31 (2) Rs. 58

(3) Rs. 24 (4) Rs. 47

(5) Rs. 63

ey gRT B Rme ok 3ifm e == ¥ offa fay o
TSTRd P U J1d By

(1) 701:201 (2) 120:83

(3) 29:53 (4) 804:431

(5) 920:531

faa@! gRT o1 RRe s ¥ Sifiid foban 1 o Ioa Fad
gﬂﬁ@@ﬁféﬂﬁﬁaﬁhmwwwmmm
?

(1) 43.35%
(3) 4821%
(5) 33.17%

T 3 gPHMER Ya gRI 99 7Y firg e ofik aiffm Rre
P! T faget grR1 97 MU g RARe SR offm RrRe #
qiaet TB ¥ B 25% HfE A Yo gRT I T gebT
e &) Wer 142 § @ Yo7 §RT o U RARe &t $a e
BIGER
(1) 619
(3) 642
(5) 602

G T ¥t Uil gPMER gRT g RRe ok offm ReRe
S 31l fry T IeRa & S BT SR 1 Y|

(2) 38.29%
(4) 57.12%

(2) 628
(4) 607

(1) Rs. 746 (2) Rs. 506
(3) Rs. 211 (4) Rs. 456
(5) Rs. 126

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

7 | Page

e Y U U & U U & aIc dF BU |, 11 3R 11l

ﬁuwélﬁuwawwmmﬁ$fmmﬁaﬁwﬁﬁq%
ﬁgww%ﬁ?aﬁqwasmaﬁwuw%

BEIN]

3rora, R 3R R A U Ir@iert | waw fban oy # Ry

fewam 3d &R

1. 3o, Ry ofR R = oo orqud 5:3:7 ® AR fomam w

1 a1, R = ot gRfR o= A &1 SR o= a1

Mwm&mﬁﬁu@mﬁﬁmuﬁaﬁaﬁwﬁﬁm

|
. 7 avf & ofd & ITM 2, 24000 IT HT HA AH 3Mffd

o
(1) T4, 1SR 2 ITHI DS W
(3) Fad Il (@) Fad 1 R

(5) 1, 11 3R 11l T g1y +ft vl 81

General Awareness

Faffad o § B YR &1 Ge QR HisjaT §191 B 82
(1) YRS Sita= o | (2) g 3T TaRky St for,
(3) TRc S fsar SRy ool ffiics

(4) AT EART HUH! fafies

(5) SFRT SARY Ho-t fafies

TR A=A UTd "HRd & fobdt 3rod H Ry 82

) RifFea (2) 9 3R HIHR
(3) Mar (4) iRy

(5) g

AT @5 AR IRDAI T Te® e B
(1) 10 )5

3) 12 4) 8
(5)6

WHR A TN A S ATEH T 44 HRAS AN BT Sie BT
TeT X § | T ST 5 AT T U U SRIEH 87
(1) P 3R fu™ FHedror HATTT

(2) WY 3R URER S HA™

(3) AT fowmT HATe™

(4) Tfgen vd 91 faw™ Harea

(5) TafaRT, 1 3R STaary uRdd HATer

AT 3R TS A & FAAT gRT & U MY e Wy
%nga TIE (THUTST) IdTal & fauuH & g st ofR @ @

(1) ZaTfagrT (2) Xgd
(3) QAR @)
(5) fRfrSt

HRAd WHR & b Fdlg H SRR o B I A & forg
YR fod S gRT = fbar T T Ui e,

ERSCE SIS SIS IR
(1) IF-AeH (2) Tohe e faat e
(3) oot fam (4) IO YT SUSHRIT
(5) arforfus Uz

TR BIC 3 SR HT TeATad g - R Ryd 82

(1) foman @787
(3) PRI (4) fag
(5) Gl

YRA P I g1 BRI e T8 Rd dex e 3w # R
[ERIKICIES

(1) HAlCH (2) qSTET
(3) HERTY (4) B
(5) Tar

YRG! TR dR% SARY 7 YR TaT a5 Uleivd (@se
3HTh Teh) TR Sita- ST YA ST UG B & e {5 I
& Ty gHT faaT 82

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

RRB OA MAINS_2024 TEST ID - ROM - 87429623

(1) TIRE Uy o (2) YR ST YT o 102. &g arior Il Y Oolt WRaT & WA §
(3) fort UHew §% (4) forsi 9eg 9 1) & @
(5) U UHcy §F 3) @ (4) IR
(5) TTH A BIS el
90. fofifad & ¥ ek wrw &t At ufie Ru & orER
%y &1 Ay S’ v farar T 82 103. SWOTH'O'___ digxidrs?
(1) & §w (2) WSS IS (1) RABIRG (2) 3R
(3) TACHRA s (4) STy i (3) varit . (4) @137
(5) SR (5) TTH A BIE LT
91. U® a1 I R Figw a1 WU Ue & oA BT HRAUET 104. T B fom o a5 woih eBei 3 Tafd g7
fufeiad & § s grT fasan man g2 (1) St 3R Tgar wfbfa (2) vma fdfy
Mmfgex (2) TTd (3) W Py wiAfd (4) T FfAfd
(3)@% (4) HIgH (5) T A IS el
(5)
105. 9 ®I$ WA § Ul e a1 § o) 9 3 g 8l § 8k S
92. St @t 21 of I B 100 TIIT fad=f v Bt fret Y R GRT "JaRAT I 3(fF" T1 QU ¢ b HRUT db gRT A fpa
by YRt ftrer o1 Gellag fopan Tan €2 S @RI
(1) MM (2) R & Ed (1) AP B FHIG (2) 9 BT IS B
(3) TES (4) TR gfaTaH (3) AP BT RIFTRI (4) ST BT I
(5) T (5) ST A FIS T
93.  eg "THRA YR H TIUIT GE, & Tafe & WaRl H 6T § | TR 106. AT U1 3 Wy I I Bl GAlag HA & o FHufafad
T "SR T Il 82 A 2 g 9% F 91y g far g7
(1) S @QX (1) SMEOMERNATE I (2) TEITHR 3
(3) 3O (4) AT @) s ) 79 5P
(5) Sfgw (5) T3S S 3T SfEar
94.  -HfeAferet SN HR & e R TR UTIT S 82 107. RSL fFeioR &8 REBR 2023 fem shar g2
(1) ETERT 3R 7R gaeht (2) ToRTd (1) AehA Ne (2) TPFTSHD
(3) P (4) 3i=HH 3R FPER giu (3) SUTeTT Ty (4) YT SIR%
(5) &9 3R g (5) JIaE Prefisd
95.  TISH URI®T gRT "gHAT &I Gad TSI STe" THIRId B T Gusl 108.  AIF ST HAdS g
ATt et =g 3w gt SR e 19 B HegA BT ¢ (1) IR FaT HY (2) 3ffafed FaT B
R T3 for rou B fRya 87 (3) T f¥ast iy (4) SUTY Fa=r By
(1) SR (2) HERTY (5) ST A IS el
(3) 9 US™ (4) ToRTd
(5) STR U 109. _ MW AR W BN fhum, aaHih searial ok ag 3ani
&1 BUI JIUTT T Bl 87
96. Ty Yadard faaw S 2023 & ¥ faT geman mar g2 (1) FET P (2) TS §%
(1) 1453 (2) 121 (3) TEHRI 9% (4) fapra d&
(3) 1557 (4) 1357 (5) TTH A DI T
(5) 1157
110. A a¥ 12 3R & AT ST © -
97. WP IR W 2024 Ft AoEH! 59 e R Bt (1) TP W e (2) YRd B! fdaq
St (3) of gaT feag (4) 3y & wag=h @
(1) S, 9= (2) I, S (5) 3 era fead
3) foeehl, yRa (4) IR, Wiy
(5) Ryarq, feror i 11, 50 TS0 REHR 7 318t 8F H IFHFal & farg Ioia Mt gRaR
! GO Bt 87
98. <=l HaRkEl &I Tl &1 LS el & WEU & U YR Bt (1) FAleH (2) ISR
ugel Haxft SiHifie fod &1 A Far g2 (3) TERTY (4) U9
(1) Meg @ sf&m (5) PR
(3) fegAm @) Ty
(5) MY 112. TS WATA T ! ga Aised it Sfidt 87
(1) &1 Ui (2) fibfer firenfore
99.  UiUS YT IUDBRUI (PPI) BT g7dH qudT SHafy fhai g2 (3) IR AfeTT (4) M9 rarH
(1) 1981 (2) 6 TgH (5) aReT iR
(3) 139 (4) 59
(5) 109 113. 59 9% 7 "UPI 123PAY" 9M ¥ Zexufded aiag REgig (IVR)
SR UPI THIYH Ti-dl fohaT g2
100. HHfRIH IRY fhy T T IS 82 (1) USTE AT b (2) PRI dF
(1) Ssftfe (2) GahaTolt (3) YR W< 9 (4) TWIUHH 9B
(3) dRereft (4) RTHT (5) Yod o ffts SfEar
(5) forRes
114, TRu&m HA7eT S 2023 # {69 WER H URA BI G20 A& &
101.  fémd ©U A 'NEFT & &7 E &1 m ol g2 Tgd sifan e w1f T4g (EdWG) Bt Fad Bt BT HIM?
(1) sfifes (CAEREHIRED (1) TR @
(3) BT (4) TS 3) 353! (@) =
(5) TAAT (5) STAR
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115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

Fb:-

59 ¥ 7 DABUS W& FHRAT IfSHTT (Al) TUTeh 1 "Thaed
S TR IR W dheR I Taifdd e ueH far g2

(1) H&ror 3T (2) TrESRET
(3) SR (4) =9
(5) 3o

HIed Teflaer 2000 T BT B g F Rerdy sewi fifes
BT3B FT?

(115 (2) 25
3) 35 (4) 45

(5) 55

M & Ugd SIWIPUT $ &0 & b ifdre o mar &2

(1) HigHTE Tl (2) FigHE HRESR

(3) BREIE W (4) SSiieH o=t

(5) HERaIG FoRUTT

A 31 A s & fow ue GRf& siFared ghar a9 &
fore oo Menfire) o=t & Ty TganT foar g2

() T @) g

(3) cxT @) I

(5) BagD

YR ord § gRT SfhT Rare<t & aR H SRewar it
¥ fore fopd Fgea fpar man 82

(1) R =TT (2) a9

3) feA= wie (4) Uit iy

(5) ¥R < =,

g g 7 Al & B F R wRa dFE U wie
TE DI §?

(1) TS (2) SR U

(3) HERTY (4) HETC

(5) fafewa

John Bruner gRT I=sY T3 ‘Shockwave Rider ‘Ta’?ﬂ dR
Teg BT IYINT faam?

(1) Bug (2) Vice
(3) Lice (4) Worm
(5) Trojan

Microsoft Office &1 87
(1) Shareware

(3) Open-source software
(5) An application suite

(2) Public domain software
(4) A vertical market application

WWW' P TGRITUS B &2

OEEREIRF (2) fer s=id-<t
3) (4) DARPA
(5) STH A IS 8!
PO Bl Bl HA P T Eﬂg? o R A &
fore fEome foru mTu =it &1 uw s gl
(1) 3T (2) TR
(3) AieamR (4) e
(5) STH A IS 8!
0 A 1 1 U SfRfeT Reeq et 82
(1) Windows Vista (2) Ubuntu
(3) ARM (4) BeOS
(5) Unix

UEd save [PU U XA P UG F3A & forw f5g ufssar &1
JTENRT fa ST =1
(1) Copy

(3) Retrieve

(5) Execute

(2) Save
(4) Enter

T file B “Zipping” B T FT HAAS 82

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.
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(1) Encrypting the message
(3) Transferring the message

(5) Iued T 9t €

.............. PIad T AT A & Goy T Fam aRkuia sar @
3R ST RIS Bl AN A B T A A 2|

(2) Compressing the message
(4) Decoding the message

(1) Column (2) Constraint
(3) Index . (4) Trigger
(5) TH A IS T

U peer-to-peer LAN ¥ foag JUYdd network architecture %?
(1) The Internet (2) Home network
(3) Network requiring a server with shared resources

(4) wide area network (5) 3711?[ I Tﬁ's; T8l

ASCII U H|

W%wumﬁwqﬁﬁfww%mm
[

(2) TR B6Y dugext & quf ufaffiica ames am=a g1

(3) THIST AHS 34eRT 3R gHl &1 ufaffiia P & forg v

T S 21

(4) TdeTES URIET Wi o @Y =i Al @1 ufafifa

CRGI]
(5) TR A B oft 7Y
Boolean (Yes/No) fields éaf%nz 3ffwHaH @ﬁqﬂ?ﬁ SIHR T

o

(1) 1

(2) 8
(3)50 . (4) 255
(5) STH A B el

SR I s & o foh dea 1 SukT foba Sirar &7
(1) PR (2) €

(3) fferepia (4) AT

(5) Tgmfga

DBMS # S¢1 & IRIGMI $I a1 & fore s¥adTd fosam 9 arent
ed 1 67

(1) Repeating
(3) Reappear

(5) TR Y P13 TRl

_ % fafiy Aead & qe Ayl / feasne e 71
(1) Network client (2) Desktop

(3) Network station (4) Network switch

(5) Network server

FEY I o gt F TRY SR gHAT ¥ S8R gt ¥ GuR
TSR e IRAI g EA ¥Ud ____ IOl g

(1) Geo satellites (2) Geosynchronous satellites
(3) Low Earth Orbits (4) Sun-Synchronous orbits

(5) 9 A BIS 751

ULSI microprocessor T Iuan fafafed & 4 fow digt &
HogeRt § foam SiTaT 87

(1)?§?°fd1'@ﬁ (2) a8 Uit

3) Dt it (4) diradl it

(5) FTH A DI el

T HifeR Bl T & S gEer ¥ 9 & 9 3 g 8l
75 Fufid w4 o Heg o & & fag feam @y fewrs G &l
(1) Refresh rate (2) Dot pitch

(2) Restrict
(4) Redundancy

(3) Resolution (4) Colour depth

(5) TH A BIS el

frafiaa 7 @ o1 91 37ge a1 87

(1) 9139 (2)

(O EILIS (4) iz

(5) ¥t g7ge fearsw §

I%PH HdHH U Application Software :131%?
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140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

Fb:-

(1) Photoshop
(3) Dreamweaver

(5) T I B3 T8I

Print server BT ST Bl % Y Udb buffer % S fifex
HI Ao Y UgS ST Wl |

(2) SAGE
(4) WinRAR

(1) Queue (2) Spool
3) Noc!e ! (4) Matrix
(5) T A BIE 7T

U UetA WO B W TR Ylasfid &R g,
IuANTEar Tafafirat SiR ket udtenm SeT Repre w31

(1) Configuration Management (2) Security Management

(3) Performance Management (4) Action Management

(5) Data Management

2 3 Ren & IuNdSd R A A B a1 e?

(1) e (2) Yra=

(3) ST (4) ST # Y DIs gt
(5) SWIad gt

R T T g, fh I e TR R A A A A &
b 87

(1) 345 (2) 255
(3) 197 (4) 301
(5) 127

FHoIeR | B B Yoo & e g # ¥ 19 91 teueRE IwT
[ERIIGIS

(1) .cmd (2) xls
(3) vic_ . (4) jpeg
(5) 3T A BIE 7T

P TH_ GHeRR e

(1) Operating System (2) Application

(3) System (4) Utility

(5) 79 A BIS 781

The RAM %R e & fobe HiT  fRya giar 82
(1) AR IS (2) TR &g
(3) AR (4) gty
(OEIGUCES]

MS Excel T U% 3eRT abiic H UG 9 I ST U BT Bl
9 =u o ST ST 87
(1) Accessing

(3) Updating

(5) Logic Gates

3T3eH B WSS 9= H WHiaRd fou faqr gafia emged &)
Rt U F geM & e Ay $ont SaeH B § 1 91 3uanT
fpaT ST 82

(1) Shift + Delete

(3) Ctrl + Delete

(5) Alt + Ctrl + Delete

foffad & @ o9 I & I8 MR FI, faawel g-
JUANTehdf SR § S GHTA BRI BT THYT B qhdl 82
(1) Mainframe Computers (2) Mini-Computers

(3) Workstations (4) Computer Networks

(5) Personal Computers

(2) Referencing
(4) Functioning

(2) Delete
(4) Alt + Delete

Computer terminology T 'CAD' T BT 82
(1) Computer And Design

(2) Computer Algorithm in Design

(3) Compact Adding Device

(4) Computer Aided Design

(5) TTH Y IS a1

151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.
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Ry Bred Ae@yyl U BRA &1 TF I § forud o
FHeR ey Tt &1 ¥ B T8 HR bdl 8| 37 WIgdl Bl DIF
ST SR TWRATT HRAT 82

(1) User of the operating system

(2) Administrator (3) Operating System

(4) Database Manager (5) wﬁﬁaﬂs‘

& R ATSA H, Jegefi griseeg d _ aftfa gl

(1) Entity (2) Attribute

3) Relqtionship ! (4) Notation

(5) STH AP T

Excel files B ___ A Hft ST 1T 3

(1) Workbook (2) Worksheet
3) Sprgadsheet ! (4) Spread book
(5) TR A DI TE

ALU T T[0T ufshar ) g7

(1) Repeated Addition
(3) Repeated Subtraction
(5) Repeated Cubing

Tgd SMfasehR foby 7Y f$few dhwgex &1 41 o1 82
(1) EDVAC (2) ENIAC
(3) Super Computfer (4) Calculator

(2) Repeated Squaring
(4) Repeated Division

(5) TR A B TEl
Profifed 3 3 P o g e &

(1) NOT (2) AND
(3) OR (4) NOR
(5) EXOR

TS Weg ford HUE B BRI H ool T Gxd1ael B ger b g
W@Wm%ﬁws@%ﬁ%ﬁaﬁquwﬁ
[

(1) Reverse (2) Return
(3) Retrieve (4) Return
(5) TR ABIE T8

BIOS &1 Tefifd BT 8?

(1) Basic Input Output System

(2) Binary Input Output System

(3) Basic Input of System

(4) Binary Integrated Original System

(5) 3T QY B QI

TH AW foRad 9Hg AhNte 98 8, 31U Iugad s a1
B eg WoH & T JfAeT T IUIRT IR Uahd! 87
(1) Dictionary (2) Translate

(3) Encyclopedia (4) Thesaurus

(5) FTH I P13 TRl

FOXPRO &1 57

(1) Application Software
(3) Programming Language
(5) DMBS

(2) Anti Virus

(4) T (1) SIR (4)

Direction (161-165): In the question given below, a sentence

is given, divided into parts. One of the parts may
contain an error. Identify the part that contains the error,
and mark it as the answer. Ignore errors of punctuation.
In case the sentence is correct as it is, mark option (5) ,
that is, ‘No error’.

Note — The words in bold are grammatically and
contextually correct.

Leading attachment researchers have argue that a
consistent lack of maternal sensitivity in infancy
and early childhood results in a belief that the world
is unsupportive.
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162.

163.

164.

165.

(1) Leading attachment researchers
(2) have argue that a consistent lack of
(3) maternal sensitivity in infancy and
(4) results in a belief that the world is
(5) No error

This technology becomes commercially feasible when
electricity is produce at relatively low costs by
renewable sources such as solar and wind.

(1) This technology becomes commercially

(2) feasible when electricity

(3) is produce at relatively low costs

(4) by renewable sources such as

(5) No error

People also have diverse views onthe role
of multinational corporations in agriculture and GM-
related research, and concerns about the potentially
pressure these firms may put on farmers.

(1) People also have diverse views on

(2) multinational corporations in agriculture and

(3) GM-related research, and concerns about

(4) the potentially pressure these firms may put on

(5) No error

The contrasting decisions in South Australia and
Tasmania offers an opportunity for Australians to
deepen their understanding of, and engagement with,
issues relating to genetic modification.

(1) The contrasting decisions in South Australia

(2) offers an opportunity for Australians to

(3) deepen their understanding of, and

(4) engagement with, issues relating to

(5) No error

Beyond facing the problem of having over-enrolled
and outdated classrooms, poorly paid faculty are
taking on additional paid work to make a reasonable
living for their families.

(1) the problem of having over-enrolled and

(2) poorly paid faculty are taking on

(3) additional paid work to make a

(4) reasonable living for their families.

(5) No error

Direction (166-168): Which of the following phrases (1), (2),

166.

167.

Fb:-

and (3) given below each sentence should replace the
phrase printed in bold letters to make the sentence
grammatically correct? Choose the best option among
the five given alternatives that reflect the correct use of
phrase in the context of the grammatically correct
sentence. If the sentence is correct as it is, mark i.e.,
‘No Improvement’; as the answer.

Air  conditioning represents an increasing big
proportion of electricity consumption in the building
sector, both residential and tertiary.

1. An increasingly large proportion

2. A growing part of
3. Isin large part
(1) No Improvement
(3)Only1and 3

(B) All1, 2 and 3

(2) Only 1 and 2
(4) Only 2 and 3

Improvements in access to pre-university education
have provided a large talent pool, and widening internet
access have resulted in collaboration becoming
more realistic.

1. Has made collaboration

2. Has brought about collaboration

3. Has achieved collaboration

(1) No Improvement (2) Only 1

(3) Only 3 (4) Only 1 and 3

168.

169.

170.

171.

172.

173.
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(5) Only 2 and 3

Several countries are using incentivesto coping
with the demographic and economic challenges of an
aging population.

1. to cope with 2. to deal with
3. to carry on
(1) No Improvement (2) Only 1

(3) Only 3
(5) Only 2 and 3

(4) Only 1 and 2

Directions (169-173): A set of seven statements is given out

of which the 1st and the 4th statements are fixed (A and
D), and the rest are jumbled in any random order.
Rearrange the remaining statements in the right order
and answer the questions.

A. Through most of history until today, even the
cleverest innovations have taken decades to make
an impact on our lives, and have continued to make
an impact for decades at a stretch.

B. Take the telephone, for example, in the early part of
the 20th century.

C. Air travel, which only took off after World War 11,
reached an adoption rate of 80% in around 40 years.

D. With the advent of the assembly line in car
manufacturing, the use of automobiles became
more affordable and prevalent, and around 50 years
after its introduction, more than 80% of US
households owned a car.

E. Due to its obvious benefits, the use of telephones
gradually spread, and around 60 years after its
introduction, more than 80% of US households had a
telephone.

F. However, the lifespan of these innovations is also
declining.

G. On the other hand, some of the more recent
innovations: = e-commerce, smartphones and ride-
sharing, to name a few, have not taken many years to
make a deep impact on our lives.

Which of the following statements will follow A after

rearrangement?

(1)B @c

(3) E 4)G

(5) F

Which of the following statements will follow C after
rearrangement?

(1)B c

() E 4G

(5) F

If A and D are the first and the fourth sentence
respectively after rearrangement, which is the sixth
sentence (after rearrangement)?

(1)B (2cC

A E 4G

(®)F

Which of the following statements will follow D after
rearrangement?

(1)B (2cC

Q) E 4G

(B)F

If A and D are the first and the fourth sentence
respectively after rearrangement, which is the last
sentence (after rearrangement)?

(1B (2cC
(A E 4G
®)F
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Directions (174-180): Read the following passage carefully

Fb:-

and answer the questions.

They were too clunky to download. The topics were
sometimes a little obscure. And they didn’t really make
any money. Podcasts, the short-form audio files that
entered the mainstream with the original Apple iPod,
have been around for more than a decade. But while
Apple has dropped the classic version of its iconic
device, the podcast is resurgent.

An average of 1.5 million listeners a month download
99% Invisible, a programme produced on a shoestring
on the theme of design. Sports are also a popular topic,
while a new series from This American Life producer
Alex Blumberg — about starting a podcast business —
has become one of the 10 most-downloaded
programmes in the US. And podcasts are finally
profitable. “It's sort of a renaissance. Podcasts are in
vogue,” said Todd Cochrane, chief executive of
RawVoice, a podcast data research firm. Maybe it's the
intimacy of hearing soothing voices through
headphones — or maybe it's just how much time people
need to Kkill listening to something. Americans spend
more than three hours a day commuting, working out
and doing household chores that can be accompanied
by audio entertainment, according to Census data
studied by Matt Lieber, a former public radio producer
who co-founded a podcast company with Blumberg.
Smartphones and Bluetooth-enabled cars have made it
easy for listeners to load up their favourite programmes.
Instead of downloading them from iTunes on to a
computer and syncing with an iPod, listeners can grab
shows straight on to their smartphones. Last year Apple
said that subscriptions of podcasts through iTunes had
reached 1 billion. The analytics company RawVoice,
which tracks 20,000 shows, said the number of unique
monthly podcast listeners has tripled to 75 million from
25 million five years ago. And the connection that
people can feel toward their favourite podcasts is
exactly the sort of relationship that many media
companies are trying to build with users. At a time when
people can easily skip TV ads, messages from
sponsors on podcasts have a way of sinking in,
especially when they’re read by the hosts of the show
themselves, analysts say. As a result, this second wave
of podcasts — unlike the first go-around — is promising
to make more money. “Five years ago, podcasting was
very much a hobbyist's activity and many people
weren’t making them to make money,” said Tom
Webster, a vice-president of strategy at polling firm
Edison Research. “But audience sizes have grown
consistently and each listener is listening to more
shows as part of their weekly habit. That's brought
major producers to embrace podcasting.”

When Roman Mars began his quirky public radio show
on the topic of design, he never expected it to amount
to much. The show 99% Invisible was small in every
way. Each episode ran for just 4 minutes 30 seconds,
short enough to wedge between segments of big shows
such as NPR’s Morning Edition. It was esoteric, with
back stories on the way the periodic table and parking
meters were designed. Mars had a tiny budget of
$5,000 and wrote, narrated and produced the show
from the bedroom of his Oakland, California, home. The
show was well received when it started airing four years
ago on San Francisco’s KALW. But off the airwaves —
as a podcast — the show was a blockbuster. It is now
consistently in the 20 most-downloaded US podcasts
on iTunes.

Mars quit his public radio job to work full-time on 99%
Invisible, funded entirely by the show's fans and a
handful of sponsors. The show is still broadcast on a
few public radio stations, but that “distribution means
less and less over time”, Mars said in a recent phone

174.

175.

176.

177.

178.
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interview from Dublin, where he was putting on a live
show for European fans. He said: “They have a great
reach and I'm a huge fan of NPR, but right now, if I'm
able to reach my audience directly through podcasts,
the writing is on the wall.”

How does the predicament of working Americans affect
the popularity of podcasts?

(1) The loneliness of their lives is somewhat negated by
the personal and intimate nature of podcasts.

(2) The monotony of a long commute to work has
contributed to a growth in demand for podcasts.

(3) The stress of a hectic life owing to household chores
has hiked up the demand for light entertainment
through podcasts.

(4) The fact that podcasts can be downloaded and
listened to later as well, unlike other radio shows.

(5) Podcasts help avoid the time-consuming process of
downloading programmes from iTunes onto a desktop
and syncing their iPods to it.

Which of the following is closest in meaning
to ESOTERIC as used in the passage?
(1) Obtuse (2) Chronic
(3) Vain (4) Arcane

(5) Fabricated

How are podcasts more viable for advertisers than are
television shows?

(1) Ads during television shows are often skipped by
consumers but those during podcasts, voiced by the
narrators themselves is more appealing to listeners and
the message of advertisers is assuredly sent across.

(2) Ads during television shows are longer and use
more impersonal people as compared to those during
podcasts which are usually shorter and more personal
because they are voiced by the host, which increases
their appeal for listeners.

(3) Ads during television shows are financially less
viable for advertisers than are ads during podcasts for
the former charges more, given their greater reach.

(4) Since listening to podcasts is a hobbyist activity as
opposed to viewers of television shows, advertisements
during podcasts appeal immediately to listeners.

(5) None of the above

How has the popularity of podcasts increased because
of other technology?

(1) The outdated technology of iPods has increased the
popularity of podcasts.

(2) The growing obscurity of NPR and their decreasing
reach contributed to the hype around podcasts.

(3) Bluetooth-enabled cars allow for consumers to listen
to their shows without first downloading them from
iTunes to a computer and syncing it with their iPod.

(4) All of the above

(5) Smartphones have made it easier for consumers to
enjoy their favourite shows better because they can
now skip directly to those parts of the podcast which
they like best.

What does the concluding phrase of the passage
suggest to you?

(1) That podcasts have gained so much popularity that
they are here to stay.

(2) That the fate of NPR vis-a-vis podcasts has been
written in black and white.

(3) That even though Mars' podcast show has gained
tremendous popularity, he will always remain a fan of
NPR.

(4) That the present fate of podcasts might not be
permanent, since NPR will always have a wider reach.
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179.

180.

(5) That there is imminent danger for NPR with the rise
of podcasts.

What is the main focus of the passage?

(1) A comparison between podcasts when they were
first introduced, and podcasts now.

(2) How and why podcasts have gained popularity.

(3) The creation of one of the most well received
podcasts show called 99% Invisible.

(4) How listeners are helping producers rapidly make
money from podcasts.

(5) Both (1) and (2)

Do you think the name of Mars' show was appropriate?
(1) Yes, because when it started its duration was so
little, it could be considered 99% invisible.

(2) Yes, because Mars was the sole person responsible
for everything from writing to producing it and there was
no formal studio either, so 99% Invisible seemed
appropriate.

(3) Both of the above.

(4) No, because when it started, podcasts were already
gaining popularity and were no longer invisible.

(5) No, because it is one of the top 20 shows and gives
NPR a run for its money.

Direction (181-183): In the question below, a word is given

181.

182.

183.

followed by 4 pairs of words. From the options, select
the one that provides the combination of pairs in which
the first word is a synonym and the second is an
antonym.

Boon

1. Blessing: Curse

3. Lush: Predicament
(1)1and 2

(3)2and 4

(5)3and 4

lllustrious

1. Profuse: Scarce

3. Acclaimed: Obscure
(1)1and 2

(3)2and 4

(5)3and 4

Generic
1. Exact: Erratic
3. General: Particular

2. Privilege: Bane
4. Luminous: Plight
(2)2and 3
(4)1and 4

2. Eminent: Unknown
4. Prodigal: Thrifty
(2)2and 3

(4) 1and 4

2. Precise: Erroneous
4. Common: Specific

(1) 1land 2 (2)2and 3
E3§ 2 ang 4 (4)1land 4
5)3and 4

Directions (184-193): In the following passage there are

Fb:-

blanks, each of which has been numbered. These
numbers are printed below the passage and against
each five words are suggested, one of which fits the
blank appropriately.

Find out the appropriate word in each case. Customers
could, Henry Ford once quipped, have a car in any
colour they wanted so long as it was black. In the end
consumer choice got the better of him; cars how come
in all manner of ____ (184) . Black, nevertheless,
remains popular. Some 17% of new cars sold around
the world are black, second only to white, at 37%.
White is (185) in hot countries
because, along with silver, it is good at reflecting light—
including the infra-red wavelengths that carry most of
the sun’s heat. Black, grey and other dark colours, in

contrast, absorb light (186) warming
cars painted in those hues. Despite
Ford’'s (187) , hone of this has, until

184.

185.

186.

187.

188.

189.

190.

191.

192.
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recently, presented carmakers with much of a problem.
That is changing because, besides absorbing sunlight,
dark shades also tend to absorb much of the signal
transmitted from the increasing number of sensors
being fitted (188) vehicles. Radar sensors
are used to operate safety systems such as automatic
braking. They transmit radio waves and measure the
time it takes for those waves to bounce back, and any
changes in their frequency. From this it is possible to
determine the range, position and velocity of objects
around a vehicle. If some or all of the signal is absorbed
instead of being reflected, though, radar sensors can
miss things. The same is true of lidar, which is similar to
radar except that it (189) infra-red laser
light instead of radio waves. At present lidar is big and
bulky (the blob-shaped roof racks on self-driving cars
are lidar sets) but (290) versions are
being developed. Though self-driving cars have
suffered (191) recently (in March a
pedestrian was killed in Arizona by an Uber test vehicle
fitted with lidar and a Tesla running on radar-assisted
Autopilot crashed and killed its driver in California), both
radar and lidar are likely to be used more widely as cars
become more automated. To improve the reliability of
sensors it would help if all vehicles were painted in
colours that are good at reflecting a wide range of
wavelengths. But that is not going to happen, for the
same reason Ford had (192) to
introduce shades other than black—namely that colour
is an essential part of vehicle design and marketing. But
PPG, a firm in Pittsburgh that is one of the world’s
biggest suppliers of paints and coatings, believes it has
an answer. lIts researchers are (193)

with paint at a molecular level so that whatever colour a
coat of it appears to be to the human eye, it will still be
highly reflective to the signals from a car’s sensors.

(1) Reflections
(3) Complexions
(5) None of these

(1) Disfigured
(3) Enticed
(5) None of these

(1) Thereon
(3) Thereupon
(5) None of these

(1) Marvels
(3) Equivocations
(5) None of these

(1) About
(3) From
(5) None of these

(1) Enters
(3) Confines
(5) None of these

(1) Miniature
(3) Building
(5) None of these

(1) Moulds
(3) Kicks
(5) None of these

(1) Transversally
(3) Eventually
(5) None of these

(2) Migrations
(4) Abstentions

(2) Favoured
(4) Moved

(2) Thereby
(4) Therein

(2) Tunnels
(4) Malfunctions

(2) To
(4) For

(2) Conjoins
(4) Employs

(2) Structure
(4) Body

(2) Rounds
(4) Setbacks

(2) Leading
(4) Formally
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193.

(1) Tampering
(3) Flickering
(5) None of these

(2) Snickering
(4) Ballooning

Directions (194-200): Read the following passage carefully

194.

Fb:-

and answer the questions.

Late on a gray November afternoon Marvin Atgittuqg, a
newly elected patrol commander in the Arctic
community of Gjoa Haven, stood on the frozen sea
outside town and called his troops in for a meeting. A
frigid wind flicked snow in from the south, and it was
about 20 below zero, cold but not that cold for the
Arctic. The company of some 20 Inuit men and a few
women gathered around with rifles slung over their
shoulders, dressed in hand-sewn jackets of caribou
hide or pants made of polar bear fur or wearing the
usual store-bought stuff, which was far less warm but
good enough for now. Atgittug (pronounced At-kee-
TUK) pulled on a pair of sealskin gloves and outlined
the plan for the day. The group was part of the
Canadian Rangers, a reserve component of Canada’s
armed forces, and Atgittuq would now lead them on his
first mission as their commander: a weeklong patrol by
snowmobile down the treeless coast of King William
Island. There would be GPS training, military-style
target practice, search-and-rescue scenarios, and
plenty of hunting and ice fishing.

| stood at the edge of the circle, rubbing ice from my
eyelashes. It was too cold to take notes, so | watched
faces and read the frostbite scars, little badges of honor
that told of lives spent outdoors on one of the planet’s
most unyielding landscapes. The group soon broke up
and began smoking last cigarettes before the long ride
into darkness. Atgittugwalked over to ask whether | was
warm enough. He was tall, broad shouldered, laughed
easily. He’d been a ranger for many years before the
others had voted him their new commander. In a
friendly way, he warned me not to fall asleep on the
journey ahead. It happened, he said. Sometimes
people tumbled off their snowmobiles and went
missing. He reminded me that there was currently no
cell service on the island or anywhere else in the
territory of Nunavut—three times the size of Texas. “If
anything happens and you get separated, just sit tight
till someone comes back for you,” he said. “And try not
to meet any polar bears.”

The rangers are called “Canada’s eyes and ears in the
north,” and their units have been patrolling the country’s
outermost regions since the 1940s. Most rangers in the
far north are indigenous volunteers, and over the years
they’'ve acted as scouts, participated in war games, and
helped regular troops learn to build igloos, navigate the
tundra, and generally stay alive in the cold. Their role,
like the far north itself, isn’t well-known, and the rangers
have always managed to keep going on shoestring
budgets and hand-me-down equipment, including
government-issued bolt-action rifles made in the 1940s
and stamped with the British crown. Around the time of
my visit, though, the Canadian government had been
reappraising the rangers. Rumblings about an
international scramble to stake new claims in the
warming  Arctic  and on its vast trove
of untapped resources had prompted politicians in
Ottawa to promise the rangers better gear and funds to
recruit more volunteers. Meanwhile U.S. military
officials also were interested in the program, with an
eye toward creating something similar in Alaska.

What tells us that Atqittuk was a good leader of his
troops?

195.

196.

197.

198.

199.
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(1) The fact that he refrained from displaying a sense of
humour and stamped his authority as commander
before his troop members.

(2) The fact that he had had years of experience as a
ranger.

(3) The fact that he was elected as the commander of
the troop by the members themselves tells us he was a
good leader.

(4) The fact that he warned his troop member against
possible situations of dangers.

(5) The fact that led by example, showing how to battle
the frigid temperatures.

How has the author presented the rangers?

(1) Through the lens of history, as protectors of the
region.

(2) Through the lens of warfare, as warriors fighting
enemies and training troops.

(3) Though the lens of culture, as the natives of the
region who carry forward the heritage.

(4) Through the lens of politics, as perpetrators of
government negligence and corruption.

(5) Both (1) and (3)

How does the atmosphere in the passage relate to the
mood of the passage?

(1) They parallel each other, since the weather is gray
and wintery and the mood is set on the grim tasks of
hunting, scouting and military-style practice.

(2) They parallel each other, since the weather is gray
and very chilly and the mood is one of fatal dangers
and survival risks.

(3) They negate each other to an extent since even
though the weather is gray and freezing, the
commander cracks jokes about the lurking dangers.

(4) They completely contradict each other since the
author’'s personal comments add a livelier tone to the
passage.

(5) Both (1) and (2)

Which of the following farthest in
from UNTAPPED as used in the passage?
(1) Exploited (2) Concealed
(3) Endangered (4) Marooned
(5) Imprudent

meaning

How did the author take ‘notes’ despite the freezing
weather?

(1) By reading the facial expressions and body
language of his fellow troops and commander.

(2) By recalling the experiences recounted by more
experienced members of the troop.

(3) By reading the faces and stories behind the scars of
many of his fellow troops.

(4) By observing the ways in which the troop members
survived the cold.

(5) By observing the equipment and training methods of
the troop.

What corroborates the comment that the Canadian
Rangers are as obscure as the far north itself?

(1) The fact that they are part of the reserve Canadian
armed forces, not part of the main one.

(2) The fact that they are hardly known, they use
outdated equipment and are not looked after
adequately as evidenced by the meagre budget they
survive on.

(3) The fact that the riches of the region are siill
undiscovered.

(4) All of the above.

(5) The fact that their native culture is being made to
disappear fast.
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200.

How do the Canadian Rangers pass on their survival
skills?

(1) They demonstrate to the regular troops various
methods of hunting, ice fishing and scouting.

(2) They teach regular troops how to survive the
freezing cold, building igloos and navigate through the
treeless lands among other things.

(3) They show regular troops how to survive the frigid
temperatures by wearing special kind of hide such as
polar bear fur and sealskin.

(4) They show regular troops how to use weaponry that
helps them retain the title of ‘Canada eyes and ears in
the north’.

(5) All of the above

HINDI
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U Bledsr Il g AR IT R &
T,V TR B

S 3R RGHI V& THIT IS B

S 3R U & o9 3 afdd 9 B

P, R P S IR RIF R 3372

waﬁé@m B U1 R &

sl BT 3w sl guraren HH § 91¢ BR I JE g
IS eg & i qufdTer & SUR Fafyd T Sar
&1 oifqw =Rur ® ey el quforen w0 A g &
TEd 3R 3o 3feR & T SR I g

g Ue &1 UieH 99 d% a1 ST § o d o wf
Yeal 1 fohR & FrafRyd =1 foman wiren g1
WWW: Basic Batch Citation Recipient Envelope
Morning

TR I: Recipient Basic Batch Citation Envelope Morning

TRUT [I: Recipient Citation Basic Batch Envelope
Morning
TRUT 1ll: Recipient Citation Batch Basic Envelope
Morning
TRUT IV: Recipient Citation Batch Morning Basic
Envelope

TRUT V: Recipient Citation Batch Morning Envelope
Basic

TROTVI: 02 11 06 06 00 01

11 "31R' 00 ‘& S & TATY &

R =R & 23 SR A G dcd & 15 3R T eg "
Recipient” %I

TART = 02 + 01 = 03

Basic TRV IV H T8 3R ¥ IR B

IROTV f[ ‘Envelope’ ‘Basic’ aaamané Gﬁ?%l

ST TR 3T UBR &

D>B>E>A>F>C

Quantitative Aptitude

URMIER,
2x=2+2x=5+3y+ 1 +x3y+y=100
5x + 7y -6 =100

5x + 7y = 106 ------- (i)
Also, (2x - 2)/3y = 3/4
8x—-8 =9y

8x -9y =8 ------—-- (ii)
TR (i) 3R (n) 3,

x =10, Gﬁ?

o a\’r@wa Qm%r«r e, smsfear, S/l ok
Sl gRT AR BT o T T H18 H1 ufd=d B
18%, 15%, 25%, 10%, 24% 31X 8% &1

T AR B Tt B8 HuHEl GR1 U WY Hdl z R’y
HIS 99 Y|

I, T & STER:

0.15z = 2 x 0.08z - 1500.01x = 150, x = 15000

sgfoe, 9 B8 Huldl gR1 AIaR D1 T 19 Fa RiH
HTS 99 Y

Ans.41(3)
Ans.42(2)

Ans.43(2)

Ans.44(1)

Ans.45(4)

Ans.(46-50)

Ans.46(4)
Ans.47(5)
Ans.48(3)
Ans.49(1)
Ans.50(3)

Ans.51(2)
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= 15000
C ] I9aR B [9h ™9
PIS D G
BSNL 0.18 x 15000 = 2700
URed 0.15 x 15000 = 2250
dlarpld 0.25 x 15000 = 3750
3fsiadl 0.10 x 15000 = 1500
foraf 0.24 x 15000 = 3600
SH M 0.08 x 15000 = 1200

gifesa 3{UTd = 2250: 3750 = 3:5
gifesd 3 = (2700 + 1500 + 1200)/3
= 5400/3 = 1800

HHATI:

STHTUd gRT MOR &) 9=t T8 R{A BTs &) I3
= 2700 /0.90 = 3000

HHATII:

13 gRT AHaR &1 52 U R Hrsf ot Iem

= 3600 x 0.83 = 2988

@ HE 1> JE

IS gRI AJaR o) 92 oF a1 Woie R\ &1 Bt
T®=AT = 0.52 x 1500 = 780

fIIR B S gRI 99 T Wi R H1S 31 e
= 3/5 x 1200 = 720

dl, 9ifdd 3icR = 780 - 720 = 60

Tifesd Ufa=Id = {(18 + 24 - 15=10)/(15 + 10)} x 100
= 1700/25 = 68%

@, SRt § B fhT 71U SIS Al ot TRe

= 4000

TR | B fhT T SRR HHell St T

= 4000 BT 125% = 5000

AR H 8 fhy Y MR HHel &t S8

= 5000 BT 125% = 6250

3l B ga fpu U amuRifiies HrA @t Tver
=.6250 ®T 150% = 9375

73 H g9 fhu 71U STuRifYes Al ot T3

= 9375 BT 200% = 18750

A # g9 fohT 7Y STIRITYS AHal &t e

= 18750 &T 120% = 22500

TRaR! | gof SMURTTYG HTHE! ol T

= 5000 / 0.0625 = 80000

e gof SMRIfe ArHd B S

=6250/0.1 = 62500

30 7 ool SMRIfYS ATl &1 T3

=9375/0.25 = 37500

7S 7 ol RIS HrHel B e

= 18750/ 0.2 = 93750

A B gol SR At &t TRe

= 22500 /0.15 = 150000

HRas! § gl foh T T U STURIAS AT &1 SRet
= 80000 - 45000 = 35000

A B ol T U T SRS TTal &1 e

= 62500 - 37500 = 25000

310t & gof b T HgRg SHTORTRIe AT el & Te
= 37500 - 24000 = 13500

TE ¥ ol T 1T T SHTORTTRYes Wl b TRe

= 93750 - 63500 = 30250

S B gl O U TR SRS [Tl bt TRe

= 150000 - 94000 = 56000

A § g fhU T BIe 3MuRIfYe ATHa! o1 T

= 18/25 x 6250 = 4500
3axges ufawd ¥ gfs =
100 = 87.5%

TR H SO BIC TURTS HATHa! $I T

= 92.5% of 45000 = 41625

@, i B F SRR THE RIS A9d WRad o
ORI HR 7T & T 35000

@, 3TaT U= = 13500/25000 x 100 = 54%

36 x15+ 10 =064

64 x 2.5 + 20 = 180

{(150000 - 80000)/ 80000} x
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Ans.52(3)

Ans.53(1)

Ans.54(5)

Ans.55(2)

Ans.56(4)

Ans.57(3)

Fb:-

180 x 3.5 + 30 = 660
660 x 4.5 + 40 = 3010

54 + (93— 1) = 54 + 728 = 782

782 + (83— 1) = 782 + 511 = 1293

1293 + (72— 1) = 1293 + 342 = 1635
1635 + (6% — 1) = 1635 + 215 = 1850
1850 + (5% - 1) = 1850 + 124 = 1974

830 - 122 = 686

686 — 102= 586

586 — 82 = 522

522 - 62 = 486

486 — 42 = 470

@, 496 & WM WR 486 AT R

78 + 15 = 93

93 + 17 = 110

110 + 20 = 130

130 + 24 = 154

154 + 29 = 183

@, 189 & WM WR 183 ST <RI

o + e + AT =3x24 + 3x4 = 84 - ()
AT + QT = 2x 25 = 50 ------- (ii)

(i) 3R (i) ¥,

50 + fg = 84

=> fe = 84 - 50

=> ford = 34 919

T = 15/17 x 34 = 30 A1

TG I & F1G CrHT BT 31 = 30 + 6 = 36 A
| 3R

AT + AT + 8T = 3x 24 + 3x4 = 84 - (i)
A + QT = 2x 25 = 50 ------- (ii)
T s, g SR e &t adaE 39 wERn: 3x I
GﬁTZXW%

3

3x + 2x = 50

=> 5x = 50

=> x = 50/5

=>x=10

Hifer &Y afHE 3mg= 2x = 2 x 10 = 20 A
B: I & TG AIHT BT 3G = 20 + 6 = 26 IY
9o, Had | SR AT A 1 AT 11 gai g

| 3R

[ = 3

=4

dar=3

W%,Feﬁi":n

NP paTBM=3+4+3+n=10+n
4/(10 + n) = 1/3

=>12=10+n

=>n=12-10

=>n=2

Nl P FaTBM =10+ 2 = 12

| 3R

e = 3

=4

e =3

W%,W=n

n/(10 + n) = 1/6

=>6n=10+n

=>6n-n=10

=>5n=10

=>n=10/5

=>n=2

Nl P FaTBM=10+2 = 12

9o, ad | SR AT A 11 AT 11 IaT g
HEATI: 2%+ 11x + 15=0

2%+ 5x + 6x + 15=0

X(x + 5) + 3(2x + 5) = 0

x+3)2x+5 =0

x = -3,-5/2

HTAT 1I: 10y%+ 33y + 20 = 0

10y?+ 25y + 8y + 20 =0

Ans.58(3)

Ans.59(5)

Ans.60(1)

Ans.61(4)

Ans.62(4)

Ans.63(1)
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S5y(Qy + 5) + 42y + 5) =0

Gy + )2y + 5) = 0

y = -4/5, -5/2

3, AHEAT-| < HEA-1I

HEATI: x>~ 4x—-221=0

X2+ 13x—17x-221=0

X(x +13)=17(x+13) =0

x+13)x=-17) =0

x =-13,17

HEAT 1: y>— 34y + 289 = 0

y2— 17y — 17y + 289 = 0

yly-17)=17(y=17) = 0

y-17)y-17)=0

y=17,17

3, AEAT-| < AEA-1I

HTAT I: x°+ 15x + 54 = 0

X2+ 6x+9x +54=0

X(X+6)+9x+6)=0

x+6)x+9 =0

X =-6,-9

AT y? + 22y + 117 =0

Y2+ 13y +9y + 117 =0

yly + 13) + 9y + 13) = 0

(y+13)y+9 =0

y=-13,-9

3, AHEAT-| > HEAT-1I

HTAT 1: 6 IY & S1G IUP GRI A0 ol T3 S A
= 9600 + {9600 x (7 + 8 + 9+ 10 + 11 + 12)}/100
= 9600 + 96 x 57

= 9600 + 5472

=%, 15072

HAETH = 3. 15000

3, AFAT-| > HEAT-II

AT I: = 45%

AT 11 T 3 61 50 T4 = x

3 BT R O] B fah! g = T, 1.32x

g &1 3ifdrd T = 1.32/(0.8 x 0.75) = F. 2.2x
Tehel Pc TR g 1 fashl 7o = 11 x 451 = 3. 4961
3 B R O] B [l g = T, 1.32x

= 4961 + 451 = ¥, 5412

x = 5412/1.32 = 4100

l, axg &1 fafgd 99 = %. 2.2x

=%. 9020

SHAGH Thd ge U=l

= {(9020 - 4961)/9020} x 100 = 45%

3T, HEAT-1 = HEAT-II.

$d B = 720 AT

A R T a1 H fobu 7T raf &bt TWRem = 720730 = 24
TS 71 7 B gRT {0 70 7l o1 313t Bt e

= 720/36 = 20

C R T &7 & fu 70 &raf o1 T2 = 720/48 = 15
TS IHTS P (7T, YT B TS AR = 3600/720 = 3. 5
I, A B YIaH Bt T3 AR 960 IUT T HH T IqP
WR I

@ A gRT fobu U Sl B Sifean T=

= 960/5 = 192

T, A BT 192 IHTZAT B B | HIHTH THY Tl
®=192/24 =8 e

@ A, 8 feT @ H T 3P SRR | BTH HR Jhdl gl
TAT, | 3R 11l IR HYUF Bl TR HA 3 |

TR A F 2 B 3R TH AR &I g1 & bl B
TBAT = *C2x5Ch = 30

g B & 2 GOl SR U AR F T & Wbl B
AT = "Cox¥Cq = 105

U9 & SINR,

*Cax °Cy = 30

5x(x— 1) = 60

5x2-5x-60 =0

x2-x-12=0

x2—4x +3x-12=0

x(x—-4)+3x-4)=0
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Ans.64(3)

Ans.65(4)

Ans.66(1)

Ans.67(5)

Ans.68(1)

Ans.69(3)

Fb:-

x-4x+3)=0
x=4

IR,

"Cox YCy = 105

21y = 105

y=5

3d:, xy =4 x5=20

T s I2h B ad A $Y = k ay

U & AR

(k-=12)x2 = (k + 6)

=>2k-24=k+6

=>2k-k=6+24

=> k=30

=M BT A = 30 WA

TR BT IAHH M= 30 - 6 = 24 T

AT fob 3 iR W1 &) IdHE I HH: 6x 3R 5x
af g

U & AR

(6x + 4)/(5x + 4) = 7/6

=> 36x + 24 = 35x + 28

=> 36x-35x = 28— 24

=>x=4

3T B} aAHM M= 6x = 6 x 4 = 24 T
a1 Bt adHH 3= 24 + 5 = 29 WA

A 3R = 29 - 24 = 5 91A

TS JAILORS H 3 TR 3R 4 HH 814 §

P 1: Aeg H 1 TR 3R 3 oA &

dl 4 31&RI B T & A BT G-

=3C x%C3=3%x4=12

FY II: g H 2 TR 3R 2 o §

dl 4 31&RI B T S A BT G-

=3C x%C=3%x6=18

HY 111: e H 3 WR AR 1 T §

Al 4 31&RI B T S A BT G-
=3Gx*Ci=1%x4=4

Tl B el B! HoHT TSTH Weq b 4 &R T o Feobdl
T=12+18+16=34

1 39 4 31&RT & Xeal P ST Bl Xsal H FART fHar
T HHATE = 4! = 24

Al Pl sal DI HBHT BT 76 fobl = 34 x 24 = 816
A, Seldl gR1 S § SH B 7S AR« &
3, 5632 = x x (1 + 20/100)2 - 1
0.44x = 5632

X = 12800

dl, SEtaT Bt AIRYS 3T = 12800/0.4 = 3. 32000
HiadT Pt ATRIS 3 = 5/4 x 32000

= 3. 40000

HIYdT BT T = 40000 — 17480 = T 22520
AT T Ha A= = 12000 x 3 + 15000 x 6
= 3. 126000

TG &1 FH A = 15000 x 4 + 20000 x 5
=%. 160000

RTRA &1l A = 14000 x 5 + 10000 x 4
= 3. 110000

@, N, TOR SR RyTRA & @Y &7 U

= 126000:160000:110000 = 63:80:55

Al TGR BT AT = {80/(63+80+55)}x 9900

= 80/198 x 9900 = ¥. 4000

M, 2015 H Bl § dSh! 3R dsihal B TS HHT:
4xGﬁT3x@TﬁI

@, 2016 T TSHI Pt /AT = 5x

3R, 2016 H dsfobal o) T-AT = 1.5x

Uy & AR,

7x — 6.5x = 400

0.5x = 400

x = 800

@, 2015 & Piciol H ASP| B G&T= 4x = 3200
3TIgF

= (42 x 25 + 35 x 20 + 67)/(42 + 35 + 2)

= (1050 + 700 + 67)/79

=1817/79 = 23 years

Ans.70(4)  RIME P 3R TIF R P &1 gl= 440 x 2 = 880 fpeit
59¢ B ¢ A GRT AT &1 T Gl = 28 x 5 = 140 fet
59¢ H ¢4 B gRT BT &t T g8 = 32 x 5 = 160 fbdt
3AGH G = 880 — 140 — 160
= 880 - 300
= 580 foeit

Ans.71(2) ¢ & forg g axgell &1 ARTd Hed= 4800 x 2 = ¥.9600
& aegefl 31 fasea g
= 4800 x 120/100 + 4800 x 90/100
= 5760 + 4320
= 10000 = YTFoRER &I AN G
IfFoReR &1 3ifdd T = 10080 x 125/100
= 3T 12600
IMFoRER &1 fdsha T = 12600 x 90/100 = BT 11340
% TTH = (11340 — 9600)/9600 x 100
= 1740/9600 x 100
= 18.125%

Ans.72(2)  Tfe, A DI ORG %, 'x' I dl,

B ! AIRI® 31T = . (64000 — x)
Y & AR,

0.5x + 0.2 x (64000 — x) = 21200
0.5x + 12800 — 0.2x = 21200
0.3x = 8400

x = . 28000

Ans.73(1)  A:B:C I 3BT U
= 35:49:50
AM, A, B 3R C Bt 3Tg HHR: 35x TY, 49x Y 3R 50x
i gl
ZHfAIT, 50x - 49x = 1
x=1
A 3R = 35 a9

Ans.74(3) Tl aReSl H 80% TTHT 3TR 20% &1 SidT &

@, ATl aReel H et & fore urft &1 Srgura
=41

T TR H 25% U 3R 75% TSI &
@, T8 RS & ST & fore gt o7 Srurd
=13

20 [Pl @RI A G,

SUH U B AT = 1/4 x 20 = 5 {6

SYH &I B HEAT = 20 - 5 = 15 b1

3fd, Y@ RYS # YT e & 918, It | ueh B
3UTd 4: 1 8 STl g

Yfoh, Y@ RS & U FdH & 918 qoet ot I 99
gl g A 15 faa

TR RS H U @) A ST & 91 STH Tt
= 4/1 x 15 = 60 fum

TE RS H e H g B A = 5 fhar

T RS B T B AET = 60 - 5 = 55 fBur
e, 1 fpel & RS &1 arTd G x BT

39, UM & W RS & $d Io B olig & aIg
=20 +55=75

20 T3 G TR B HIAd = 20x

(75% T 80%) fh el TRaST B! faeh! T = %. 60x
@, A1y fA=IT = (60x - 20x) / 20x x 100 = 200%

Ans.(75-79):

TR R T A g | S T ST a | qeata e aaet
I BT IO o wan v

ﬁﬂ?ﬁ 138 x 13 =3.1794 257 x 16 = 3. 4112 86 x 18 = 3. 1548

iﬁ? 149 x 13 =%, 1937 298 x 16 = 2. 4768 64 x 18 =3, 1152

dud 121 x 13 =%. 1573 261 x 16 = 9. 4176 93 x 18 =%, 1674

Q%QT 208 x 13 =%. 2704 345 x 16 = ¥. 5520 177 x 18 = %.3186

Tagat 159 x 13 =%, 2067 244 x 16 = %. 3904 128 x 18 =%, 2304

Ans.75(1)  fdas gr1aH RRe s ¥ I Iea
= 1794 + 4112 + 1548 = T, 7454
dues gRT It RARe S 9 I Iora
= 1573 + 4176 + 1674 = 3. 7423
3(IRYD 3R = 7454 — 7423 = F. 31

Ans.76(5)  3MTa=gd IO = 5520: 3186 = 920:531

Ans.77(1)  3TAASH URARIT = (2067/4768) x 100 ~ 43.35%
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Ans.78(4)

Ans.79(3)

Ans.80(1)

Ans.81(4)

Ans.82(4)

Ans.83(1)

Ans.84(4)

Ans.85(3)

Ans.86 (2)

Ans.87(2)

Ans.88(4)

Fb:-

Y RT3t 1S goob! RARe 3R 31fm RRe &t T

= 1.25 x (244 + 128) = 465

dl, Ya gRT I 718 RTRE B TJAT = 465 + 142 = 607

1t Ui gHFERI GRI TS 1Y §eb! RARE 994 ¥ I

oG

= (138 + 149 + 121 + 208 + 159) x 13 = %. 10075

qoft 3T 7TU Ui gHMERI gRT U A1y 313 RERe S=m

BESCERISES]

= (86 + 64 + 93 + 177 + 128) x 18 = 3. 9864

sgamam:mws—%m:azn

1 4:

3fora, Ry 3R R 3 o Surd 5:3:7 ® faw faam

TP 91 a6, R 7 oot UM Fawr i &t SR

ﬁgmw

I1Y:

& UId 91E, 3 7 o YRS 3 A Bt g

ﬁﬁ;TWI

e

%&rﬁ%eﬁaﬁ,a-—eﬁﬁz,mooomﬁmﬁwuaﬂa
|

1 1SR I

T 1%, sror, Ry iR Rar &1 faw e sk ¥, 3k

IU 3R 7k T &

T BT ST

3oy famr R =

= 20k: 15k : 21k

= 20:15:21

Ay H Ry &1 iR/ = 15/(20 + 15 + 21) x 224000

= 15/56 x 224000 = ¥.60000

gaferg, w1, 11 SR 11 vaf B

General Awareness

AT SRR HU fAfHES (NICL) Y RATTAT 1906 T g5
ft IR TUHT GBIAT Hladsal & o7 I8 YRd § Fad
R Ao i BU 2|
TROH AR Uie fieiRe o RUd 81 3gsidt fAoiRe ot
Y B
IRDAI ST 1999 BT YRT 4 UIRHRUN BT TSI Bl
fAfdy a8 | 78 a8 gawia e 8, SreH HRd WBR
R Figad U sreag, Ui quieifis ofR IR SiRmbIfers
RERIESE!
it S, v, IR ara e csage) w5 A FE
% PR A 75 foeeht # v 99RIE d $Uvor 4 Ao &
o O SiftaT & A1end § 44 BRI AN 6l S BT
eI @ B
IR i, Afgerstl, 8k S ey HAeg &1 e
TG SRS B, o a=dl, fHeR), Tad), Afgerst ok
Wgﬂﬁﬁ%ﬁ%%qmwuﬁwﬁﬁgw
IRATB
STA 3R WG Al & HATE 3 Ve W TR Iqg
(CHEES) IAG! & fIuuH & e te s ofiR Ay g
e di= forar 31 e THTEsh SdTal S AwiE
TIM & U HArey A Afgen I=IfGdaxt & SMUR W
TN 3R fFausTd S $-31ad Uidal & I JHgiar
M0 TR gEeR o §
2010 B YRd WHR 7 RBI & WA & TH T
SePIfeId IUBRUN U foall, foR Cash Management
Bills (CMBs) % =T H ST Il €, dlfds HRd IRBR P
DS UaTE B SR 90T B QX1 fopan o wh | uwatt
-foet &1 AR 9 8 Afde 91 3T & w ot aRuesan
¥ oy o o o 21
SRS e, ford fary =amarera +f @t S B, waed
wg(UN ) T U A 31T 31 SslS! &1 urufies wrf
R GRT TG SfARRTPI HIEA fAare] 1 Foert Hem
IR HgE Y R 9P fag Haffd Sl gel )
Wwﬁ%wmtﬁw@ﬁmﬁ%mmﬁug
%$@a$wﬁfﬂﬁmél T
TR

(5k x 2 + 10k) : 3k + 6k x 2) : (7Tk x 3)

S H AT
YRd &1 Ugdl 39 BRI a9 T8 R v ama &
R o T B | Ra & G, fOARTS faers dra

Ans.89(1)

Ans.90(4)

Ans.91(3)

Ans.92(4)

Ans.93(4)

Ans.94(4)

Ans.95(2)

Ans.96(1)

Ans.97(4)

Ans.98(2)

Ans.99(3)

Ans.100(3)
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I Gford AIgeRS I H oy gferd faum &1 'S BRRid
TANTRITET &1 IGHTe $R 3¢ 3| ZaRel dxd e
fAYTT T U Teb11ep! STHU 3R b Fg 31
IRAPIRH -

uﬁﬁm o
N}
Tt RS fasrem
TORET UHeH 8 7 UR Ty g w Wiy (@ise 3t
) W S ST JIoT BT OB IRA & T Rl
TR A3 ARG & 1Y MR &1 81 I8 5 dRd db
DI g g 77 oA 3, e 3T URa & &1
T SR SFRyedS Yue 31
21 AT, 2019 I, S YT ST ATRYS Uit AT
A Sifie S 31 fay &1 9498 S T o 31 e
3fd T G BT THAR §F ¢ fore i afyes w9y d
RER YeH fFT &1 Tgd T 3R 2018 & Talad
BT o1 "oy T TdIm I+ 3R TdaR 2018 & JaR &7
'Y 316 g TR - T Sl
Microsoft 3 ‘BlueTalon’ T H@"JIEUT ﬁ')_CIT, S BT
Togar 3R T JaT 81 BlueTalon Y™ Wi 100
HUEl & T B BT g1 Tg STA! Bl Aol Y I
aﬂﬁg%a‘gm%ﬁ?masﬁarﬁméawﬁ

|

m:r 1R UaTel & St Bt 100 Td9S fad=h et
&\ G & Y fobar T B 1 U8 el § =nfid g arelt
HRA &I THAT e g1 T8 Jwild ¥ gRT FoRid 3R
1955 H fciiot g3 ot | TTeR gfemelt T & 15 F M W &1
@?ﬁmmﬁﬁm"mqmé"m

e NowesRM HuEl a1 TR te e g
éﬁ%wmmm@ﬂaﬁ%aﬁﬁﬁﬁm
oI e (TN B geTe) B It 6 H Heg Bl o
Te<t ot HRd H STkl Ued 4 (3fsHH iR AdieR)
& Farht §) Ut SNt faqw 81 & IR W R 2011
) ST BT A A 50 R &
ST UBRHT GRT TSR "0y & Ja9 78H RAFA" &1
gaﬁm%ajﬁﬁ ToRTd & R 3T gt ok gs &
TR B3 ®1 Hd 100 VI & 1Y fafd frar mn g1
el Wfese Yoa gransii & ufd SMHR ed o34 & e
giwmﬁaﬂuﬁaﬁmagaﬁmw%l
3% Taderan feaw 2023 &1 AR T 4iF B i 1%, g
ETSHT, YR ASH, VAR 3" |
gferer -
3% TRy WIS (WHO) 7 MBS IR TR 2004 H fay
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Ans.101(2)

Ans.102(4)

Ans.103(2)
Ans.104(3)

Ans.105(2)

Ans.106(2)

Ans.107(4)

Ans.108(1)
Ans.109(3)

Ans.110(3)

Ans.111(3)

Ans.112(3)
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Ans.113(1)

Ans.114(2)

Ans.115(1)

Ans.116(4)

Ans.117(2)

Ans.118(5)

Ans.119(1)
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Ans.120(4)

Ans.121(4)

Ans.122(5)

Ans.123(2)
Ans.124(3)
Ans.125(3)

Ans.126(3)

Ans.127(2)

Ans.128(2)

Ans.129(2)

Ans.130(3)

Ans.131(1)
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Ans.132(3)

Ans.133(4)
Ans.134(5)

Ans.135(2)

Ans.136(4)

Ans.137(2)

Ans.138(4)

Ans.139(4)

Ans.140(2)

Ans.141(2)

Ans.142(5)

Ans.143(2)

Ans.144(4)
Ans.145(2)

Ans.146(1)

Ans.147(2)

Ans.148(1)

Ans.149(1)

Ans.150(4)
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Ans.151(3)

Ans.152(1)

Ans.153(1)
Ans.154(1)

Ans.155(2)

Ans.156(4)

Ans.157(3)

Ans.158(1)

Ans.159(4)

Ans.160(4)

Ans.161(2)

Ans.162(3)

Ans.163(4)

Ans.164(2)

Ans.165(5)

Ans.166(2)

Ans.167(2)
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In B, replace the base form verb ARGUE with
ARGUED as the present perfect tense
construction HAVE + VERB will take the past
participle form of the verb.

In C, replace the base form verb PRODUCE with
PRODUCED as the passive voice construction
IS + VERB will take the past participle form of
the verb.

In D, replace the adverb POTENTIALLY with the
adjective POTENTIAL as it is being used to
modify the noun PRESSURE.

In B, replace the singular verb OFFERS with the
plural OFFER as the subject DECISIONS is
plural.

The sentence is grammatically and meaningfully
correct, which makes (5) the right answer.

The sentence talks about how air conditioning
represents a huge portion of electricity
consumption. Both 1 and 2 can replace the
highlighted phrase and convey the requisite
meaning.

3 is incorrect as IN LARGE PART means to a
great extent, which would not render meaning in
the context.

We need a phrase here that begins with a verb
in the singular form. The sentence tells us how
widening internet access has made collaboration
realistic. Only 1 can replace the phrase and
convey the requisite meaning.

2 and 3 are incorrect as neither of them can be
followed by the adjective clause MORE

Ans.168(4)

REALISTIC. The highlighted phrase is incorrect
as it uses the plural verb HAVE in place of the
singular HAS when the subject is referring to a
single activity.

The sentence seeks to convey that several
countries have used incentives to manage the
demographic and economic challenges of an
aging population. We need a verb in the base
form to fit in the infinitive construction
TO+VERB. We need to replace COPING with
COPE. Thus, 1 is correct. TO DEAL WITH
something means to take action in order to
achieve something or in order to solve a
problem. It can fit contextually. TO CARRY ON
means to continue an activity or task. It cannot fit
contextually.

Ans.(169-173) ABEDCGEF is the correct sequence. A begins

Ans.169(1)
Ans.170(4)
Ans.171(4)
Ans.172(2)
Ans.173(5)
Ans.174(2)

Ans.175(4)
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the passage by establishing the subject-
innovations throughout history and their impact
on our lives. B follows A. It cites the example of
telephone. E follows B. It talks about how the
adoption of telephone increased gradually over
the span of 60 years. D is the fourth statement-
It talks about the introduction of assembly line in
car manufacturing and how the increase in
affordability led to an increase in the ownership
of cars. C follows D. It talks about air travel,
which became popular after the second world
war. G follows C. It talks about innovations in
recent times and how they do not take much
time to have an impact. F ends the passage. It
begins with the conjunction HOWEVER, which is
used to link contrasting statements. F talks
about the decreasing lifespan of the recent
innovations.

Americans spend hours on commuting to and
from work every day. Hence, the boredom of
such long commutes can be negated with
entertainment from podcasts. Refer to the
passage — "..maybe it's just how much time
people need to Kkill listening to something.
Americans spend more than three hours a day
commuting, working out and doing household
chores that can be accompanied by audio
entertainment..."

A is incorrect because the passage does not
claim that loneliness has boosted the preference
for podcasts.

C is incorrect because the question does not ask
about those who lead a hectic life because of
household chores.

D is incorrect because the passage does not
mention this.

E is incorrect because this is not unique to
working Americans but may apply to any
listener.

ESOTERIC means something that is understood
by a small or specific group of people with a
certain interest. In the passage, ESOTERIC
has been used to refer to Mars' podcasts which
had a theme of design and was thus, considered
to be a show appealing to a small group of
people. ARCANE also means something that is
understood by few. Hence, D is the correct
answer.

Obtuse - annoyingly slow to understand,
Chronic — persistent, Vain — extremely proud,
Fabricated — untrue.
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Ans.176(1)

Ans.177(3)

Ans.178(5)

Ans.179(2)

Fb:-

A, B, C and E are unrelated words.

(1) is the correct answer because paragraph 3 of
the passage tells us that while television ads can
be easily and are more readily skipped,
advertisements during podcasts tend to have a
greater impact, probably because they are
voiced by the host of the show. Refer to the
passage — "At a time when people can easily
skip TV ads, messages from sponsors on
podcasts have a way of sinking in, especially
when they’re read by the hosts of the show
themselves, analysts say."

B is incorrect because even though the
familiarity of the host who voices the ads on
podcasts affects the impact upon the reader, the
passage does not claim that ads during
podcasts are necessarily shorter than those
during television shows.

C is incorrect because the passage does not
make any such claims.

D is incorrect because podcasting is no longer a
hobbyist activity, it was so five years ago.

(3) is the correct answer because paragraph 3 of
the passage tells us that with smartphones and
Bluetooth-enabled cars, consumers no longer
need to go through the trouble of downloading
shows from iTunes on a computer and sync that
to their iPods, thereby increasing the popularity
of podcasts. Refer to the passage -
“Smartphones and Bluetooth-enabled cars have
made it easy for listeners to load up their
favorite programmes. Instead of downloading
them from iTunes on to a computer and syncing
with an iPod, listeners can grab shows straight
on to their smartphones.”

A is incorrect because the passage makes no
such claim.

B is incorrect because even though the passage
tells us that the NPR is losing popularity as
compared to podcasts, it does not claim it is
becoming obscure and that has caused the hype
around podcasts.

E is incorrect because no such details have
been mentioned in the passage.

WRITING IS ON THE WALL means that there is
some imminent danger or that something
unpleasant will occur soon. This has been said
with regard to NPR, because the final paragraph
of the passage quotes Mars on how he is a fan
of the NPR but now that he can reach his
listeners much more directly through podcasts,
the fate of NPR is faced with approaching
danger. Refer to the passage — "He said: “They
have a great reach and I'm a huge fan of NPR,
but right now, if I'm able to reach my audience
directly through podcasts, the writing is on the
wall"."

A is incorrect because the phrase would not be
applicable if only the constantly rising popularity
of podcasts was being referred to.

B is incorrect because though it talks about the
fate of the NPR with regard to that of podcasts,
the statement has not explained why exactly the
phrase has been used.

C is incorrect because this has been stated as a
fact but it has nothing to do with the phrase
used.

D is incorrect because the opposite has been
stated in the passage.

(2) is the correct answer because the passage
begins with how podcasts initially failed to gain
popularity but builds up to how they have now
become extremely popular. Various reasons

Ans.180(3)

Ans.181(1)

Ans.182(2)

Ans.183(5)

Ans.184(3)
Ans.185(2)
Ans.186(2)
Ans.187(3)

Ans.188(2)
Ans.189(4)
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have been stated throughout the passage and
how podcasts have become popular with
listeners, producers, advertisers, etc.

A is incorrect because while there has been a
comparison between podcasts when they were
started and podcasts now, it is not the central
issue in the passage.

C is incorrect because this takes up a minor part
of the passage and has been stated more as an
example than the main topic of discussion.

D is incorrect because the role of listeners with
regard to producers making money from
podcasts has not been elaborated upon in the
passage.

Both A and B state correct statements. The
passage tells us that the duration of 99%
invisible was under 5 minutes, short enough to
be aired between NPR shows, so Mars' show
was almost invisible. The passage also states
that Mars could not use any studio for it or had
no employees or helping hands, he aired it from
his own bedroom and wrote, narrated and
produced it himself.  This rendered it virtual
invisibility.

D is incorrect because it is untrue, when the
show was started podcasts had not become as
popular and were in fact, considered clunky and
nonprofitable.

E is incorrect because the show has not been
named 99% Invisible after it gained a spot on
the list of top 20 podcasts. It had been named
so when podcasts were almost invisible, so the
name is appropriate.
BOON means a thing

that is helpful or

beneficial. BLESSING and PRIVILEGE are
synonyms, while CURSE and BANE are
antonyms.

LUSH means (of vegetation, especially grass)
growing luxuriantly. PREDICAMENT means a
difficult, unpleasant, or embarrassing situation.
LUMINOUS means giving off light; bright or
shining. PLIGHT means a dangerous, difficult,
or otherwise unfortunate situation.
ILLUSTRIOUS means well known, respected,
and admired for past achievements. EMINENT
and ACCLAIMED are synonyms, while
UNKNOWN and OBSCURE are antonyms.
PROFUSE means (especially of something
offered or discharged) very plentiful; abundant.
SCARCE means (especially of food, money, or
some other resource) insufficient for the
demand.

PRODIGAL means spending money or using
resources freely and recklessly; wastefully
extravagant. THRIFTY means using money and
other resources carefully and not wastefully.
GENERIC means characteristic of or relating to
a class or group of things; not specific.
GENERAL and COMMON are synonyms, while
PARTICULAR and SPECIFIC are antonyms.
EXACT means not approximated in any way.
ERRATIC means not even or regular in pattern
or movement.

PRECISE means marked by exactness and
accuracy of expression or detail. ERRONEOUS
means wrong; incorrect.

Complexion- General aspect of something
Favoured — Made it favourite

Thereby is correct usage here.

Equivocation — Use of ambiguous language to
hide truth

To is correct usage here.

Employs —working above someone
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Ans.190(1)
Ans.191(4)
Ans.192(3)
Ans.193(1)
Ans.194(4)

Ans.195(5)

Ans.196(3)

Ans.197(1)

Fb:-

Miniature — small models

Setback — defeat

Eventually — At last

Tampering — Spoiling something

Because the passage tells us that he cared
about the safety of his troop, which is evidenced
by the fact that he warned the author about the
kind of dangers he might encounter and what to
do in such situations. Hence, D is the correct
answer.

A is incorrect because the commander did
establish his authority in the way he called his
troops, but he also displayed friendliness and
some sense of humour to ease the
apprehension of his troop member.

B is incorrect because experience as a ranger
does not necessarily mean he is a good leader.
C is incorrect because the reasons behind his
election have not been provided and we have
not been told about the method of election
either.

E is incorrect because the passage does not
make any such claims.

Because both A and D represent true
statements. Paragraph 3 of the passage tells us
that since the 1940s, these rangers have served
as protectors and scouts of the region. Also, the
fact that their tradition of scouting, hunting and
serving as native protectors has been carried
down through generations and still continues to
be carried forward since the rangers are training
more troops. Thus, the passage tells us both
about the history of and the political climate in
which the rangers have survived.

B is incorrect because the passage talks about
how the rangers train troops, partake in pre-war
games and how they protect the land but does
not mention warfare.

D is incorrect because it states the opposite, the
rangers have been victims not perpetrators of
government negligence and corruption since we
are told that they and their efforts are still largely
unknown, they use decades-old equipment and
that they have been made questionable
promises to.

Because even though the weather is freezing
and gray, the mood is lightened by the
commander’s friendly nature and jokes about
the possible dangers.

A is incorrect because the passage does not
only talk about these grim tasks but also about
other aspects such as the commander’s actions,
personality, the role of the rangers as guardians,
etc., which are not entirely consistent with the
gray and frigid weather.

B is incorrect because even though the passage
talks about rangers who live in amid constant
danger, there is some humour to lighten the
mood which is inconsistent with the gray and
frigid weather.

D is incorrect because there is no instance of a
lively personal comment from the author
herself/himself.

UNTAPPED means yet to be explored. In the
passage, UNTAPPED has been used to
describe the large parts of the Arctic which are
yet to be traversed and inspected by agents of
the government which is why they are
reappraising the rangers. EXPLOITED means
explored and taken advantage of, in this case of
the resources which the Arctic has to offer. It is
opposite in meaning to UNTAPPED.

Ans.198(3)

Ans.199(2)

Ans.200(2)
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Concealed — hidden, Endangered — threatened,
Marooned — deserted, Imprudent — foolish.

D is similar in meaning, B, C and E are unrelated
words.

Because paragraph 2 of the passage tells us
that it was too cold for the author to physically
note down all that the commander was saying,
but mentally the author took notes by reading
into the scars he could see on the faces of his
fellow troop members, scars which told stories of
survival. Refer to the passage — “It was too cold
to take notes, so | watched faces and read the
frosthite scars, little badges of honor that told of
lives spent outdoors on one of the planet’'s most
unyielding landscapes.”

A is incorrect because the author does not
depend on facial expression or body language to
take notes.

B is incorrect because nothing of the sort is
mentioned.

D is incorrect because the author observes how
the members of the troop protect themselves
from the cold, but does not take notes from this
observation.

E is incorrect because while the author tells us
about the equipment and training methods of the
rangers, he himself does not take notes from
these.

Because paragraph 3 of the passage tells us
that just like most people do not know much
about the far north, most people do not know
much about these rangers either. Moreover, the
neglect they face using age-old rifles and
surviving on-the bare minimum shows that they
are still obscure. Refer to the passage — “Their
role, like the far north itself, isn’t well-known, and
the rangers have always managed to keep going
on shoestring budgets and hand-me-down
equipment, including government-issued bolt-
action rifles made in the 1940s and stamped
with the British crown.”

A is incorrect because this does not necessarily
make the rangers obscure, a backup team might
also be in prominence.

C is incorrect because this explains why the far
north is still obscure, not why the rangers are
obscure.

D is incorrect because only B is the correct
answer.

E is the correct answer because the passage
does not make any such claims.

Because paragraph 3 of the passage tells us
about the several roles that the Canadian
rangers play, including how they train the regular
troops in survival skills — they teach them
navigation, how to build igloos and how to battle
the cold in general. Refer to the passage -
“Most rangers in the far north are indigenous
volunteers, and over the years they've acted as
scouts, participated in war games, and helped
regular troops learn to build igloos, navigate the
tundra, and generally stay alive in the cold.”

A is incorrect because hunting, ice fishing and
scouting have been mentioned as the activities
of the rangers, not what they teach regular
troops as survival skills.

C is incorrect because the author mentions how
the troops keep warm by wearing certain kinds
of clothes, but this has not been mentioned as
something taught by them as survival tactics.

D is incorrect because usage of the outdated
weaponry has not been mentioned as something
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taught by them as survival tactics, but only as
something they use the guard the region.
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